NAIR Assistant Personnel Officer APO

Topic:- APO_PA_NAIRAUG4

1) In case, a Railway servant, in the performance of his official duties, act in a
discourteous manner, in his official dealings with the public or otherwise adopt
dilatory tactics or willfully cause delays in disposal of the wark assigned fo
him/her, then he/she violates which Rule of the Railway Services (Conduct)
Rules, 19667
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[Question ID = 10990][Question Description = Q01_APO_PA_NAIRAUG4]
Rule 3A.

" fmmam

[Option ID = 13957]
5 Rule 3B
" EmaEl

[Option ID = 13958]
3 Rule 3C.
R et

[Option ID = 13959]

4. None ofthe given op_tﬁuns is correct.
feu e fasedl & 6 ®ig Hi wgl 7ol gl
[Option ID = 13960]

Correct Answer :-
Rule 3A.
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[Option ID = 13957]



2) Rules of the Railway Services (Conduct) Rules, 1966 and its Explanations are
given below:

Yoa dar (3mvon) fam, 1966 F Fam AR el e AR i T

Rule Nos.: Fraadamn:
()  Rule7. (i) Rule8, (iijRule13-A (iv)Rule 17
(i) a7 iy Fgme: i) FEg 13T v) FEE T

Explanations: ?CI@WW

{a) Mo Railway servant shall — (i) give or take or abet the giving or taking of dowry,
or (il) demand directly or indirectly, from the parents or guardian of a bride or
bridegroom, as the case may be. any dowry.
Big 140 SHARI - (i) Goo ol &N, = o, A & o (e Jikd S 41 (ji) geg= a1
EEe o HIA-a I7 iy o, ST Ui 5iEe 81, U 91 e U Y G Bl
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(B) & Railway servant shall so manage his private affairs as to avoid habitual
indebtedness or insolvency 4 railway servant againsi whom any legal
proceeding 15 instituted for the recovery of any debt due from him or for

adjudging him as an insolvent shall forthwith report the full facts of the legal
proceeding to the Government.
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{c) Mo railway servant shall engage himself or participate in any demonstration
which is prejudicial ta the interests of the sovereignty and integrity of India, the
security of the State, fnendly relations with foreign states, public order, decency
‘or morality, or which involves contempt of court, defamation or incitement to an
offence.

iy U Y& wran e OO vegs § wifte 8T oA uiT A5 o o YR @Y
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{d) No Railway servant shall, except with the previous sanction of the Government,
own wholly or in part, or conduct or participate in the editing or management of,
any newspaper or other periodical publication or electronic media

D13 i te HHEN, TR & 04 Wigid & 49, e SaER U= 91 24 {afte
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Find the CORRECT match fromthe given below Options.
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[Question ID = 10991][Question Description = Q02_APO_PA_NAIRAUG4]
T (i) (e, (iiy: (d); (i) (@) (iv): (b)

[Option ID = 13961]

2o (i) (d); (ii): (a); (i (B) (iv): (c)
[Option ID = 13962]

3. (i) (d); (iiy: (bY; (i): (e) (v): (a)

[Option ID = 13963]
Mone of the given options s correct

feu T fadedl H ¥ &is i 9el A1 5
[Option ID = 13964]
Correct Answer :-
® (i) (o). (i) (d); (iii): (@) (iv) (b)

[Option ID = 13961]



3)  Which of the following Rule prohibits a Railway servant from bringing or atternpt to
bring any political or other influence to bear upon any superior authority to further
his interests in respect of matters pertaining to his service under the Government?

TefEad @ o o fom 52 tod 90 o 9R & o+ u- a1 9eith
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[Question ID = 10992][Question Description = Q03_APO_PA_NAIRAUG4]

1. Rule21
HaE 21

[Option ID = 13965]

2. Rule 20
g 20

[Option ID = 13966]
3. Rule22
fam 22
[Option ID = 13967]
Mone of the given options is correct.

R Aee g9 & i od 94T
[Option ID = 13968]

Correct Answer :-

o Rule20
a0

[Option ID = 13966]
4) As per Rule 402 of IREC Vol.l, a2 Rallway servant, who is.dismissed, removed or

compulsorily retired from Railway service, can be re-employed by an authority
vested withy powers as indicated below.

IREC, TUS-| & o 402 & @R, el 1o ward 1, 5@ 3@ 391 @ suim,
e ] Hiardd: Haia o g T g, A g2l e Yiaoal Y ga wihen g
ﬂ?ﬁﬁﬁ]ﬁmww%l

In cases where appeal was preferred but not disposed-off, the authority next
higher than the authority, who had dismissed, removed or compulsaorily retired
a Railway servant from services.

OO gal | gl odie @ e 4 TG Sud FUeRI 751 g3 Y1, 981 94U WiteR
Y 2F IR WS @), oRE e Sdgd @ 94 ¥ 9, god o
e Qar-g fovar 4T, FHge foar smem|

Il In cases where no appeal was preferred or no review was done, the authority

next higher than the-authority, who had dismissed, removed or compulsorily
retired a Railway servant from services.

U gal d w5l By idic 18] @1 TS 91 91 His SHIa ol &1 T8 Jl, 39 wiker
Y 3l SR wider, g el e sUu @ dE ¥ SO, ger
Hfard = 5 varHg e o

I In cases where an appeal was preferred or review was done and the action
of dismissal, removal or compulsery refirement from service was upheld on

appeal / review by an authority other than the Railway Board, the authority
higher than the appellate / reviewing authority as the case may be.

U gral § gt diel &1 7Tg 21 a1 gl &1 e o 3R HaT | SERa, geH a1
e Tar-gia ] SR ®f twd ais & Al [l 3 Waenl gRT 3/
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Which of the above mentioned conditions is/are CORRECT?
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[Question ID = 10993][Question Description = Q04_APO_PA_NAIRAUG4]
| only
1. i

Haq |

[Option ID = 13969]
I & Il only.
Had Il Tg il



[Option ID = 13970]
11 &Il only.
Sad |, I T

[Option ID = 13971]
Mone of the given options is correct.

fer e et g =i i o 38181
[Option ID = 13972]

Correct Answer :-

11 & 11l anly.
Had TG

[Option ID = 13970]

An addition of the nature of pay, to the emoluments of a post or of a Railway
servant, granted in consideration of —(a) the specially arduous nature of duties;
or (b) a specific addition to the work or responsibility and includes non-practicing

allowance granted to doctors in lieu of private practice. is calledas.. ... 7
farell U a1 Yord HER) % 909 o 30 & ¥ gig, o & (&) el 1 fagm
U Y Sfe ot @ (@) o O fored o 2 % BRI A Wl 8 AR EE
ﬁﬁﬁﬁ%ﬂ%'ﬂ@ﬁﬂﬁﬁmmﬁwﬁ! T v off = 3 S
____________ EREIGIR:

[Question ID = 10994][Question Description = Q05_APO_PA_NAIRAUG4]
1. Special Pay.

[EEICEGRES

[Option ID = 13973]
2. Presumptive Pay

Udeda aa.

[Option ID = 13974]
Personal Pay.

T do.

[Option ID = 13975]
4 Mone of the given options is correct.

" feu e fewidE S HiTg i
[Option ID = 13976]

Correct Answer :-
o Special Pay.
[CEIEREH

[Option ID = 13973]



6) \Which of the following is/fare CORRECT about the Rule 14 {i) of the Railway
Servants (Discipline & Appeal) Rules, 1968
7 Uad ( Td adie) (99, 1968 & MO 14 () P AR H FEAEa O &
¥ U gl o/a
|. A Railway Servant, who has been convicted on a criminal charge by the Court
af Law, can be dismissed | removed from service without conducting an Inguiry
and without issuing a show cause notice.

fop il 30 HEgRI &1, [o ATarer gRI fhd! Suaie g | il Sl T,
ToT o {1 fo1 @y aarsi ifes o 35T 9aT © aaiigerdl o Sl
gl

Il A Railway Servant, who has been eonvicted on a eriminal charge by the Court
of Law, can be dismissed / removed from service without conducting an [nguiry,
but only after issuing a show cause notice.

fepel] ¥o1 sefardl &, Tore <avarerd gy fobedl SmuRifties SiRiy o gret 35T T &1,
fo1 wia e, had e gare Aifes 9l 5 & 916 31 $a1 S Suiw/ged |
BELIE]

Il A Railway Servant, who has been convicted on a cniminal charge by the Court
ulaf Law, can be dismissed / removed from service only after conducting an
nguiry.

e 3 pdaf o, fom T e e amRifte aRiu g el s g,
el 1Y o F1a ol Yol Y S /geI ol e 3
V. A Railway Servant, who has been convicted on a criminal charge by the Court

of Law, can be dismissed / removed from service with the approval of the
President only.

el @ wre &1, o T g e amoeie Ry F el ssem T E,
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[Question ID = 10995][Question Description = Q06_APO_PA_NAIRAUG4]
Option-l only is correct

Fad fasmed-l T |

1.

[Option ID = 13977]
Option-il only is correct

' Had faPe- FE

[Option ID = 13978]

3. Option-lll & |V are only is correct:

&g el AR IV TSI §l

[Option ID = 13979]
None ofthe given options is correct,

fau T fawel 4 w1 Y gl 7818

[Option ID = 13980]

2

4.

Correct Answer :-

Option-il only is correct.

&g [dPhed- Hel 8 |

[Option ID = 13978]



7) Which of the following isfare CORRECT about Rule 301 of IREC, Vol.I7
IREC, Vol| & o9 301 & aR d Feiaaa H 9 & 978 Y9 98 o/a?

| In case of Temporary Railway servants, such notice s not reguired in cases of
dismissal or removal as a disciplinary measure after compliance with the
provisions of clause (2) of Aricle 311 of the Constitution and

compulsory retirernent due to mental or physical incapacity

Tl Yo wHEET o AHa ¥, Wi & owe 311 39S (2) & Wl &

O & 9 &aﬁmﬂwaﬁmaiwna@Wﬂmsmwmﬁmm

zr_ggﬁ S{&Ha & BRI AFar HaTHaT & dHal § U GEd ) fagadma
|

I The service of any of the Railway servants, who is entitled to a notice of
stipulated period, may be terminated forthwith, on payment of a sum equivalent
to the amount of his pay plus allowances for the stipulaied period of notice, at
the same rates at which, he was drawing them immediately before the
termination of his service.

Tt off Yo ol @1 o &t Fuifa sl & Aifta & e soen 3. = FuiRy

Aifew 2af o o 36 o quT Rl % SR AR B YA S W), S a
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Ill. The service of any of the Railway servants, who 15 entitled fo a notice of
stipulated penod, may be terminated forthwith, on payment of a sum equivalent
to double the rate of his pay plus allowances for the stipulated period of notice,
he was drawing them immediately before’the termination of his service.

Terdl Wi Y SHERI®! Ydl, Sl (uiika 2afd & TiicH & o gPar §, 39! ¥al
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[Question ID = 10996][Question Description = Q07_APO_PA_NAIRAUG4]
Options | & Il are only correct.

Fad Gmdd | AR TSI 81

[Option ID = 13981]
Options | & |l are only correct.

1.

2.
had [dHed| AW 1 TEI 51
[Option ID = 13982]
3 Options |1 & |ll are only correct.
| ad faded || 2T I HEIE]
[Option ID = 13983]
4 None ofthe given options is correct

e el d Y i i wd 78T 8|
[Option ID = 13984]

Correct Answer :-

Options | & || are only correct.

wad e | X | Fgi gl

[Option ID = 13982]

8) Whe has got the powers to accord sanction to condone the absence of the Rallway
employees, who had participated in an illegal strike?

33y Foam H 9T o Tl od sHaial ot ol ®! o B o1 ded g @l
ek febrch ORI 37

[Question ID = 10997][Question Description = Q08_APO_PA_NAIRAUG4]
1. The General Manager.

HEHEYE:

[Option ID = 13985]

The Railway Board.
[GEEISH

2.

[Option ID = 13986]



The President

awafd

[Option ID = 13987]
MNone ofthe given options is correct.

4 frome fiewid B el T

[Option ID = 13988]

Correct Answer :-

. The President

[Option ID = 13987]

Which ofthe following isfare CORREC T about the Commuted Leave?

uRafid s & I8 H Hef@a 9 s A U Te oG ?

|.  Commuted leave not exceeding half the amount of leave on half-average pay
due may be granted on medical cerificate to a Railway servant

Yord prEr o Rl UALTE & AUR W, 37 A9 N 36T W S Bl
i T it uftafd seem vem e o s gsar g

Il.  When commuted leave is granted, twice the amount of such leave shall be
debited against the leave on half-average pay due.

o9 uRafid Eem 301 I 3. @ U @@ & Gl I oF -
T 507 TR 3EE & HIE T A |

. Commuted leave may be granted at the request of the Railway servant even
when leave on average pay is due to him.

e YR & IFRIY TR URafid IaETe Wi gl o 9Bal g, YS9
Ed ao 9% aHE e gl

V. Commuted leave can be availed for a maximum period of 5 years during the
entire period of service.

YyuiHay it s G Aiteas 599 P s@ly & fau giafia ses e ey
REIRIESIRE G )

[Question ID = 10998][Question Description = Q09_APO_PA_NAIRAUG4]
All the options are correct.

e Tl E

1.

[Option ID = 13989]
Options |, 1l & IV are only correct.

2 Had [ased |, 1 Tg IV Toial

[Option ID = 13990]
Options |, Il & Il are only correct.

3. ;
$ad fdeed |, || gd 11l TEl T
[Option ID = 13991]
4 Mone of the given options is correct.

" fere Sewi g a e TR T8 gl
[Option ID = 13992]

Correct Answer :-

Options |, Il & lIl are only carrect.

Bad [a@dd |, |l gd 11 9Bl E

[Option ID = 13991]



10)  which of the following is’are CORRECT about Rule 1336 (F.R.48-A) — Patent for
Inventions of IREC, Vol. II?
g8 1236 (TH. 3R 48-0) - SRS & PR & fau dce, @3 Il FaR |
FelaEead ¥ &= 9/ uel o/a7

I. A Rallway servant shall not apply for or obtain, or cause or permit any other
person to apply for or obtain, a patent for an invention made by such Railway
servart, which is connected directly or indirectly with his official duties, save
with the permission of the President.

BT ¥ HHA, TaR B AAER & 5, o gR fee e fead anfaew &
ferg, ol ey 97 s S Y 99D UG ool ¥ el 51 ude & o 2mdad
ol S A1 T U g SO, U1 [ o Eiad $1 AEed S O U
I EfTE &

II. Permission shall be ‘granted to the Railway servant without any restriction, if
the invention has no connection with the Railway servant’s official duties and
has not resulted from facilities provided at Government expense.

Yo wrie & e e ey & ol vam w1 e, o e R e e
FHTRI F ATUHMG B 9 B 8y To! © AN I8 9@ Ud 0% JaH 3
TS giauneif e oo g g1

Il Ifthe invention is of such general interest and utifity that the public interest will
be best served by allowing the public a free use of the invention, the
-application for taking out a patent shall be refused and the invention shall be
published -An exgratia payment shall ordinarily be made to the inventer as a
reward inall such cases.

ie; SMaspR S 31 T80 2R SUgiFe aren § b e o1 2AfashR &1 T
I & B AFHT &4 ¥ Fid @ waiag Yal g, _al ude o & fo
HEET REIHR S (5] WL A% iawhie UG &3 fogr S o g
Ol d HIfdshRe 6 YTaN & 4 § 9IE-0: Uh 308 YT fear=m|
V. [f the invention is not of the kind mentioned in clause (lIl), but is of sufficient
public utility as is likely fo make its commercial exploitation profitable, the

inventor shall be directed to take out a patent and to assign his rights under
the patent to the Presiderit.

gig fassR WS (1) § Sfwida UeR 1 781 ¢, (9 g8 Juw S
S @1 3, S99 99w aftise Suan aMeds o W@l 5, o
nfateres 1 9 O quTUce % 3fria v fieR % Tpefy & e &
femr fear s
[Question ID = 10999][Question Description = Q10_APO_PA_NAIRAUG4]
All the options are correct.

" wffraTiy

[Option ID = 13993]
Gptions |, 1l & IV are only correct.

hadaaed | |1 TE IV T &

[Option ID = 13994]
Options |, 11 & |l are only correct.

3 thad famed |, I T3 T51 5

[Option ID = 13995]
Mone of the given options Is correct

* o Rewd B el TR
[Option ID = 13996]

Correct Answer :-
All the options are correct.

* widewsds

[Option ID = 13993]



11)  Which of the following isfare CORRECT about Rule 551 of the Maternity Leave
for a Female Railway servant?
Hige id HHUN $ A8 A eew & Hug 551 & R | FEEd § § o
A FYTHEI o/o?
. A maxmum period of 180 days is enfitled.

Sty 180 T6A &1 @i &1 USRI
I A maximum period of 360 days is entitled.

frmaT 360 29 # @i & e )

lll. In case of miscarriage including abortion, a period not exceeding 45 days may
be granted during the entire service

O wigd T & g §, Sl gar s e 45 il 9 e @ sl g @
EIREhil

V. Maternity leave of the kind due and admissible up to a maximum of two years
may be granted in continuation of maternity leave granted.
Hipd O EeM & $4 5 ffiead ol a¥ g 7 U4 i Tgd HEe
Tighd bl Al Tl 5

[Question ID = 11000][Question Description = Q11_APO_PA_NAIRAUG4]
1. Options [, Il & IV are only correct

' Paafadmed|, Il T IV 5 B

[Option ID = 13997]
Options Il Il & IV are only correct.

dhad faeed |l I Td 1V 981 31

[Option ID = 13998]
Optiens Il & IV are only correct
e fadred Il AR IVEZI S

[Option ID = 13999]
Mone of the given options is correct.

- Rum feweal du 1 i T B

[Option ID = 14000]

4

Correct Answer :- Deleted

12) Maich the following Rules of Railway Servants (Discipline & Appeal) Rules,
1968 with CORRECT Explanation?

Ed Ham (SN UE i) FEE. 1968 & FelaRad ol @& a5 e &
Y A H?

Rule No. Explanation
o 4. TP
(i) |[Rule® |{a) |Procedure forimposing Minor Penalties.
Frame EEECUGEIN IR
{iiy |Rule 11 ((b) |Commaon proceedings.
a1 T HaT]
(i) |Rule 12 ((c) |Procedure for imposing Major Penalties.
Fam12 | |(ugeds @ el ulsar
(iv) |Rule 13 |(d) Cn_mmunieaﬁon of orders.

frag i3 1&gt o1 gumo

[Question ID = 11001][Question Description = Q12_APO_PA_NAIRAUG4]
1. {ida); (i):(b); (i) (e}, & (d).

[Option ID = 14001]
2. (b); (m:(d), qi): (a); & (c)

[Option ID = 14002]
3. (e, (uy:a), (i) (d); & (b).

[Option ID = 14003]



Mone ofthe given options is correct.

4. :
feu e fiew 44 o Hiog sl
[Option ID = 14004]

Correct Answer :-

o (ix(c); (uyay, {ii): (d); & (b).

[Option ID = 14003]

13)  Matchthe Staff Benefit Fund Head/ Activity with CORRECT Allocation
=Ry S Rl e g e S et

Head / Activity Allocation
{Rs.)

Developing occupational skills of Railway servanis, who are| {a)| 24
covered under ‘The Rights of Persons with Disability Act,
2016"

Yoid Sl & SAauite S &1 fam &, | TG
Al & SR AUTH, 2016' & AdTT K ol
{ii [ Immediate relief in times of crsis arsing out of floods,| (b)| 28
famines, landslide. fire or any other calamity

q1e, SdTa, YEaer, 317 71 [l 3 2198l § Sod 9% &
THY dep e Wgd

(i) [ Women empowerment activities including seminar, camps,| (c) 16
fraining programmes and gender sensitization camps, efc.

nigen TuEgew e b SR, Rifsr afem
HHH AR feiv Gadieeo ffa afe wife g
{iv)| Promotion of Cultural Activities (dy| 50

—
—

[Question ID = 11002][Question Description = Q13_APO_PA_NAIRAUG4]
1. (iy(a); (ix:(b); (ii): (c); &(iv): (d).

[Option ID = 14005]
2 (i):(b); (i):(d); (iii): (@); & (iv): (c).

[Option ID = 14006]
3. (Dd), (in):(a); () (b); & (iv): (o)

[Option ID = 14007]
Mone ofthe given options is correct

4. ,.
feu e fammaf 4 o diwgi 9si ol
[Option ID = 14008]

Correct Answer :-

o (i)(d); (ii):(2); (iif): (B); & (iv): (c)

[Option ID = 14007]



14)  Which of the following is/are CORRECT aboutthe Study Leave for Railway
employees?
ST BT o AL S JEHe & 9§ FEiaiea § 9 S8 S agl
BR?
| Study leave out of India may be granted for the prosecution of studies in
subjects forwhich adequate faciliies exist in India

YR § 95T 00 AT oA [audl & e & fore foar o waa & fomd fag
YRe § 99 iU guae 5

Il. One should have satisfactorily completed the peried of probation
ST 1 TRa T AT HaSeE 67 & G5 @l gl

. Excluding Railway Medical Officers, one should have rendered not less than
five years of regular continuous service.

da fefean e sieeey, odf= oa v o0 v ad o fafie ew
TarHi gl

IV. Excluding Railway Medical Officers, ane is not due to reach the age of
superannuation within a penod of five years.

34 few sl s siees. fd i sded o v ad &1 sgf s i
YT el 1Y W1 75! Bl gidl gl

[Question ID = 11003][Question Description = Q14_APO_PA_NAIRAUG4]
All the Options are correct

B I CEaE R

[Option ID = 14009]
Optiens |l & lll are only correct.

" Hodiaded |l 3Rl T8I gl

1.

2

[Option ID = 14010]
Options 11, 11l & IV are only correct.

Sad faeed ||, Il T IV Fgi ol

[Option ID = 14011]
4. MNone ofthe given options is correct.

| o et Y B T AT

[Option ID = 14012]

3.

Correct Answer :-

Options |l & Ill are only correct.

thad faded Il Rl T8 E1

[Option ID = 14010]

15)  As per Appendix-VI, under Rule 103(11) & (31) of IREC Vol |, to whom the
President has delegated the power to declare a Raillway servant to be a ministenial
or non-ministerial servant?

oRIF-VI & SRR, IREC.Volld Fga 103(11) 3R (31) & sicla Ipufd 3 3@
SHaR B FEad 91 IR-sgafdE eHErRt Biftd o o uik g g 2

[Question ID = 11004][Question Description = Q15_APO_PA_NAIRAUG4]
1. Railway Board.

Wdds.

[Option ID = 14013]
2. General Manager

HelHad

[Option ID = 14014]
3. Bivisional Railway Manager.

H3a | Uaes.

[Option ID = 14015]

Mone of the given options is correct

| Rum Rewide i fies T8
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[Option ID = 14016]

Correct Answer :-

° Rattway_Board_
Tddars.

[Option ID = 14013]

16) Which of the following is/are CORRECT about Rule 1305 (F.R. 9) (23) of IREC
Vol.ll - Personal Pay?

IREC.Vol.Il - SHigRTT 90 & aH 1305 (FR. 9) (23) & &R & Fafofas 9 &9 9/
HYF e 0/3?

. To save a Railway employee from a loss in substantive pay in respect of a
permanent post other than a tenure post due to a revision of pay or to any
reduction of such substantive pay otherwise than as a disciplinary measure.

Iad HHERT @, 307 TRYT & DR 7 SRS U & e il e
BRO E Y Od 999 § St & SR, AGNOR Ug & HamEr G it ug &
Hae H 7a do4 | g+ arcil gli+ | 99H1|

II. In exceptional circumstances, on other personal considerations.

SR URiyTl §, 3 Sieaid SR 9|

Ill. No application for the grant of a compensatory personal pay should be
entertained unless,

U R® AfGTd da- & e & (o bl i 2de IR ad d& [d9R Jg! &l
ST 91eY, of| d T,
(a) the officer's service has been consistently satisfactory and has been of a

character superior to what is ordinanly expected of the incumbent of the
appointment;

SEHRT BT TaT TaR Yave-d WG ¢ SR a¢ Fafed & UgHRl 9 9
afiféa Yo J TR @ T

(b) The officer is fit for promaotion but there is no possibility of giving him any
advancement in the near future; and

e veEd & o Suged B, dfee Mo vl § 99 15 R By
W B FHIET T8 g T

(c) The officer has been at least for the five years on the same pay or if his pay
is progressive, on the maximum pay of his appomntment.

PR 9 9 oY UE 9 9P 999 da7 W @1 §l, T1 Ii¢ ITH] aaq
wrTicRile g1 i ool Fgie & siffiead do- W= 381 8|

[Question ID = 11005][Question Description = Q16_APO_PA_NAIRAUG4]
1. Option | only.

Had [ddbed |

[Option ID = 14017]

Optian 1l only.
&g [d@Heg 1.

[Option ID = 14018]
All the given Options are correct

> Rumohfeaad

2.

[Option ID = 14019]
4 None of the given options is correct.

" feu T fomeniE Y &ls Wi wdl T8 Bl
[Option ID = 14020]

Correct Answer :-

All the given Options are correct

* R efitEaedd



[Option ID = 14019]

17)  Where a Railway servant holding a post, in a substantive or temporary or officiating
is promoted or appointed in a substaniive, temporary of officiating capacity, to
another post carrying duties and responsibilities of greater importance, his initial
pay in the time-scale shall be fixed by giving one increment in the level from which
the Railway servant is promoted and he or she shall be placed at a cell equal to the
figure-so arrived at in the level of the post to which promoted or appointed and if no
such cell s availlable in the level to which promoted or appointed, he shall be
placed in the next higher cell in that level

g1 fh s Yerd SHErl &, W Mies 1 SR T ENFIe R 8, B e e w
Aifers, Rl 1 ®iATF & H 9ea 9 e fea e g, foed s gea &
e 3T el §, o 999 d 99E AR 404 99 ¥R H us do7 gk
Zpv e foman s, fom Yog e &1 e e T § IR SY SH UG &
TR YIS s & §¥aEg U 9a o W97 @, 1o/ U8 OF Uerea o1 e i
T § AR o B9 'R W, o 0% S8 udiEd a1 g fbay mn 8, O ol
FUCs gl o, 1 9F SH WL H T G da § @l A |

To which ofthe following Rules, this explanation refers to?

g WG Heiciad 5 9 b9 (109 9 9 a?

[Question ID = 11006][Question Description = Q17_APO_PA_NAIRAUG4]
Rule 1313(1) (a)(1)-
=E| 13130) (a)(1).

[Option ID = 14021]
Rule 1313 () {aj{Z)
g 1313:(1) (a)(2).

[Option ID = 14022]
;. Rule1312
a9 1312,

[Option ID = 14023]
Mone ofthe given options is correct

4.
T Gewidg & Wi 98 5l
[Option ID = 14024]

Correct Answer :-
Rule 1313(1) (a)(1).
18 1313(1) (a)(1).

[Option ID = 14021]

18)  As per Rule 1420 of IREC, Vol.ll, which ofthe fallowing is/are CORRECT about
the Railway Employees deputed for Breakdown duties?
SRS, WS |1 (495 1420 & 4R, dhsia Sgcl & (68 ia teid Saaidl
& A ¥ Feaad e s g sy adi a7
| The employees are eligible to get priority in allotment of Raiway Quarters.
DU ] ¥ad B & HHe H WY U & HUBER ]

Il.  Payment for overtime work in accordance with the normal rules, time taken in
traveling to the site of the accident and back shall also be reckoned for
payment of overtime.

T Fnl & TR sHiEweEn o & o YT, gHe e 0 9 AR
0 A H A EHT T SiatesH YraE | 1 S|
. Payment of full daily allowance at the rates applicable to ordinary localities

provided they should be out of headquarters beyond 8 kilometres for a period
exceeding 12 consecutive hours.

T R OR AR &R 0 90 aFe W T T, 99 6§ SR 12 He F
3itrep a6y & fou gEnag 4 8 fFaded iie X |

V. Daily allowance at full rates will be admissible for each breakdown occurring
at difference places on the'same day

U o 57 H S amm T OR B aTe ld | o e Y ) IR &%
AT HBE g




[Question ID = 11007][Question Description = Q18_APO_PA_NAIRAUG4]
All the Options are correct.

i fareaggis.
[Option ID = 14025]
5. Options |, Il & |1l are only correct.

d5gei [amed |, |1 Td 1 981 51

[Option ID = 14026]
Oiptions |, | & IV are only correct.

3 o fame, e IVEGIgl

[Option ID = 14027]
Mone ofthe given options is carrect.

feg e fameal 4 iy T wd e

[Option ID = 14028]

4.

Correct Answer :-

Cptions |, Il & IV are only correct.

* Faafawel 108 VIS

[Option ID = 14027]

19)  Which ofthe following is/are CORRECT aboutthe payment of National Holiday
Allowance (NHA) to non-Gazetted staff?
TR BHANY! &1 TP G U (T709Y) & Yam & sR | Fefaead
YHHH A HYTHG 57
|.  The cash compensation is payable even when an'employee is on rest
e GoEe a4 i 38 gid1 & 9" SHgN ARIY WEkis!

Il. The cash compensation is payable even when the Running staff are on ‘waiting
duty on a Nabonal Holiday'

ere; HaTa T Hi 39 3 o T S P e s A S g

Il Members of the Railway Protection Foree work roeund the clack and are not
entitled to public holidays. Hence, they are not eligible for compensation for
working on National Holidays.

Io7d A g1 & Yo Fiaig| He BIH $ld § HIE 9 Taui-d HaD1 Aol
T | SHiCIE, 4 1T /AT U B 1H &3 o (618 3dv o 9 g o

IV Office staff wha are eligible for public: holiday would be entitled to additional
payment if they attend duty on a National Holiday.
WA ST & [0 UT S SHaR aie Y Ham & 67 Sgel 98
SURRAEI ¢ al g faiad YTTaH &1 gHar 9 =g |

[Question ID = 11008][Question Description = Q19_APO_PA_NAIRAUG4]
1. Allthe Options are correct.

giifdemasic

[Option ID = 14029]
Options | & |l are only correct.

2.
@ad faded | 3R 1 Tl 51
[Option ID = 14030]
3 Options 1l & IV are only corect.

Had famed |l AR VIG5

[Option ID = 14031]
4 None of the given options i1s cofrect.

fau T e 44 o2 tiwd ad7 8l
[Option ID = 14032]

Correct Answer :-

Options | & Il are only correct.

$ad [athed | AR I Hal Bl



[Option ID = 14030]

20) select the CORRECT name of the Allowance payable to Running staff when they
are reguired to perform non-running duties, in the interest of Railway service?

Yo e & foa 4, o I =P & R Sgel o7 @) aea e 2. dl o
S UX) 1 Hel A g7

[Question ID = 11009][Question Description = Q20_APO_PA_NAIRAUG4]
Allowance in lieu of Kilometreage.

e gae YTl

[Option ID = 14033]
Kilometreage Allowance.

Thaides v

1.

2.

[Option ID = 14034]
Shunting duty Allowance.

i S YA

[Option ID = 14035]
Mone of the given options is correct.

feu e eeai 9 S Hiws 6l g

[Option ID = 14036]

4.

Correct Answer :-

Allowance in lieu of Kilometreage.

fora e d g Y

[Option ID = 14033]

21)  \Which ofthe following is’are CORRECT about the Special Compensatory
Allowance applicable to Running Staff?

ﬁﬂmﬂ?wﬁﬂunﬁr@aﬁ N ER T FefafEad s sR e s el 5152
When Running Room facilities are not provided.
o I 0 B Gl U o] Bals Wi o

II. When staff are detained at out-stations for mare than 15 hours from the time
they sign off duty.
WE B &) SU¢1 § e o & 95 ¥ 15 U g e T a6 aey «E!
R AHT A 31

. When trains. are held up at any ‘station, other than headquarters of the staff
concerned, due to an accident, for a period exceeding 8 hours.

S Mgy, g & HRY, ety WIe & GEnad & e il o €
R8T i T 7 o 3w B

IV. When the running staff are deputed to work temporarily at stations
outside their headgquarters.

wzﬁnmaﬁﬁgﬁﬂmﬁwﬁéﬂ:ﬂwwﬂm%mmﬁﬁ
fere ufoi=rgEe o

[Question ID = 11010][Question Description = Q21_APO_PA_NAIRAUG4]
Options |, Il & Ill are only correct.

thad fased | |1 Td Il 92l 61

[Option ID = 14037]
Options |, IIl & IV are only correct

digd [adwed | Il T IV 91 8

[Option ID = 14038]

3. Allthe Options are correct.

giifdemagic

[Option ID = 14039]
4. None ofthe given options is correct.

e fopeai A &g W el 8l

1.

2.



[Option ID = 14040]

Correct Answer :-

Options |, IIl & IV are only correct
dad faded | Il Td IV 981 5 |

[Option ID = 14038]

22) Which ofthe following isfare CORRECT aboutthe eligibility of Railivay Servants for
Composite Transfer Grant?
T AR & e toe sl Bl uEa & an | Fefaf@a g on
W HFY S 8/o7?

|. Composite Transfer Grant (CTG) will be admissible, even if there is no
change in the residence ofthe Railway servant, as a result of fransfer.
T & URUTHEEY I SR & Fa WHE H &1 Oedg T g0 99 ol
T R 3EF (S Hie g |

II. In the absence of any positive mention in the orders of transfer that the
transfer is at the request of the employee or that it is for a penod less than

180 days, the transfer orders should be deemed to carry the sanction of the
competent authority for payment of CTG.

TR SR ¥ 39 910 &1 Sk GRS 3wl F gH 0% fi RIFER
HEIRI S 3T U2 {591 71 & 1 95 180 ol G &y 2@iu o 6 8, —imiowoy
T B HIC el o YT o fore W&iE WA o) Hedl JH1 o1 91y

Ill. The CTG shall not be treated as income for the purpose of Computation of
Income Tax.

TG 1 U] & T g Sieie) o 218 o] B e |

IV. CTG will be payable to the retired Railway servant if he prefers to stay in the
railway accommodation regularized in the name of any of his family
members, after his retirement

HA-a sad HHAN & diche od g g6 a5 U Galgnd o a1a 9
ufar & et 9w & 919 ) oo e e E warase s gl

[Question ID = 11011][Question Description = Q22_APO_PA_NAIRAUG4]
1. Options | & I\ are only correct

Bad [aedd | R IV Gol gl

[Option ID = 14041]
Options |, 1l & Il ‘are only correct

2. :
had fabed |, [ Td 11l GE1 Bl
[Option ID = 14042]

3 Options Il & Il are only correct.

dad [aad |l A 11 Tgi o

[Option ID = 14043]
Mone of the given options is correct.

* fum Rt d s Rad @z

[Option ID = 14044]

Correct Answer :-

Options Il & Il are only correct.

%ad [amed |l AR N TS

[Option ID = 14043]



23) \When a Railway servant summoned to give evidence or fo serve as assessor or
jurar in a court of law, to which of the following is/are eligible?

W fooddl Yo oo o =9mg © 9169 &1 a1 55 o & w9 Y o
&Y & U A el §, © 98 FaEiarad 0§ e o an g 32
| He/She is not entitled, by reason of his/her position as a Government servant,
to any payment other than those admissible by the rules of the Court.

WD HHARI g+ & HRU 98 A/gkid & 48] & ded ad YiaH & e[l
{3581 37 YT 1 BHER 0l 8
Il Ifthe court pays him/her any sum as subsistence allowance or compensation

apart from payment for travelling expenses, he / she must credit that sum to
Railway revenues before drawing full pay for 1hg day or days of absence.

I Iy o8 aET e & @ 3Tl FalE T 9 e & FUH BIg
R A &, O SR & fom o o & foarg of ame o @ wea sm O
1 ¥aid e H SH B g

Ill.  The period spent by the Railway servant in attending the Court as juror and
assessor with the permission of HCD, should be treated as Special Casual
Leave:

YeTd SR B AYITHE S 3E 8 9 9o IR qegieed & &0 H
mﬁmﬁﬁﬁﬁﬁﬁ?ﬂ%'m Ta9y s iias EHT 9 S
I

V. The period spent by the Railway servant in attending the Court as juror and
assessor with the permission of HOD, should be treated as duty.

W HHAR G [GUTTEGE 1 3 9 S 959 3R eyl & T9H
e | A e O Sdia &) s @iy &l dsd O 9 gy |

[Question ID = 11012][Question Description = Q23_APO_PA_NAIRAUG4]
Options | & IV are only correct

ad faemed | R IV 5 B

[Option ID = 14045]
Cptions |, 1l & Il are only correct.

' padfaedd | 1T 9§

[Option ID = 14046]
COptions |l & Il are only correct.

" Sadfamed |l AR TE )

[Option ID = 14047]
Mone ofthe given options is correct

- feu T fapeal H Y B8 Hiwg 58l

[Option ID = 14048]

1.

2

3

4

Correct Answer :-

Cptions |, 1l & Il are only correct.

Had [de | TSIl T8 g1

[Option ID = 14046]



24)  \\hich of the following is/are CORRECT aboutthe House Rent Allowance (HRA)
payable to a Railway Employee?
60 BHTN B od T (Bl U (HRA) & aR § Feaa o § &9 79 &
el 8/a?

House Rent Allowance shall NOT be granted to a Railway employeeif,. ..
Cd BHARI ] T T YT ol [agl S e,

|.  Hel/She shares Government accommodation allotted rent-free to another
Government servant

5 0l o TR SHaN ®f e Hlafcn Sedhn S1ars 1 18 ol

Il He/She resides in accommodation allotted to his/her parentsfson/daughter by
the Central/State Government, an autonomous public undertaking or Semi-
Government organization, such as a Municipality, Port Trust & Nationalized
Eanks, etc.

EMELCRR)E A B AT TP, fodl Wi e 3umd 41
{1aTE H Igaledl o

Il Railway servant’s wifelhusband has been allotted accommaodation at the
same station by the GCentral/State Government, an autonomous public
undertaking or Semi-Government organization, such as municipality & Port
Trust etc., irrespective of the fact whether helshe resides in that
accommodation or resides separately in accommodation rented by him/her.

T FHAR B Teaia &1 gAed WReR, Y W gise 9umd O
LIRS T34 WY TR Ui R O 2% e g1 33l 94 U3 A1aH
andfed foemr AT §, YA 1 95 99 1E H 3501 §f 91 999 g fowe | T
T a3 WA el

[Question ID = 11013][Question Description = Q24_APO_PA_NAIRAUG4]
All the Options are correct

gy fame w8l 2.

[Option ID = 14049]
Options | &1l are anly correct.

1.

2. .
ad [adbed |, || T4 Il §51 5
[Option ID = 14050]
3 Options |l & IIl are only correct.
Sad faded || AR 1 TWIE
[Option ID = 14051]
4 None ofthe given options is correct,

oo Aepwi i1 o w78 81
[Option ID = 14052]

Correct Answer :-
All the Options are correct

T dmed Wol o,

[Option ID = 14049]



25) Which ofthe following is/are CORRECT about a Railway servant’s entitlernent

during his/her joining time?

Ieid HAR| ® DAY FgU B3 o GIe 19a- diel giaunsi o a8 J Hefaiagd 3§

B I Y U 8/a?

| House Rent Allowance (HRA) at the same rates at which he will be drawing the
allowances at the station to which he was transferred.
U 3l oX QX g [y Ul (TE2RY) [He 9% oX R 98 o8 W 0 4l
I &% 38 B olgl 91l THIRe g3 5|

II. HRA at the same rates at which he was drawing these allowances at the station
from where he was transferred.

S Ogl g W oeH e v e T S S W S R W HA § R Y ol
W FTh] BTG g3 4T

Il HRA at the same rates at which he was drawing at the old station or to which he
will be drawing at the new station, whichever is beneficial to him/her.

TH T &Y U A (arerg] 4 FHe ford &% 9% a8 QR 9 98 o W Tl
T B¢ U g5 U I U o %ol 5, o i ou e erisigE 8l

V. If he proceeded on leave along with the joining time, he is entitled for HRA at
the full rates irrespective of any maximumtime limit.

gie, a8 BIYHR U0 &3 o 999 o 91 HadH 99l Sial g, 0] 98 [da] 4

HfErHaE TEgHA I W 5T 991 9uf &3f O AT (6] 4R @1 §HaR gl

[Question ID = 11014][Question Description = Q25_APO_PA_NAIRAUG4]

Options |, Il & I\ are only correct

thad faeeg| 1T IV Igi gl

[Option ID = 14053]
Cptions I, Il & IV are only correct.

" had @@l TSIV TBigl

1.

[Option ID = 14054]
OCption |l only 1s correct.

Had [ased || Tgi gl

[Option ID = 14055]
Mone ofthe given options is correct.

feu T e g4 o Wiad 948
[Option ID = 14056]

Correct Answer :-

Option |l only 1s correct.

Had [ased || Tol ol

[Option ID = 14055]

26) Which ofthe following is/are CORRECT as per Rule 1805 of IREC, Vol.lI?
38 AR E 4., ES |1 & Fad 1805 & HTuR HEaa 5 ¥ & 9/4 9ol o/a?

| If the date of retirement of a Rallway servant happens to be closed holiday,
the retinng Government servant should formally refinquish charge of office on
the afternoon ofthat day itself even if it happens to be a closed holiday.

uﬁmhmﬁaﬁﬁaﬁqﬁraﬁﬁrﬁrﬁmﬁﬂ?% ?ﬁﬁﬂTﬁ’g’ﬁEﬁ
aTdl WBRI HHAR] B I o7 TR DI 8l ATaRe T9 § B
FRVR SIS &1 AT, Uel € 95 SEsT I dl A g

Il If the date of retirement of a Rallway servant happens to be closed holiday,

the retiing Government servant should formally relinquish charge of office on
the afternoon of the previous working day.

afe feedll Yo g @l Har-gici @i (A1 &I e g1 ot Yai-gd g1+ ard
TP FLAR i 08 B a9 B aldet & A0gRE T H 0 HHEUR
R & Tfgg |

. The actual relinguishment of charge of office shall be' made in the prescribed

form on the last day of service, for which the physical presence of the officer
in the office need not be insisted upon

FTATe F YUK F arKTiad @ 941 & gy o7 Fuffe oo o o s
?ﬂﬁ?ﬁqﬁuﬁﬁuﬁa{ﬁmﬁaﬁmﬁﬁm@ﬁwaﬂﬁﬁwﬁ
I



[Question ID = 11015][Question Description = Q26_APO_PA_NAIRAUG4]
Options | & ||| are only correct.

i fadmed | 3R 11 T3

[Option ID = 14057]
Cptions | & Il are only correct:

e [9eeg | 2R 1 GE1 8

[Option ID = 14058]

2.

3. Options Il & lll are only correct.

%ad faeed Il R Il Fei gl

[Option ID = 14059]
MNone of the given options 1s correct.

o e fwe 49 o W v AR

[Option ID = 14060]

Correct Answer :-

Options | & |ll are only correct.

* Faafaed AR ESE

[Option ID = 14057]

27)  Which of the following is/are CORREC T about the Probationers?
ooy e s oiEigiai s aR § 2 o

1. If a Probationer is prevented from appearing in any examination either
because of histher sickness or any other reason beyond histher control,
he/she may be allowed to appear in a special examination within three
months.
gfe Todl uitdigmli= ofdd & s4@! dmRl a1 SHe a0 § 9 e o=
SR ¥ ol Uien H da U AT a1 3, T S8 dF HeiH o Hiox ey udan
o So4 o aafad o gadi )

I The minimum marks to pass in Examination after completion of Institutional
training (Foundational Course, Induction Courses Phase |, Phase Il etc.) and
Departmental Examinations will be 60% in aggregate as well as in each
individual paper
R U (P ST S, SSaRF S 9, ZRuL anfe) ok faurta
THEN O He & a8 TIan H Sl g & e gad e $o [Hee ad
Weid e 99 J 60% Fi1

Il In case a Probationer does net pass any Institutional or Departmental
Examination in the first attempt, he/she may be allowed to sit for re-
examination in the papers in which he/she has failed. But in that case, the
marks awarded to probationer in such re-examination shall not be taken info

account in determining the seniority (his/her score in the original examination
only shall be counted)

afg s WEIFR Sod N H Bl SRImTa 91 faHriR olien Sl el o g,

o Y g1 fawal H g wdian g S5 &1 &1 ST e o, ford g S

Eaﬂ% | <ifche o TRufr o, Ui o aflen o wieRmR &l fou TTe 2f! &l afegar
e o I g S e (Shae He Ga H S oid g i

1) Ef a probaﬂuner fails to pass second examination, his/her services are likely to
be terminated.

e Hig Ufidige = oafad gas Usia Bl &34 H HHHd edl o ol SH®|
HaT HG o) S
[Question ID = 11016][Question Description = Q27_APO_PA_NAIRAUG4]
Options 1, 11l & IV are only correct

Pad famed |, Il Td IV S8 g |

[Option ID = 14061]
Options 1, 11 & Il are only correct.

Pad faked |, || T (1l 931 3

2.

[Option ID = 14062]



All the Options are correct.

AT

[Option ID = 14063]
MNone ofthe given options is correct

* Ry e TY e R TR

[Option ID = 14064]

3

Correct Answer :-

All the Options are correct.

' mieaTdE

[Option ID = 14063]

28)  Inrecruitment to Railways, how many years have been granted as upper age
refaxation for the candidates belonging to Scheduled Castes/Scheduled Tribes?

G C R i SRR S & SRl Sy g
e B gear

[Question ID = 11017][Question Description = Q28_APO_PA_NAIRAUG4]

1. Three years.
IRk
[Option ID = 14065]

Five years.

2. 3
RIEE T

[Option ID = 14066]
;. Eight years.
315 7|

[Option ID = 14067]
Mone ofthe given options is correct.

* feue REwl T Y B e TR

[Option ID = 14068]

Correct Answer :-

Five years.
BEEE]

[Option ID = 14066]

29) The percentage prescribed for Direct Recruitment Quota for the post of Senior
Section Engineers of Mechanical departmentis... .7

Tl AU & G SHTT ATHEAT & Ug & fou diefi udl elers e FRufa

g Eg?
[Question ID = 11018][Question Description = Q29_APO_PA_NAIRAUG4]
1. 20%

[Option ID = 14069]
2. B0%

[Option ID = 14070]
3. 40%

[Option ID = 14071]
Mone ofthe given options is correct

- feu T faeeai H Y B8 Hiwg 55l

[Option ID = 14072]

4



Correct Answer :-

® 20%

[Option ID = 14069]

30)  Forthe Selection to Group 'B' posts (for other than APO), how many number of
employees to be called for TWO vacancies, as per the sliding scale?

%i’l el (@il % HaATET) 9% 99 o (oY, Wl wha & o9, & Ryl & e
ol ol ar S 87

[Question ID = 11019][Question Description = Q30_APO_PA_NAIRAUG4]
1. 05

[Option ID = 14073]
2. 08

[Option ID = 14074]
3. 10

[Option ID = 14075]

4. MNorne of the given options is correct.

feu T fAwwi d8 @it fiwg =g 8
[Option ID = 14076]

Correct Answer :-

° 08

[Option ID = 14074]

31)  with regard to Selection to Group ‘B’ posts, which of the following is/are
CORRECT?

gtr & Ual R 709 ey, el d e #F ek sUT uE 5/8?
Moderation of the marks is permissible.

T O TeeE @1 3EEfa S

II.  Employees securing the gradation 'Outstanding’ will be placed on top followed
by those securing the gradation, 'Good' and inter-se seniority within each
group te be maintained.

FpF YU U 3 arel HHARY] B TEY F TG A, IHH 915 AT
Hof U1 e arel BNl B T A Gy UdE 99 § IRRE aigar
BT TG G|

Il Once a panel is approved, General Manager is having powers to amend the
panel for one more time.

TS §R U &1 Al T o OR, HeTeye ) 0 § U 9 3R SR e
1 HIUBER G

V. The panel will be current for a period of 2 years from the date of approval or
till & fresh panel is farmed, whichever is earlier.

Tg O o [ 2 @i 2@kl aF 91 991 G9a féd 5= as, = 4ff
Tgai g, W

[Question ID = 11020][Question Description = Q31_APO_PA_NAIRAUG4]
Options || & 1V are only correct.

Hhad [dmad || AR IV IE Bl

[Option ID = 14077]
Options | & Il are only correct

had [aeed | IR TR T

[Option ID = 14078]
Options 1, Il & lll are only correct.

" had faded |, 1 T Il ol 8 1



[Option ID = 14079]
Maone of the given options is correct.

4 R e dE B el Aa )

[Option ID = 14080]

Correct Answer :-

Options || & IV are only correct.

Hhad gl Il AR IV IEI 8l

[Option ID = 14077]

32)  wWhich of the following is/are CORRECT about the Ad_hac promotions in
non-Gazetted posts?

ﬂ? Rt uel | ved vEe @ e Fefia S g sn e s uE e
Adhoc promotion is permissible in Selection posts only.
A6y UGHid Shad 907 Ual W B WidE gl
Il.  Adhoc promotion is permissible in Selection and Non-Selections posts

U Ud T-99-1ctd Ual U2 a9y Ueidia Wisd 5l

lll. Adhoc promation requires the persanal approval of the Chief Personnel
Officer (now, Principal Chief Personnel Officer).

qaY Uedd & ol Oig $1ibe USRI (I, YU T8 Siae YD) B
AT Wi Hadd ol

V. A Rallway servant, who had passed the Written Test in the previous selection
only eligible for adhoc promotion.

Yod eoard. fows s 9o7 o fafea wdien ol &1 51, a0 oed el &
e a= g

[Question ID = 11021][Question Description = Q32_APO_PA_NAIRAUG4]
1. Options | & Il are only correct

ddd fadbed | AR TRIE
[Option ID = 14081]
5. Options Il & IV are only correct.

Hhad el il R IV I8 5l

[Option ID = 14082]
3. Options 11, 11 & IV are anly correct.

wad faedd |1, Il T 1V Tel gl

[Option ID = 14083]
MNone of the given options i1s correct.

feu e fapeal 44 iy Hiwgi 7dicl

[Option ID = 14084]

4.

Correct Answer :-
o Options | &Il are only correct

ad faded | IR T &

[Option ID = 14081]



33)  Which ofthe following isfare CORRECT aboutthe Refusal of promotions?
TaEd §3eR$ aR § FEii@ad 9 @F 9rd $47 9ol oo ?
|.  The employee refusing promation expressly or otherwise (ie not giving it in

writing but also does not join the new post) is debarred for future promotion
for one year, but allowed to be retained at the same station in the same post.

S HHAN WY U A G Y Ug AN O SABR e ¢ (31T fofad 37 @R,
T UGHR F8Y A $3 UX) 99 U 9y & (o Hia H gaieia | dite e &
S 7, @fe o1 S 9E R & W5 @t oEf & 9l 31

Il.  The employee refusing promotion again, his name may be deleted from the

panel. But the deletion requires the approval of next higher authonty than
which approved the panel.

7 13 PHEAR GlRI S ¥ SR Hal 6, 1 99S1 19 U9a 3 gerdgr o
T 3 | Afe e & e 39 & el o ara ¥ o Iw st S e
1 HGTGET gl o |

. Seniority will be from the date of effect of promotion and the employee will be

junior fo all the persons promoted earlier than him from the same panel
irrespective of his panel position.

IRET TeET @ [y & g aY SHaR! 97 O w0 o7 fou e aw
O9a 4 59y Ugd daida s sfdaal | shm s
V. He will not, however, lose seniority to another employee promoted to the

same promotion category during the one year period, as a result of a fresh
selection subsequently held.

ﬁ% g1 H §U TU 99 & URUTHEEEY, U 98 1 a4 & Q1o 94l Talatd
o ug fedt 3 HHad & SRUSHH ! afeEar e get

[Question ID = 11022][Question Description = Q33_APO_PA_NAIRAUG4]
1 Options |, Il & 11l are only correct.

' ad fgee | 11 TE Il T8l

[Option ID = 14085]

, Options I, Il & IV are only correct.
dad [dded |, |11 05 IV I5i 8 |

[Option ID = 14086]
All the Options are correct.

wifteasdis

[Option ID = 14087]
MNone ofthe given options 1s correct.

feu T fadbedi 54 ®is Hiwe Toi ol

[Option ID = 14088]

3.

Correct Answer :-

Options | Il & IV are only correct.
had [abed |, |1l T IV FET 5

[Option ID = 14086]

34) Who among the following authorities is competent to decide whether promotion /
appointment of a particular Railway servant to a post was erroneous or
not?

o d @ wH - e g Pl on & o vew g & o gy e wdard
o1 et ug W ugraiy g e & o iz
. Appointing Authority.
P
Il NextHigher Authority than the Appointing Authority.
Tafea wnfereTsi i 3rTen SEaR middN |
lll.  President in case of Railway Board is the Appuointing authority.
o7 S o e H A P w8
V. President in case of the President is the Appointing authority.

IPfe & Hige | Apdid g e g

[Question ID = 11023][Question Description = Q34_APO_PA_NAIRAUG4]



Options |, 11 & lIl are only correct

1. i
dad faeed |, || T4 |1l 5l 3
[Option ID = 14089]
2 Options |1, Il & I\ are only correct.

" hadfaee |l Il TF IV TH B

[Option ID = 14090]

All the Options are correct.
gyl [deeu eI c

[Option ID = 14091]
Mone ofthe given options is correct.

* RomReddY B e g

[Option ID = 14092]

Correct Answer :-

Options 11, Il & IV are only correct.

o fAeea |l Il T IV B EI

[Option ID = 14090]

35) cCenfral Government Employees, including Railway Employees, donating their
organ to another human being is entitled for how many days of Special Casual
Leave (SCL) maximum?

Td HraG! Oid & TReR & SHaRT, 5 AR SHH S ST 2 §F e T
ey e 5AT & fasiy 1 RTe aHie (TUd) & ghaR o7

[Question ID = 11024][Question Description = Q35_APO_PA_NAIRAUG4]
42 days.
4218

[Option ID = 14093]

24 days.
24feq.

1.

2.

[Option ID = 14094]
36 days

3.
36 fam.

[Option ID = 14095]
Mone of the given options Is correct

4 Ry Reaidd s fied a8

[Option ID = 14096]

Correct Answer :-
42 days.
42fe

[Option ID = 14093]



36) How ihe seniority of candidates recruited in initial recrutment Grades isfare
regulated? _
i e s o il g o onficar! @ afmm Sw Ao ot end 32

L Unless specifically stated otherwise, the seniority among the incumbents of a
post in a grade is governed by the date of appointment to the grade.

OF T 98 9 Y1 T gl 9, ) 38 J 6wl U I% STk sidad &
drg alkgar, 99 45 o fgfad o1 [y | fAdiEa gid 3

Il In categories of posts partially filled by direct recruitment and partially by
promotion, the date of regular promotion after due process in the case af
promotee and the date of joining the working post after due process in the
case of direct recrut, subject to maintenance of inter-se-seniority among
themselves:

i3 T9 G Wl 1l 3T 212 0 § ve 5 W S a7e ual & gfoet
o gei oAfd & HEe H T UhdT % gaTT Al geEi o ang AR
il uell & gige O gg Wihdl & UHIE SR Ug U8 BIIUR U5 B B
ardig, 2o § Ui aiEa e veH & i)

. When the dates of entry info a grade of promoted Railway servants and direct

recruits are the same they should be put in alfernate positions, the promotees
being senior to the direct recruits, maintaining inter-se-seniority of each group

S Ugia Ya duaid AR il Wt 9 SEGl 3 o9l Us § udg &1
fafiri oe 81 81 Al U5 adied® Ual 9% W@ a1 116, UaAd Suand Sl 9l
e HHTTE! § GRS T U0E SaE @ IR aREa 541

V. In case the training period of a direct recruit is curtailed in the exigencies of
service, the date of joining the working post in case of such a direct recruit

shall be the date he would have normally come to a working post after
completion of the prescribed period of training.

fe o Hieft vl arcr safe &t wikiam &l Sar @1 sifFardast & sro &1
B G IH g, O OY el ue e aied & A d SRER 98 IR STYUR 380
B B AR gg are e o &F g uiigm @l Fuila safl ol o &
YT PRIBRI g U FHEG: 3T

[Question ID = 11025][Question Description = Q36_APO_PA_NAIRAUG4]
Options |, Il & Ill are only correct.

" aafael | w@ IR E)

[Option ID = 14097]
Options |, Il & IV are only correct.

2. v
wac famed |, 1 Td 1V T8l 8
[Option ID = 14098]

3 All the Options are correct.

T em s

[Option ID = 14099]
Mone ofthe given options is correct

o Rt B el R
[Option ID = 14100]

Correct Answer :-

All the Options are correct.

EHNECTo RS

[Option ID = 14099]

37) When Running Staff are put to officiate in a "running post” formorethan __ days,
their pay in the higher post shall be fixed under the normal rules.

99 AT e o T AT O o @ 21fie 9o g9 o & o oY
TG &, 11 S=aL Ug U2 I+ aa4 9 Hadi & aria o i 9em |

Fill in the blanks with the CORRECT number of days?
e T A &1 wal Ham 1i?

[Question ID = 11026][Question Description = Q37_APO_PA_NAIRAUG4]
1. 20



[Option ID = 14101]
2. ap

[Option ID = 14102]
3. 45

[Option ID = 14103]
Mone of the given options is correct.

feu e fAeeidy @i iadi adidl
[Option ID = 14104]

Correct Answer :-
® 30

[Option ID = 14102]

38) For classifying a train as 'High-Speed-Train' for the purpose of payment of Trip
Allowance to the Running staff working such frains in BG sections;

el SERE! | Ol o § ST S a1 S wE @ Y YR & FaE & 9eg o
U & &1 B8 lie- 27 & & H atfighe i @ 1Y,

() the maximum permissible speed should not be less than..____,

ffpaa e d .. HH TGl g ANy,

(i) the average speed should nof be less than ... ; and

Loy (S OO 72 £ o o =1 3

{iii} the aforesaid limits of maximum permissible speed should be obtained overat
least __ ... .ofthe total run of the train.

HIFTE BTG B SRGIHH B pad F SIS TR
LAk gl
Fill in the bianks with CORRECT options.

T w1 os! el 9 U

[Question ID = 11027][Question Description = Q38_APO_PA_NAIRAUG4]

90 km., 50 k. & 40%
90 o1, 50 foeel. 2w 40%

[Option ID = 14105]
130 k., 75 km. & 60%
130 Tl 75 fodl 3R B0%

[Option ID = 14106]
5 110 km., 86 km &50%
" 110 T, 66 Tr. AT 50%

[Option ID = 14107]
Mone ofthe given options is correct

- Rnme Geai A o i TR
[Option ID = 14108]

Correct Answer :-

110 km , 66 k. & 50%
110 551, 66 TFHET 20X 50%

[Option ID = 14107]



39) Railway employees may be given how many opportunities in a year to apply in
response to notices of Government Departments / Public Sector Undertakings /
autonomous bodies wholly or substantially financed and controlled by Central or
State Government, except for the applications submitted in response to UPSC
advertisement.

Yeid SHEe] & qUiE] B & UG J UNd HhET @) Sledy, $g 41 I

TR ER Oofa: 41 2% &9 ¥ famuifg ok Fife @ar Guriaaste 845

m@aﬂﬁ%ﬂﬁﬁ%mﬁmm#$mwﬁﬂﬁmﬁm
il :

[Question ID = 11028][Question Description = Q39_APO_PA_NAIRAUG4]
1. 8

[Option ID = 14109]
2. @

[Option ID = 14110]
3. 4

[Option ID = 14111]
Mone of the given options is correct

T e T B T
[Option ID = 14112]

Correct Answer :-

o 4

[Option ID = 14111]

40) The services of certain Railway servants, specified below, shall be liable to
termination of ndtice on either side for the periods shown against each. Such notice
is not, however, required in cases of dismissal or removal as a disciplinary measure
and compulsory retirement due to mental or physical incapacity.

=i iy S5 Yad saaiyl & Y9 Ut & IH- amig T 2@y o o i o
& G e SER GAIE @1 o Gddl 8 gialid, AeTEs 90g & 9 H
FEIE AT g qUT AN I TRING & & SR g/ Yar-gi & JHal
O U ga & HGHhd Tal ol

Check the following and indicate the INCORRECT matches.
FEGET S FaH 3R Taa Ham & ST @l

Sl Category Notice period

No o Tifew 1 3@y

e

a8

(a) |Probationary Officers and Group 'A' and Group B | : |3 Months Notice
Railway servanis on probation 3 qfﬁ—lf wmAeE
giEleel it TuTeEE T AR Egg E &
aidignsi= vad sHaR|

(b) |Group C Raihwayse_wants on probation = Mon@h MNotice
Of¥Ele 9% 99 i {ed HHER] 1 T @IS

(C) |Gazetted Railway servants on probation in the - |3 Months Motice
Medical Department _ ITE B AT
Fafdsen faum = aRkdlen 92 i Yad SHar

{d) Appren_tices - |1 Month Motice
P& 1 HgiH @ Alled

[Question ID = 11029][Question Description = Q40_APO_PA_NAIRAUG4]
1. (a) & (b)only.
@ad | (a) & (b)

[Option ID = 14113]



2. (c)&(d)only
Fad| (c) & (d)

[Option ID = 14114]
{d) only.
waal (d)

[Option ID = 14115]
4. MNone ofthe given options Is correct.

fEu e fawea HE ®ie Yiws 75l ol
[Option ID = 14116]

Correct Answer :-

o ([c)&(d)only
Fad| (c) & (d)

[Option ID = 14114]

41)  \Which of the following isfare CORRECT regarding the number of holidays to be
observed in the Railway offices situated in the States and the Railway Workshops?
QI TR Yo rierdt SR Joid el J TE §F 9iel g 6l e s dey
o gielad o 4 &1 91 &Y= 98l 8787
| The Central Government offices will observe not more than 16 bare holidays
in a calendar year.

B IR & oadl 4 U soaetay § fiean 16 sEHm gt

Il. Of these 11 would be compulsary holidays (3 National Holidays, rramety
Republic Day, Independence Day & Mahatma Gandhi's Birthday and 8
holidays relating to minority communities).

FAH 11 AFEE EEm B (3 AP Ed, i s figw, woaa
Toad 37 AgrE i &1 Saie TUT8 SeaEes SHadl Y Yalid HaHm) |

Ill. The workshop staff of Rallways will also be entitled to 16 holidays in a year,
including 3 Mational Holidays.

iaﬁ%gﬂ‘mm&d’faﬁlﬁaﬁﬁmiﬁmﬁﬁﬁﬁﬂﬁwﬁqmlﬁ
B LR

V. If any of these 16 holidays falls on a Sunday/Saturday or any other holiday, it
would be substituted by another holiday

o7 5 16 B2 § S ok Wi aergtHar 1 fed o eepm @ usdi 2. ar
I o 3T SamTel § Ny &2 fadl Je|

[Question ID = 11030][Question Description = Q41_APO_PA_NAIRAUG4]
1. Option | &Il only
thad [dmea | SR

[Option ID = 14117]
Option 1l &IV only.
Option Il & IV anly

[Option ID = 14118]
Option |, 11 & 11l only,
thad f[a@ed |, 1 TE I

[Option ID = 14119]
Mone of the given options is correct.

o et FE B A

[Option ID = 14120]

3.

Correct Answer :-

o Option | &Il only
Had famed | AR

[Option ID = 14117]



42) Who is vested with the right of withhelding or withdrawing a pension or gratuity, or
both, either in full or in part, whether permanently or for a specified period, and of
ardering recovery from a pension or gratuity of the whole or part of any pecuniary
loss caused to the Railway, if in any departmental or judicial proceedings, the
pensioner is found guilty of grave misconduct or negligence during the period of his
service, including service rendered upon re-emplayment after retirement.

ford O a7 U=g e, O1 &1 ), qoie: 41 AifSIe © U, T7 WE €0 9 91 ey sEfh
<5 fere, T+ 1 90 o T AlUeR 7, 3R tod &1 g2 fdi Wi enide e St gl ar
il EUE U a1 Uogel o oyl o HIGW o7 &1 HUGR g, gia fed lauraar
e Srdig] H GR-HIET 2U-1 Gl @7 246l & aRF TR doar a1 aiidg) &1
&Yl g B, e daieii s e T U9 TR W @1 7 var i wmfEa s

[Question ID = 11031][Question Description = Q42_APO_PA_NAIRAUG4]
1. The General Manager.
HRMEYE
[Option ID = 14121]
2. Raillway Board.
waEs
[Option ID = 14122]
3. The President
[Option ID = 14123]
4. None ofthe given options is correct.
feu T e A4 o M wg T8 o

[Option ID = 14124]

Correct Answer :- Deleted

43) Commercial employment after retirement:

TaHghi o arg SAEEIES TR
If any pensioner, who was a member of Central Service Group ‘A", takes up any
commercial employment at any time before the expiry of from the date of his

retirement without the prior permission of the Government or commits a breach of
any condition, it shall be competent for the Government to declare by order in
writing that he shall not be entitled to the whele or such part of the pension and far
such periods as may be specified in the order.

gfc Sig UTHYTT, S dmid Y91 95 T $1 Ga™ Y1, U Gaia & aeE 9
_________ @] T91E 4 94 fadl mmwaﬁﬂja@qﬁ%mﬁﬁw—mﬁa
3SR T80 SaT & O fbd] S o1 Soie- Sl o, O SRR B [eRdd G gl
ﬁﬁﬁmﬁﬁmﬁaaﬁ&mﬂﬁqﬂmmaﬂéwmhﬁm%m
Bhar Tal s, wa T emew o Ay e s owma 31

Fill in the blanks with CORRECT choice.
e =l O faded | UL

[Question ID = 11032][Question Description = Q43_APO_PA_NAIRAUG4]
1. One year

Ty

[Option ID = 14125]

5. Two years
HESR

[Option ID = 14126]
3. Three years
GIEEIE]
[Option ID = 14127]
Mone ofthe given options is correct.

fau e fameal H4 18 Wi wdi e 5

[Option ID = 14128]

4.



Correct Answer :-

o DOneyear

THay

[Option ID = 14125]

44)  With regard to the Commercial Employment after retirement. the word ‘Commercial
Employment' excludes which ofthe following categories?
Haii-aft & 915 ailvfds R & g9y §, qiuicae deR e Felifad g |
a7 94Ul &1 9188 &= 7
|. Anemployment in any capacity including that of an agent under a company,
cooperative society, firm or individual engaged in trading, commercial,

industrial, financial or professional business and includes also a directorship
ofsuch company and parinership of such firm.

fordl e, Goen] 9ffa, wH O FuiRe, aftfoas, Agiite, o ar
FERe FRIGR H ol Aidd & A4 Tele $1 siad Sigd fedl 1 emad
AR, 3R 30 U ol &1 Feme I AR U v @ arger o =nfie g

Il Setting up practice, either independently or as a partner of a firm, as adviser
or consultant in matters in respect of which the pensioner has no
professional qualifications and the matters in respect of which the practice
is to be set up or is carried on are relatable to his official knowledge or
experience,

WA EY WY {58 BH & UFGR S T U, GueeR 91 REYCM 5 95

G Al H dfdes wifta e e Ody o demuld & o9 & aagaiids
IF gl & AR o ame a ey § dideg iiia i S g o aes S o d
B Hftiied 319 a1 AHd § S 8,

lll. To undertake work invalving liaison or contact with the offices or officers of the
Government

TR prTerdl g1 i¥n1iegl & Y T g1 Geds & Hallde g Hel|
IV. Employment under a body Corporate wholly or substantially owned or
controlled by the Central Govemment or a State Government.

Tt it Py & 3fafa SR = guie: o1 s T8 S WaR 1
e TIER & Wit 71 g 51

[Question ID = 11033][Question Description = Q44_APO_PA_NAIRAUG4]

Cption Il only
drad [gE Il

1.

[Option ID = 14129]

5 Gption IV only.
" hdd [aHe IV,

[Option ID = 14130]

3 Option I only.
" had faeed |l

[Option ID = 14131]
Mone ofthe given options is correct.

* Ry Reaidd e dad ade
[Option ID = 14132]

Correct Answer :-

Ciption IV only.
hdd [dobed IV,

[Option ID = 14130]



45)  Service rendered as substitute shall be counted for pensionary benefits from the

date of completion of ..._.... in the case of Teachers and ... in ather cases of
continuous service as Substiute followed by absorption in-a regular Group 'C' or
Group 'D'(erstwhile) posts; without any break.

WFA S U H @] TS 9ar & el s Ea T o @ I B RS o T
WHHA & FOH FRR a1 & S A . 1 TG © UEE a1 & fag
S, forads a1g faT bl saa T & Faite 99 < a1 99 =7 (qdadh ual
3T fdar = |

Fill in the blanks with CORRECT choice.
Naa = %1 T e § Wl

[Question ID = 11034][Question Description = Q45_APO_PA_NAIRAUG4]
2 months and 3 manths

2 HgiH AR 3HFA

[Option ID = 14133]
3 months and 4 months.

> audH RaTER

1.

[Option ID = 14134]
3 4 months and & months
" 4TgH AR6HTH.

[Option ID = 14135]
MNone ofthe given options is correct.

* Rume R 18 B 1w T

[Option ID = 14136]

Correct Answer :-

3 months and 4 months.

3HeH AR 4TS

[Option ID = 14134]

46)  As per Section 104 of the Industrial Relations Code, 2020, specific provisions of

which of the following Acts stand repealed with effect from the date appointed inthe
noﬂﬁcat'ton?

f=T1E Hey TiRar, 2020 FT U 104 & TR, Mg H o TS et
H 3 o sfUiom & fafey wray R gl =
I. The Trade Unions Act, 1926
<8 g fafeog, 1926
Ii. Thelndustrial Employment {Standing Orders) Act, 1946
S TSR (R HIEE) HiUET, 1946
Iil. Thelndustrial Disputes Act, 1947
e foare sfafam, 1947

[Question ID = 11035][Question Description = Q46_APO_PA_NAIRAUG4]
Options | & Il are only.

B Had gmed | ST 8l

[Option ID = 14137]
Cptions |1 & Il are only.

- Had [deed || AR T B

[Option ID = 14138]
All the Options are correct

e

[Option ID = 14139]
None of the given options 1s correct.

e ot HY &g g gl 8

4.



[Option ID = 14140]

Correct Answer :-

All the Options are correct

gYifapa Tgi g,

[Option ID = 14139]

47) \Which ofthe following is/are CORRECT about the Children Educational
Assistance. Reimbursement of Tuition Fee and Hostel Subsidy?
T 1 SR T, S B IE 1 U SR s whevEl b and Fefie
TEBHHHPYTEe 857 '
l. The children's educational allowance or the reimbursement of tuition fees or

hostel subsidy s not admissible o a Railway servant, who is under
suspension, if the period is treated as 'dies-non’
ofg;, e a@fy & Fofea &l o o § @ Fdes o6fl & aeE |
HHAN] B ga@| S el U 91 g2H BiE $i ulodid 91 SEEN aeE]
Wi Agl 5l

Il. If a Railway servant dies or ceases to be in service by reason of reﬁrement_
resignation, discharge, dismissal or removal from service in the course of an
academic year, the allowance or reimbursement or hostel subsidy -shall be
admussible till the end of the academic year in which the event takes place.

gig Tl g SO &1 Jeive 94 & SR Qan-gh e, :
T A1 Ua1 ¥ 5ol o & SRY 5 5] 9l g 91 a8 §al 4 Aol <gdl 3, dl
YT 91 Wil a1 Sra wishs! oF e gy & 3iq T Wierd g e
g e gica g5 6|

Il A Railway servant shall be eligible to draw children education allowance,
reimbursement of tuion fee or Hosiel Subsidy for a child for 3 academic
years in the same class. _
Yad HHERI UD 51 Ha1H 3 Vaifvie avl & ferw 9 e y, agme miE &l
Hicidid a1 STHEY SiedS] Ui & o fod Ui g

IV. Assistance in these orders shall be admissible to the Railway servant in
respect of not more than 3 children at any time, born up to 31 121887 and
shall be restricted to 2 children at any time, born thereafter.

S IR & 3T Gergar Yed SHaR Bl 31.12 1987 06 & [Hdl Ui a9y
Wﬁ%ﬁﬁﬁﬁﬁwmmﬁm i wHg 2 g o
i |

[Question ID = 11036][Question Description = Q47_APO_PA_NAIRAUG4]

Option |l &IV only.
ohae [deed || Tg V.

1.

[Option ID = 14141]
) Option | 11 & IV only.
" HhadaE | 1TV

[Option ID = 14142]

, Allthe given Optians.
- I gE T fasen.

[Option ID = 14143]
Mone of the given options Is correct

4 Rum Reaitd s g T

[Option ID = 14144]

Correct Answer :- Deleted



48) Which of the following islare CORRECT about Trade Test for Artisan
(Technicians) Categories?
TR [@HA1EE) 400 & AU cs T8 & 9% § Feaea d 9 &F 9/ $YF 98
3187
I.  Tradetest should be conducted penodically once in one year only.
€5 O YHY-GHY YT 98 | daa Ud S I S gy
Il. Staff wha have already qualified in the Trade Test, whie in
Caonstruction/Railway Electrification Projects need not be subjected fo such

tests on the open line and they may be promoted on the basis of their
seniority as and wher due in turn.

FeToTerd fareadieor uikaarel = erivd el ), o ugd ¢ ¢S e
3T W B b 8, Getl a1g 1 R U 2 3 1o 1 ATaRdehdl 18] § U1 98
HEFHATTIR 3761 dXEal o YR G2 Gaad [0 o Ghai ol
I An employee may officiate on ad-hoc basis for-six weeks without passing a
trade test.
gﬂéﬁﬁﬂﬂﬁ@gaﬁwﬁmmﬁmaﬁaﬁﬂaﬂwwaﬂﬁmw
|

IV. Trade test comprises of both oral and practical test and if an employee has
passed the trade test for a particular post, he need not be tested again for the
same.

¢35 o ¥ Hifdd R Aagia gFl UHR & o e ol 8 21 dig fad
PHHAN A fodl o™ 98 & oY ©5 o 919 @< (01 5, T 99 6 (08 aEn
X T I TS ol okl o

[Question ID = 11037][Question Description = Q48_APO_PA_NAIRAUG4]

Options |, Il & |Il are only correct

ac [aged |, 1 T 1 g1 §1

1.

[Option ID = 14145]
Options |, Il & IV are only correct.

Had [asd |, Il Td IV G515l

[Option ID = 14146]
All the Opftions are correct.

} mfiffewss

[Option ID = 14147]
Mone ofthe given options is correct.

" Rum e % w1 N e A9

[Option ID = 14148]

Correct Answer :-

All the Opftions are correct.

* miiftemadd

[Option ID = 14147]

49) ACT APPRENTICE: What is the weekly hours of work of a Trade Apprentice
undergoing practical training in Railways, including the time spent on Related
Instruction?

UFE Ui H: d § AagiRe A& & ald oo ied & SGied S He
e, gt welg ey w e e g e e

[Question ID = 11038][Question Description = Q49_APO_PA_NAIRAUG4]
42 hours to 48 hours.
42 ¢ 48 HE
[Option ID = 14149]

46 hours to 52 hours.
46HC Y52 T

[Option ID = 14150]



40 hours to 46 hours.

> 40 HEPag S

[Option ID = 14151]
Mone ofthe given options is correct.

ey el 44 wig Hiwgi =25

[Option ID = 14152]

Correct Answer :-

42 hours to 48 hours.
42 T ¥ 48 He

[Option ID = 14149]

50) Pension granted to a Railway servant who retires, or has retired before attaining the
age of compuisory retirement, in accordance with the provisions of Rule 66 & 67 of
Rallway Services (Pension) Rules, 1993 and Rule 1802 ofthe IREC is called as

hﬁwmﬂ}ﬁm 1993 & 19T 66 3R 67 TUT S RS o 97 1802 F

B R SR R

[Question ID = 11039][Question Description = Q50_APO_PA_NAIRAUG4]
; Superannuation Pension

[Option ID = 14153]

Retiring Pension.

2 gafghideE

[Option ID = 14154]
Invalid Pension

3. argd@rdEE.

[Option ID = 14155]
None ofthe given options is correct

e m g e AR

[Option ID = 14156]

Correct Answer :-

Retiring Pension.

Sarffrde

[Option ID = 14154]

51) COMPULSORY RETIREMENT A Railway servant compulsorily refired from
service as a penalty and the Authorty, competent to impose such penalty, may
sanction which of the following?

3iiar] Hai-aht el vad HUa & 68 & w9 | Ya1 ¥ ffaE &Y 9§ dargy
ﬁﬁg?w%aﬂ?ma?s’ T @ o e uiker el 3 9 fod 5998 §
Tl

[Question ID = 11040][Question Description = Q51_APO_PA_NAIRAUG4]

Either Pension or Gratuity, at a rate not exceeding two-thirds admussible to him on
1. the date of his compulsory retirement.

%Wmm,maﬁmmmﬁﬁmww&-ﬁ%gﬁ i il
I

[Option ID = 14157]



Pension or Gratuity, or both at a rate not exceeding two-thirds admissible to him on
2 the date of his compulsory retirement

%ﬁ%ﬂq&mﬁ,ﬁaﬁaﬂﬁmﬁqﬁrﬁ%ﬁmmﬁfﬁmaﬁﬁaﬁﬁ 3
[

[Option ID = 14158]

Pension or Gratuity, or both at a rate not less than two-thirds and not more than full
Compensation Pension or Gratuity, or both admissible to him on the date of his
3. compulsory retirement.

BECk 2 S guw! A Safati el 9 $ ol wWier oo afaws
ﬁﬁmﬁa%gmaﬂﬁ?a?-ﬁ%ﬁﬂamﬂﬁaﬂ?ma@mﬁmi ™
[Option ID = 14159]

4 MNone of the given options is correct

feru Gewidu S Mgt adi gl
[Option ID = 14160]

Correct Answer :-

Pension or Gratuity, or both at a rate not less than two-thirds and not more than full
Compensation Pension or Gratuity, or both admissible to him on the date of his
e compulsory retirement.

o ar g, S guw] A daati el i o 39 wWier 9ol aftwt
ﬁﬁmﬂa%g,mﬁﬂﬁiaiﬁﬁﬁﬁaﬂﬁmm%ﬁﬁi w

[Option ID = 14159]

52) |faRallway servant dies while in service, death Gratuity shall be paid to his family
members. Which ofthe following isfare CORRECTLY matched.

fe; oot dera pHaR ] GaT s SR I 81 Sl &, T 5o 9=e o URan ®
el gl 9| FEffEa dd sH T e e 8

I.  Less than one year, 2 times of monthly emoluments.
U a4 § &, Hiie ieieddi &1 2 AT

Il. One year or more but less than & vears, 6 times of monthly emoluments.
ek a4 7 (e T 5 TY W DH, TGS UReriedl &1 6 7T

lIl. & years or more but less than 11 years. 15 times of monthly emoluments.
594 1 Y U g 11 99 9 8, HTibe Uiisdl &1 15 71

V. 11 years or more but less tharn 20 years, 24 times of monthly emoluments

11 3% 71 34t frmg 20 98 @ &1, A ARkl &1 24 T

[Question ID = 11041][Question Description = Q52_APO_PA_NAIRAUG4]

1. Option Il &1V only.
Hac famed Il Td 1V

[Option ID = 14161]

5 Option | &I only
Had faeed | AR

[Option ID = 14162]

Option |l only
" dhad ideed |l

3

[Option ID = 14163]

MNone of the given opfions is correct.

- feum e de w3 Wiwgi e

[Option ID = 14164]

4

Correct Answer :-



o Option | &Il only
Had faeed | AR

[Option ID = 14162]

53) Ifthe age of the Pensioner crosses from 90 years but less than 95 years, heishe is
entitled ta how much additional Pension?

iz o=yl @1 2y 90 a4 © e 9iq 95 94 ¥ &4 8, 71 a8 o) srfafaa 994

U BT 5DhaK o7
[Question ID = 11042][Question Description = Q53_APO_PA_NAIRAUG4]
1. 30%

[Option ID = 14165]
2. 40%

[Option ID = 14166]
3. 50%

[Option ID = 14167]
None of the given options is cofrect.

 frue e HY B R AR

[Option ID = 14168]

Correct Answer :-

o 40%

[Option ID = 14166]

54) ‘What is the maximum age up to whichthe Chief Information Commissioner &
Information Commissioners can hold their office?

T T HTE UF T 3Ed 30 U8 W AlUGad ol 3R o ¥ 9@d 87

[Question ID = 11043][Question Description = Q54_APO_PA_NAIRAUG4]
1. B2years
62T
[Option ID = 14169]
. Bbyears.

85 T4

[Option ID = 14170]

3 88 years.
G

[Option ID = 14171]
Mone of the given options is correct.

e e T E B T S

[Option ID = 14172]
Correct Answer :-

o BB years.
6594

[Option ID = 14170]



55) WORKS COMMITTEE. As per “The Industrial Relations Code, 2020" in the case
of any industrial establishment in which........ Workers are employed or have been
employed on any day in the preceding twelve months; the appropriate Government
may by order require the -employer to constitute a Works. Committee, as may be
prescribed.

@7 Sl e dey € 2020" & H9R, e o e g & g
=02 A it faifer § o1 fod aRe weHl o el off fo Faifem =% 8
TUYE TIER AW &N e 1 & i e # @1 Aasgemal $1 Oadl o,
o fos et fear o gearg |

In that Committee, the ratio of representatives of Employer to that of Workers shall
IO g g & w3 4] & i e e T

Fill in the Blanks with CORRECT choice.
foam =i & 95 fGeea 9 s

[Question ID = 11044][Question Description = Q55_APO_PA_NAIRAUG4]

1. 100 or less:
100 TT SEY &HH

[Option ID = 14173]
100 or more.

100 T7 3fEE

[Option ID = 14174]
180 or mare.

150 11 24,

[Option ID = 14175]

4. None ofthe given options is correct

feu T fgeeul dd 12 iwd 791 31
[Option ID = 14176]

Correct Answer :-

100 or more.

100 7 3%E

[Option ID = 14174]

56) While introducing the legislation, ‘The Code on Wages, 2019, it was intended to

amalgamate, simplify and rationalize the relevant provisions of varicus Central
Labour Acts.

T S AT, 2019" G $I IR0 S 999, 5961 9639 010d R A sy
2T & WS WaHTH & Uhidd, Sea AR giaaaT &= ATl

Which of the following Acts have been repealed for the above mentioned purpese?

T IR & fon MElafea e e e w At e fm g

| The Payment of Wages Act, 1936

el YA 2MgEE, 1936,
Il. The Minimum Wages Act, 1948

ATH Heigy! iU, 19481
Ill. The Payment of Bonus Act, 1965.

HE Y U, 1965,
V. The Equal Remuneration Act, 1976
waH Uy it 1976

[Question ID = 11045][Question Description = Q56_APO_PA_NAIRAUG4]

. Cption [, 11 & 11l only.
Sad faseed |, 11 gd il

[Option ID = 14177]

1



Option 11, 11l & IV only.
Taaiaded i, i Tav.

2.

[Option ID = 14178]
All the given Options are correct.

> RummmfifReaadd

[Option ID = 14179]
Mone ofthe given options is correct.

g e TR B EE AR

[Option ID = 14180]

Correct Answer :-

All the given Options are correct.

* Ry mfAea e

[Option ID = 14179]

57) As per ‘The Code on Wages, 2019", at what rate, an annual minimum Bonus is

payable to an employee, who has put in at least thirty days wark in an accounting
year?

G dfod AUFEE, 2019" & IER, 60 & R UE HHan & alite g 9w
4%, oo TH o AN d $H U HH O o @1 1ha1 o7

[Question ID = 11046][Question Description = Q57_APO_PA_NAIRAUG4]

Five and one-third percent of the wages eamed by the employee or one hundred
rupees. whichever is higher.

gﬂﬁ@m 3ffeld Heigdl @1 Ui 3k Uo g Hia=id 91 Us 41 wud, o Hi 3ifie
I

[Option ID = 14181]

Six and two-third per cent of the wages eamed by the employee or one hundred
2. rupees, whichever is higher

AR G 3ol Holgy! &1 : 3% ql-igls W= a1 Ue |1 $ud, 5 Hi it 6l
[Option ID = 14182]

Eight and one-third per cent of the wages eamed by the employee or one hundred
3, fupees, whichewver is higher.

FHAN gRI Hfod Tugd &1 18 3R TH-faels uiawa a1 0 91 o9, o ot it
il

[Option ID = 14183]

4. Mone of the given options is correct

feu T fEweal 09 12 i v g 8
[Option ID = 14184]
Correct Answer :-

Eight and one-third per cent of the wages eamed by the employee or one hundred
rupees, whichewver is higher.

HUa gR1 fa gugd &1 18 IRt g ufawd o1 ue 9 o, & ot e
il

[Option ID = 14183]



58) As per the Industrial Relations Code, 2020,
" AT HeY HigdT, 2020" & TUR,

(i) there shall be a negotiating union or a negotiating council, in an industrial
establishment having registered Trade Union for negotiating with the employer
of the industrial establishment

‘;‘méﬁ' g AT wiasH H, e uiawe & Faee & I
T o Tl Ueh SToa i Oy 1 Siedig Uieg ge

(i) If more than one Trade Union of workers registered under this Code are
functioning, then, the Trade Union having ...... or more workers on the muster
roll of that industrial establishment, verified and supporting that Trade Union
shall be recognized by the employer, as the sole negotiating union of the
workers.

ofg 20 Ot & offa doliea sl s ue Y s e afmsd R
T i UiqgF & BRI da O ) i@ HiE! ar ¢8 @I,
AAHR GG & S 9 e g’ Ao S|

Fill in the blanks with the CORRECT choice.
oo @Al &1 9g ! fomeg 4 4|

[Question ID = 11047][Question Description = Q58_APO_PA_NAIRAUG4]
1. 5%

[Option ID = 14185]
2. 33%

[Option ID = 14186]
3. 25%

[Option ID = 14187]
4. MNone ofthe given aptions is correct:

| Ruw eewide e fiws gl g
[Option ID = 14188]

Correct Answer :-

® 51%

[Option ID = 14185]

59) Which of the following is/are NOT CORRECT with regard to Railway Servants
(Hours of Work and Period of Rest) Rules, 20057
¥ Yad (F & He 3R Ay #1 3@ Fom, 2005 & ddy | Hgfa@a d 9 &m
TR BYA I51 5 /o7

|. The standard hours of duty for Intensive category employees is 46 hours per
week.

ST WHTE 4UT o SHANNG] & [T Sge) & A UE Wi Wae 46 9C 5

Il. The standard hours of duty for Continuous category employees 1s 48 hours a
week.

R FERl 401 & el @ fou 7 & 3 U uid 9wig 48 93|

Ill. The standard hours of duty for Essentially Intermittent employees is 48 hours
a week

AW EY Y HIgd dHaNd| b (670 Sgc| & A ue Ui Yaiis 48 9 gl
IV. Railway servants posted to work in Essentially Intermittent employment at road-

side stations and provided with residential quarters with 0.5 Kms, need to work
24 additional hours per week.

TS (B IR & CIA IR 3EWd ¥4 § fiwite IeRR & fou d9 w@d
HHaEl @, [T 0.5 Fare & g 5 HERE H1ek gae H¢ T 3, Wi
TwE 24 Aftivad 9 H1F S dadi ol

[Question ID = 11048][Question Description = Q59_APO_PA_NAIRAUG4]



1. Option | only
] faded |
[Option ID = 14189]
5. Option IV only
Thac [aeped IV,
[Option ID = 14190]
3. Option | &1V only
thad fdeed | T IV
[Option ID = 14191]
4 None of the given options is correct.

fer e ol 4 ois i we 7818l
[Option ID = 14192]

Correct Answer :-
Option | only
dad famed |

[Option ID = 14189]

60) What is meant by 'Split Duty’ as per the Railway Servants (Hours of Work and
Period of Rest) Rules, 20057

aia%ﬁg?aﬁ{aima‘s wie 3R faym &1 2@fi)) o, 2005 & SFER TR St 9

I.  Thedutyis in two or more spells.
gg oy ol 91 3fiu® Halugi §ia g1

li. The intervening breaks each will be half or more hour, necessitated by
exigencies of work.

ot 7 oo aret sp SiME T 9 HfEie e & ol S ol afFardars R
HGTGD 51|

1. During the intervening breaks. the employee is freeto leave his place of duty
WS HAHY G G, FHAR W PERE B e @ [ Ead ol

Iv. Intervals for rest and meals shall be considered as breaks for the purpose of
‘split duty.

fagr 3R e @ ofRTer o) LT Se) & waler @ o EeT ST wme|

[Question ID = 11049][Question Description = Q60_APO_PA_NAIRAUG4]
All the given Options are correct.

B A e T e e

[Option ID = 14193]
, Option |, Il &Il are only correct

' thadfaedd | |1EE Il 98l B

1

[Option ID = 14194]

Option I, 11l & IV are only correct

> thaa fa@ea |l Il T8IV |81 5 |

[Option ID = 14195]
Mone ofthe given options is correct.

* Rue ReeiHA S T

[Option ID = 14196]

Correct Answer :-

Option |, Il & Il are only correct

Had [gedd |, |1 T2 |1l T )

[Option ID = 14194]



61) Which among the following information NOT exempted from disclosure under Right
to Information Act, 20057

Feffan g8 oF O e o Afier e, 2005 & old vedisw g ge
W -Te] 82

I, Information, disclosure of which would prejudicially affect the sovereignty and
integrity of India, the security, strategic, scientific or economic interests of the
State, relation with foreign State or lead to incitement of an offence.

T FT, o U § YR @] 9HYAT AR 3RESl, T & GeaT, SN,
ﬁmﬁﬁim it fgal, foast Tog & vy Seul 9% wiiga uyTE g9 a1 fadl
IR T FeTE e

II. Information including comnercial confidence, trade secrets or intellectual
property, the disclosure of which would harm the competitive position of a third

party, unfess the competent authority is satisfied that larger public inierest
warrants the disclosure of such information.

Ao fym, Wlﬁwm%@ﬁmﬂ%ﬁ&ﬁw forgd yedimeo g
g Uy &) wideuies [id &1 969 Ug, 94 od 16 940 WieR] 59
1a § SP A 6l b SIS Fravi-® fod o UHI S B Uhe bRy 1G85 ol

Il Information avallable to a person in his fiduciary relationship, unless the

competent .authority 15 satisfied that the larger public interest warrants the
disclosure ofsuch infarmation

ferdfi cafdt o) Gd awaliRe ANl H SUdsd GO, O G (6 GEHwbSR
g;ra]ﬁ@l?iqg 9 31 i saue wEaieE Ba @ U9 a1 & Uec @ AeRaH
[

IV Information which would impede the process of investigation or apprehension or
prosecution of offenders.

Ul g o o, TR 1 <raafa o SiiEae &) uitean | ain 9w &8

[Question ID = 11050][Question Description = Q61_APO_PA_NAIRAUG4]
1. Option | &IV only
thad [deed | TE IV,

[Option ID = 14197]
5 Option [l &1l only
" Hadfaed I TE L

[Option ID = 14198]
3. Allthe given Optians.
Fifeu e fasea.
[Option ID = 14199]
4, MNoneofthe given options is correct.
feu o el 9 &1 1 9e1 76l o

[Option ID = 14200]

Correct Answer :-
None ofthe given options is correct.

feu e Rl d S o Mol Ei e

[Option ID = 14200]

62) section-7(2) of the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act (POSH Act), 2013, the Chairperson and every
Member of the Local Committee shall hold affice for such period, not exceeding

, from the date of their appointment as may be specified by the District
Officer.

ofeaist &1 erwE ©w dfe Sdes @eu, uiimy ud e afifae
(tﬂ_aﬁ_w.qa HfEfm), 2013 B YRL7(2) & ATER, VHY Gl o1 gy AR
U TeW, o0 g Sl ake d . T ffts g1 U el & fu g
YRUTHT ST T fore 2ifter g Ay i s o g1

[Question ID = 11051][Question Description = Q62_APO_PA_NAIRAUG4]

1. Two years.
FEE



[Option ID = 14201]

, Three years.
GiERIG]!

[Option ID = 14202]
Four years.
| AR |

[Option ID = 14203]
Mone ofthe given options is correct.

| e fapei 4 o1% i adi i el

[Option ID = 14204]

4

Correct Answer :-

Three years.

Gisksd

[Option ID = 14202]

63) s per Section-12 of the Sexual Harassment of Women at Workplace

(Prevention, Prohibition and Redressal) Act (POSH Act), 2013, the Internal
Commuittee or the local Committee, as the case may be, on & written request made
by the aggreved woman, during the pendency of -an Inquiry, may recommend
which of the following to the employer?

Tfgensl & HERE W OF Sdisd RiedE, 8y 3k fFarm) fif=gg (posH
ffTm), 2013 P URL12 & SFER, Al it g1 G arik, s 8 T
. WTg & e e & G difga Aiger en e e fafad iy w e &
Fefafaad g Rl s e 37

| To transfer the aggneved woman or the Respondent to any other workplace,
ditsa aig 31 uidard] & [l 3/ S U NG S

IL To grant leave to the aggrieved woman up te a period of three maonths in
addition to the leave she would be otherwise entitled:

fifgaafea ® SUs SUUTTHeR SaHrE & Afiad o a8 B Ed a5
T HHTY WS HT.

lIl. To grant such other relief to the aggrieved woman may be prescribed.
Uife AigeT @1 2= et e S o 1ag WayT fegr s S gl

IV. To transfer the aggrieved woman only and NOT the Respondent to any other
workplace.

Had Uifea giear &l 3l fed! o/ erfed R eyEahs fea s, afiard)
Wl ol
[Question ID = 11052][Question Description = Q63_APO_PA_NAIRAUG4]
1. Option |, Il & [Il only
Had famed | || TE I
[Option ID = 14205]
5 Option II, 1l & IV only
Fad [aEeg |l N Td v

[Option ID = 14206]

3. Allthe given Options are correct.

| RummiiRea el

[Option ID = 14207]
Mone of the given options is correct.

“ Rum ReEY e e
[Option ID = 14208]

Correct Answer :-

o Optionl, Il &Il only
g famed | || TSI



[Option ID = 14205]

64) As per Section 2(d) of the Industrial Relations Code, 2020, which ofthe following
isfare CORRECT with reference to the term "average pay"?

SMIRTe Hael Tig, 2020 BT 4T 2(S) & THR, 30 do- Yea & HeH o
R R R AR R N

L In the case of monthly paid worker, in three complete calendar months;
i o 9 aTe FHERl & grEe J, O U s EgEi g

I In the case of weekly paid worker, in four complete weeks;
YiEige Y ard sHal & gga 4, aR @l gws

118 In the case of daily paid worker, in twelve full warking days. preceding the
date on which the average pay becomes payable.
@ SaA O A SHAN & AHa H, ANd oad gg g Bl aeE 8 dgd &
TRg It ) figagi )

V. If the worker had worked for three complete calendar months or four
complete weeks or twelve full working days, as the case may be, and where
such caleulation cannot be made, the average pay shall be calculated as the

average of the wages payable o a worker during the period he actually
worked.

g 4t 4, guifesfd, & uol Selvse g/ 77 91 9ol 9wGis 91 9ke 9o @
Gag ®E g B, 3R oel Wﬂﬁﬁﬁiﬂﬁﬁ% a5l Siga aoA &l
IO 39 Ha[e @ SN H® B oF Gugdl & 80 & & H &) wre, ey
T e &y [ gl

[Question ID = 11053][Question Description = Q64_APO_PA_NAIRAUG4]

Option |, 11 & |1l only.

" HadlaeEd | 1T

[Option ID = 14209]
Option 1L, 11 & IV anly
adfaeed || I g IV

[Option ID = 14210]
All the given Options are correct

fou e oMi iSeeg w6

[Option ID = 14211]
None ofthe given options is correct.

R Feaidd o fiad i

2.

[Option ID = 14212]

Correct Answer :-

All the given Options are correct

Frm i GEm ae 5l

[Option ID = 14211]

65) \Where in any case, a Tribunal or a National Industrial Tribunal by its award

directs reinstatement of any worker and the employer prefers any proceedings
against such award in a High Court or Supreme Court the employer shall be
liable to pay which of the following to such worker, during the period of pendency of
such proceedings in the High Court or Supreme Court, if the worker had not been
employed in any establishment during such period and an affidavit by such worker
had been filed to that effect in such Court?

gl ol | o, e a i e - R gR fedl
i 5ifi1es 1 SgT B @1 Fa% ool g SR (gl 9= gy 91 Sead g o
t folr &[G o erldd a8, Faem o 4ibe ®f, 9w agmg a
ToaH IEEd § U4 Sar & dten o1 @ @iy & oNe Haiaiad J 3 9l
I @3 & o Soeardl g, Ife e G @i & G fohdt ot ufose &
e et u ofik U 4fies gR1 99U ey § OF TYTE &1 UH gam-igl ek e
RIERI I s

[Question ID = 11054][Question Description = Q65_APO_PA_NAIRAUG4]



50% of the wages last drawn by the workman, inclusive of any maintenance
1. allowance admissible to him.

HHEN] g1 SiiaH SR U gl $150%, e 99 &g wRu-gee U i a5 |

[Option ID = 14213]
75% of the wages last drawn by the workman, inclusive of any maintenance
2. allowance admissible to him.

HHAR G T TR U Hergd @71 75%, orad 99 &7 wRu-dir ww H wiEe 2

[Option ID = 14214]

Full wages last drawn by the workman, inclusive of any maintenance allowance
3. admissible to him.

HHAN] g1 3 IR UG 0 a0, o 9u oF HRU-ONH i anEe g

[Option ID = 14215]
4. None of the'given options is correct.

- fum el U wE diwg =g
[Option ID = 14216]

Correct Answer :-

Full wages last drawn by the workman, inclusive of any maintenance allowance
® admissible to him.

HHAN] gRI 3 IR UG 0 a0, o 99 oF HRU-ONu YR i e g

[Option ID = 14215]

66) As per Section-89 of the Industrial Relations Code, 2020, which of the following
isfare CORRECT with reference to Workman NOT entitled to compensation in
certain cases?

e Hely Higa], 2020 B YRI-69 & SFI9R, 8 HEel H 61 Gafiast & sHar
IR & HagH ﬁﬁaﬁ!ﬁaﬁﬂaﬂam@ﬂﬁ%ﬁ

L If the workman refuses to accept any alternative employment in the same
establishment from which he has been laid-off, or in any other establishrment
belonging to the same employer situated in the same tawn or village or
situated within a radius of eight kilometres from the establishment to which he
belongs. if. In the opinion of the employer. such alternative employment does
not call for any special skill or previous experience and can be done by the
worker, provided that the wages which would normally have been paid to the
worker are offered forthe alternative employment also,
gig SHGR U UiigE H, 58 U 94 18 ¥ Haral 7™ 8, 41 941 g &
o5l o vfoeE | o 98 R a1 e | [RE § 1 9% uiaEE E 218 feaEie
@ aRiu A &, o a5 wefia §_ @ deitds IR WieR B 4 SR
Fel §, Oy Faes @ g F U deie A9k e ey e oo
YT I O 81 Pl § HR HITR 311 foeg] o Gaenl 5, 9994 o
WO BITR &1 & S| §, 98 dobied Qe e (o8 Hi gl Wil &,

Il. If the workman does not present himself for work at the establishment at the
appointed time during normal working hours at least once a day;
gfe HR 67 4 9 4 $F U aR 9H- &1 Uel & aF FHog 999 0%
fsT H T & fere Sufea el gl g;

Il If such faying-off is due ta a strike or slowing-down of production on the part of
workers in another part of the establishment.

ofg o el ufaem & e o Y d 4 &1 R G gsaa 9 saea |
i & PRUEs ol

[Question ID = 11055][Question Description = Q66_APO_PA_NAIRAUG4]

1. Option | &Il only.
dad fawed | AR 1|

[Option ID = 14217]
Option 11 &1l enly.
Fad faea Il TS I

[Option ID = 14218]



All the given Options are correct.

" e g fimea wEi B

[Option ID = 14219]
MNone of the given options is correct.

feg e fament # oig 1w Tl T

[Option ID = 14220]

3

Correct Answer :-
All the given Options are correct.

' RumwhReaadd

[Option ID = 14219]

67) Which of the following is/are CORRECT about the Section 70 & 71 of the
Industrial Relations Code, 2020, viz a worker, who was employed in any industry

and has been in continuous service for not less than one year under that employer
shall not be retrenched by that employer, in which of the following circumstarices?

e gy EiEE 2020 FT YR 70 AR T F R TR Y e g EE
TEI BE, Ut U 4T, o fre Sa o sra o1 R 9F Frole & o suE
HH TP 9y qo (Heor 9a1 | 391 o, 39 59 Hoiqar g9 efaaa o © g offafa o
T M e

1. Until the workman has been given one month's notice in writing indicating the
reasons for retrenchment and the period of notice has expired, or the worker
has been paid wages in lieu of such notice.

T 0 (& HHAR] B S| & HRYY ] gl gY Ua Hoi- Bl [arad Aled g
e o © iR Aifew @l 2 wa el ol Skl o, 91 dHaR| &1 th Al &
Tgel | Ougil 1 YA 61 B¢ [Ga1 o1 gl

It. The worker has been paid, at the time of retrenchment, compensation which
shall be equivalent to fifteen days' average pay, or average pay of such days for
every completed year of continuous service or any part thereof in excess of six
months.

e & THG HHERI & Wi BT YT har T § S dag A & A a
o G¥eE I 41 AR Gl & Wedds Ul 99 91 S5 Hoid 4 3t & b [hHl
HT o e U ferf & fiea dod o sTs g

Ill. Motice has been issued in such manner as may be prescribed is served on the
appropriate Gavemnment or such authority, as may be specified by the
appropriate Government.

ey v S @ ol fea T & i e iR e s awar g, aun
FRER AT G W1 i iR fobgr 7 g, e fob FgiEd Ter g i
o gHar s

v, Where any worker in an industrial establishment whao is a citizen of India, is to
be retrenched and in the absence of any agresment between the employer &
the worker in this behalf, the employer shall ardinanly retrench the worker who
was the last person io be employed in that category, unless for reasons to be
recorded the employer retrenches any other worker.

gl [ e ufawm o [ 02 yite &, & URa &1 e §, del @)
Sl 5 3R 59 Seu H e 3R yfte & dig el sox s femn, e
T 99 4t & g B w1 oF U | Haifea s g st sfda
wﬁamﬁﬁﬂwmmﬁﬁ@aﬁmmﬁﬁwﬂﬁﬁ@m%aﬁm
EEagei

[Question ID = 11056][Question Description = Q67_APO_PA_NAIRAUG4]
1. Option | &1l only-
dad fdeed | 3Tl

[Option ID = 14221]
5 Option [l &1l only_
" Hoa e

[Option ID = 14222]



All the given Options are correct

¥ R e

[Option ID = 14223]
Mone ofthe given options is correct.

" feu T famedi 2 s Wi wdl el

[Option ID = 14224]

4

Correct Answer :-

All the given Options are correct

R fAequegis
[Option ID = 14223]
68)

PROHIBITION OF EMPLOYMENT OF YOUNG CHILDREN

R CEEINCAE A e G IR RLES

As per ____.of the Factories Act, 1948, no child who has not completed his ...
year shall be required or allowed to werk in any factory

SR AT 1948 BTURT & fediiea o fogn___ad
ol foeml &, ool M oRaH § ©1H & &1 21a99dal Jo! ol 91 94 U] & &l
A =g gl Sl |

Fill in the blanks with CORRECT options among the following:
FFafalad 4 9 w2l [dee g faad wm

[Question ID = 11057][Question Description = Q68_APO_PA_NAIRAUG4]

1. Section-66 & 18"
R1-66 U4 18911
[Option ID = 14225]
, Section-67 & 14t
¢RI-67 Td 144
[Option ID = 14226]
3. Section-65 & 178
&RI-65 T 171
[Option ID = 14227]
4. MNone ofthe given options is correct.
e el g S Higs T8 8|

[Option ID = 14228]

Correct Answer :-

Section-67 & 14
YTRI-67 T4 1447

[Option ID = 14226]



69) cRECHES BrrE:

As per .. of the Factories Act, 1948, in every factory wherein more than ... __
women workers are ordinarily employed Creches shall be provided and maintained
N a suitable room or recoms under the charge of women frained in the care of
children and infants for the use of children under the age of six years of sueh
women

SR MR 1048 B YR @ AR Ude sREF 3, R amr
______________ ¥ i Tfeer 4fte PwRa 3. 9wt A% e @ deve ¥ g
niEarei® TyRH T aRael & 58 a8 § BT A & g9) & SUgrTS o SugEa
B T B TR & GRS AT S 9] REaTg [ S|

Fill in the blanks with CORRECT options among the following
FefRead © wd fawead game e WA 4

[Question ID = 11058][Question Description = Q69_APO_PA_NAIRAUG4]

1. Section-48 & 30
§IRT-48 3 30.

[Option ID = 14229]
Section-49 & 45.
YT31-49 3T 45,

[Option ID = 14230]
Section-47 & 50.
#TRT-47 2 50.

[Option ID = 14231]
Mone of the given options is correct.

e fadhedl H4 H75 Hiwg Tl ol

4.

[Option ID = 14232]

Correct Answer :-

Section-48 & 30
§IRT-48 3 30.

[Option ID = 14229]

70) As per ... of the Factories Act. 1948, any factory, which contravenes any of the
provisions of the Factories Act, 1948 or of any rules made thereunder or of any
order In wrting given thereunder, the OCCUPIER and MANAGER OF THE
FACTORY shall each be guilty of an offence and punishable with imprisonment for
aterm which mayextendto ...... ar with fine specified or with both.

BRG] UG, 1048 B YN .. & HIHR, TG Bl5, SR HREHE AT,
1948 1 34 1 =7 e ol fFog o1 g9 anfi fou T fedt e emew &
Tordll FUsley BT Seide DAl 7, o DRI @1 AU R Wt Ui JRIY B
g AN e T I {ald & STy J1 [dHiey S+ 41 oFf ¥ gitsg
g o w1

Fill in the blanks w'rEJ_'z CORRECT options among the following:
e o« w3l famed T9e Raa =AW

[Question ID = 11059][Question Description = Q70_APO_PA_NAIRAUG4]

Section-94 & Thiee years
HT41-94 SR T T4

[Option ID = 14233]
. Section-91 & Fnu; years
YRI-91 Td TR aN

[Option ID = 14234]
Section-92 & Two years
IR1-92 AR 5l 9y



[Option ID = 14235]
MNone of the given options IS correct.

o faeaidu or Hivg Ticl
[Option ID = 14236]

Correct Answer :-

Section-92 & Two years
Y1192 R el ay

[Option ID = 14235]

71)  As per the Industrial Relations Code, 2020, which of the following Acts shall NOT
apply to the registered Trade Unions?

it Gee wfedr, 2020 & oER, FERRATH ¥ @H g dsiedcs
YT TR AR gl gIN?
I. The Societies Registration Act, 1860.
raract Usiteo ffae, 1860.
Il. The Co-operative Societies Act, 1912

BN 9iEfd HUFEE, 1912

Iil. The Multi-State Co-operative Societies Act, 2002
Tg-2ed Ged i) gidfd fEiEgE, 20021

V. The Companies Act, 2013
Hu] AT, 2013,

[Question ID = 11060][Question Description = Q71_APO_PA_NAIRAUG4]
1. Option I, 1l & IV only.

Shad fgeed ||, Il gd 1V

[Option ID = 14237]

Option | & 11 anly

a Had [a@ed | AL

[Option ID = 14238]
3. Allthe given Optians.
i few e faeed.
[Option ID = 14239]
Naone of the given opfions is correct.

" Rue ety & Wiad adT e

[Option ID = 14240]

4

Correct Answer :-
o Allthe given Options:
i feu e fageg.

[Option ID = 14239]



72) \which among the following is/are CORRECT about the Centralized Public
Grievances Redress and Monitoring System (CPGRAMS§)?
frrafal@e = 4 &iF Q1™ Sy dsia did R fFarer iR FRr s
(CPGRAMS) & SN H TEl 8/5?

|- Itisan online platferm available to the citizens 24 x 7 to lodge their grievances
to the Public authorities on any-service delivery

75 A & fg 5 o S fm ® edeRe sietdl & eny oo
da gl DA & AU 24x7 SUGe Uob SHAagA Hd g
Il. A Government servant using this portal for submitting representations on any of

his service related grievances, by-passing the prescribed channel of
communication, is liable for diseiplinary action.

e oiE e saail I aar gl o R & foau Ruifasaraaa
B CRIGAR PR 58 UIEa BT SULN DIl 5, Ol IHD RaaTh H{UrE-IHS Hay
@ A HE

Il Anyene interested in seeking information under Right to Information Act, 2005,
can use this portal.

:}Iﬂﬂﬁﬂ ST AT, 2005 Tod AFHRI UG Hi- J o/ - e dig
ik U Uied Bl U R Hebell 6

IV. Anyone can send system improvement suggestions fo various authorities
through this portal.
s Hi ofad 39 Uled & Te Y it mitson &) gond gyR Sed g3mE v
FHaAgl

[Question ID = 11061][Question Description = Q72_APO_PA_NAIRAUG4]

1. Option I, Il &IV only
Thad [admed | Il T IV,

[Option ID = 14241]

Option |, 11 & |1l only.
" had faEed |, [T Il

[Option ID = 14242]

3, All the given Options.
i fu e faseq.

2

[Option ID = 14243]

Mone of the given options is comect

| e fewei HY B1% Wi wE T B

[Option ID = 14244]

4

Correct Answer :- Deleted



73) Which among the following is/are NOT CORRECT about the LEGAL
INFORMATION MANAGEMENT AND BRIEFING SYSTEM (LIMBS)?

HH] Ga1 YEuE IR ST wore (UMBS) @ eR J FefafEad § @119 9rE sy
ol ol ole?

I. LIMBS is-an innovative, easy to access online tool to monitor the court cases.
on 24x7 basis in a more transparent, effective and proactive manner during
the entire life cycle of a litigation.

TAHETAETS U A9, SUEH A o Zd o Sl GPeH & gL Sias
qH & G HUE gReRl wHET 2 Oiey T 24x7 YR 9% @]
a1 RE S o

Il. Users of one Ministry/Department can transfer cases to other users of same
Ministry/Department or to the nodal officers of other Ministries.

TS SATE/ AU & SUEIIGd Higd & Gul HATad/ YT & 3 SUnTEd i
1 2 AT & AT PGl & WHiaRT & Hbd o |
. It can be used for Court cases only and NOT for Arbitration Cases.
%ﬂ%méﬁawm%mﬁmmw%, TR oI &
50

V. Advocate can login their accounis, enter the details like hearing dates and can
raise bills through online:

FEPIT AT HHTIC H QNS B2 Tt 5, G7alg o] TRiE oY [aasv 59 By
TP & AR Aag- AegH © fae vea oL Sda 8|

[Question ID = 11062][Question Description = Q73_APO_PA_NAIRAUG4]

. Option Il only
dad fawe .

[Option ID = 14245]
Option lIl only.

Had b il

[Option ID = 14246]

Option IV only.
Sad [dead V.

2.

3.

[Option ID = 14247]
Mone ofthe given options is correct.

o e el d4 o i Tl

[Option ID = 14248]

4.

Correct Answer :-

Option lIl only.

Haa by il

[Option ID = 14246]

74)  \Which among the following is an online system, which enables Railway employees
to view their Personal Bio-data, Service & Pay related particulars, such as Salary
details, Provident Fund / NPS details, Salary related loans & advances, Income-
Tax details, Leave and Family details, efc

FeffEa o @ aE-uoe g, S <ad sHglal @i 0 e s

ST, Ha1 3R gaq dall faawn, o 9o e, wits i) vrdics faaw, 909 9

;aﬁf%}a%mahw@ﬂ, TR faaRY, 1 iR ufaR o faawor anfe 39 Huem
|

[Question ID = 11063][Question Description = Q74_APO_PA_NAIRAUG4]
1. UMID

[Option ID = 14249]
2. RESS

[Option ID = 14250]



3. HR-MIS

[Option ID = 14251]
Mone ofthe given options is correct.

- T et {3 ol Wiec Telol

[Option ID = 14252]

4

Correct Answer :-

® RESS

[Option ID = 14250]

75)  The maximum period permissible for a Railway employee for reterition of Railway
guarters on payment of normal rent, on various reasons, are furnished below.

faftmeru Y s e s TR Idd 13 I S0 30 & ol 3ad HAN]
@ foe 2 e e T f 8

Match the Grounds CORRECTLY with maximum retention period permitted an
normal rent.

HIET (B OR A A aH HTURY 18 & 1Y TSS HTE5! 5 e

Sl Grounds Sl. | Maximum retention
No. TSE No. |period on normal rent|
FO 7O wEmfeam
|. HfUFad JEUR
Iafy
(a) |Training in any Railway / Mon-Railway (i} |180 days
Training Institute 180 2=
el i Ye AR Yo nie SR H
WiRIET
(b} |Cn leave including on Extraordinary Leave | (i) [Sixmonths
ITEROT TS Tl HTHTY TR ETREi
(C} |Leave preparatory to retirement (if) [120 days
HaTgr @1 TaRl oy SEeE 120 &
(d) |Study Leave and in ocoupation of entitled (v) [Full penod
accommodation tﬂﬁ 3Gy
T AGHTE IR Bl A THER Aar &
FUEMER WSl

[Question ID = 11064][Question Description = Q75_APO_PA_NAIRAUG4]
1. (a): (u); (b): (i), (C):(iv): & (d): (iii)

[Option ID = 14253]
2. (&) (i); (b): (v), (C): (i) & (d): (n)

[Option ID = 14254]
3. (a): (iv); (b (ii); (C): () & (d)- (i)

[Option ID = 14255]
None ofthe given options is correct

BT fgmel 44 wig Hiwgl 72T

[Option ID = 14256]

4.

Correct Answer :-

e (a): (iv); (b): (i), (C): (i) & (d): (i)-

[Option ID = 14255]



76)  Low many days a Railway employee is entitled for Special Casual Leave in a

calendar year to participate in Cultural activities like Drama, Music and take part
in Inter-Railway, Inter-Divisional competitions?

Y SR e, S S SRR RS 4 R e,
dew ufciifars € ur o4 & [0 v dedsz a8 | fbad 1341 & fagiy el
TR I TP o7

[Question ID = 11065][Question Description = Q76_APO_PA_NAIRAUG4]
1. 50days.
508
[Option ID = 14257]
5. 45 days
45129
[Option ID = 14258]
3. 30 days.
30 f&.
[Option ID = 14259]

4. None of the given options is correct

fen T fameai H Y o iad T B
[Option ID = 14260]
Correct Answer :-

o 40 days.
30 A,

[Option ID = 14259]

77) How many days a Married Female Railway employee is entitled for Special Casual
Leave for undergoing Tubectomy operation 15 time, puerperal or non-
puerperal?

e fa1ida afgen 199 BHar o UHeud 91 TRUaUd, Ugdl 9 SEae ! AfReH
e & fod foeeH ot o1 sy ansitae age™ urd o o e e?

[Question ID = 11066][Question Description = Q77_APO_PA_NAIRAUG4]

Mot exceeding 14 days.
14769 9 2GS T

[Option ID = 14261]

Not exceeding 15 days.
15 1§39 9 3@ =gl

[Option ID = 14262]
3. Not exceeding 20 days.
20 fe ¥ i ==l
[Option ID = 14263]
Mone ofthe given options is correct.

" ey Aeeai Y wis i vl 6l 8

[Option ID = 14264]

4

Correct Answer :-

Mone ofthe given options is correct

* Ry ey e

[Option ID = 14264]



78) in the waiver of recovery of excess payment made to Government Employees. up
to what amount, Ministry of Railways (Railway Board) can waive the recovery
of overpayment in the case of each individual with the concurrence of Member of
Finance and approval of Chairman & CEO, Railway Board?

GeHR] Hrare @ fhu e e 7 &I ayel H P & HHG H, o Hag
(Y000 919) (a0 Taw S Fgdid 741 ¥0d 918 © ey u8 W3l & rHiaT d S
wafdy ds ATEe  faraei ik oo St Yia &1 agd] J < § 9 o?

[Question ID = 11067][Question Description = Q78_APO_PA_NAIRAUG4]

1. Rs 200,000/

[Option ID = 14265]
2. Rs. 300,000/

[Option ID = 14266]
3. Rs 5.00,000/-

[Option ID = 14267]
None of the given options is correct

* Rum R iy ek ad e
[Option ID = 14268]

Correct Answer :-

¢ Rs 200,000/

[Option ID = 14265]

79)  For recruitment of Sports persons against Sports Quota through Talent
Scouting, Sports person need to undergo Trials.

Uiy G & AegE © Wd ST & St A sdl @f Hadl & fon f[@artedl ol gha 9
TSRAT BT

In which of the following circumstances, a Sports person NEED NOT undergo the
Trials?

Fofeiae 4 9 fow ohRR 4 Bl s o caa I qere sews =8 82

[Question ID = 11068][Question Description = Q79_APO_PA_NAIRAUG4]

When a Sports person obtained up to third position in the individual event in the
Senior National Championships, concluded within last six months.

o felt faanst = ad o o & Hir o g3 Wi g IR § sfdama
el 7 dRRT = un gl

[Option ID = 14269]
When a Sports person obtained up to third position in the individual event in the
Senior MNational Championships, concluded within last one year.

b o el fRaret 3 fiod e ad & iy Suw 5% SR T Staerm § st
e 7 oew = U fHar gl

[Option ID = 14270]

When a Sports person ebtained up to third position in the individual event in the
3. Senior National Championships, concluded within last eighteen months.

o fedt faardt = Oed sore #gH! & Wi dum Wi wfly dtgafm o
wafaarTd Tt & TR = und A

[Option ID = 14271]
Mone of the given options is correct.

e e B S AR

[Option ID = 14272]

Correct Answer :-



When a Sporis person obtained up to third position in the individual event in the
Senior National Championships, concluded within last six months.

" e et et 3 e o T & oy S g2 R g SR § wfeea
wef 7 dRRT ®i v e

[Option ID = 14269]

80) What is the minimum educational qualification prescribed by Ministry of Railways
for recruitment of Sports persons against Sports Quota for direct recruitment to
the post of Technicians?

FH-1EET & Ug W) G udf & o g9 o & iwie Reafsl o il & e @
ey g RuRa <mer et drga s e

[Question ID = 11069][Question Description = Q80_APO_PA_NAIRAUG4]

Course completed Act Apprenticeship / [T1 only
oqel Tae HUTCHIRT / HTSe| TS UTeumd O3 fea T &l

1.

[Option ID = 14273]

5. 10" standard pass
109] HETTH
[Option ID = 14274]

3. 12" standard pass.

1241 HETUH

[Option ID = 14275]

None of the given options i1s cofrect.

fu e faweaf 0Y o8 Wiad =1 2

[Option ID = 14276]

4.

Correct Answer :-

o 10™standard pass
109 HEHTTH

[Option ID = 14274]

81) How many days of Special Casual Leave (SCL) maximum granted to talented
players under Railway's Centre of Excellence (CoE) Scheme?

¥d B Gyl i (S1H1S) Fiem @ ded Uiyl il ® Hiuhay e
o o e 2o fe e (wadive) e a7
[Question ID = 11070][Question Description = Q81_APO_PA_NAIRAUG4]
365 days.
365 far.
[Option ID = 14277]
2. 345 days.
345 e,
[Option ID = 14278]
3. 930 days.
330 faT
[Option ID = 14279]
Mone of the given options is correct.

* R e 19 B Mg TE R

[Option ID = 14280]

Correct Answer :-



330 days.
330 feq

[Option ID = 14279]

82)  \What are the sources of funding for Staff Benefit Fund (SBF)?
HEAN] o0 MY (THEUE) & kST & |id 1?2
I. Annual grant on the 1 of Aprl of each Financial Year from the Railway
Revenues on per capita basis based on the sanctioned strength of
non-Gazetted Railway servants, both permanent and temporary as on 315
March.

TeE fan 9 @ Tgel ofia @i wid aue 9 wit g SMYR W ate
e g1 9 g, S 31 O a8 G AR R S UBR
SRTSIET ¥o7d BHE] & S U el

Il All receipts from fines
ST w94 =i

Ill. 50% of the expenditure incurred by the respective Railways on grant of
scholarships for technical education of children of Railway servants during the
preceding year.

el o & IR <oid HUTId] & g1 & 1| (9150 & (o1g BEgRI 4G
P X Gl <eid GIRT Y T S T 50% |

IV Unpaid wages fromthree years.
T a9 & YT el faeg T dae

[Question ID = 11071][Question Description = Q82_APO_PA_NAIRAUG4]

Cption | & Il only
drgd [ggeg | AR IL

1.

[Option ID = 14281]
,  Option |, I & IIf only
" Padfaeadl 1T

[Option ID = 14282]
3 All the given Options.
- fifeu T 9.

[Option ID = 14283]
Mone of the given options is correct,

feg T faseal 4 i3 Hiwg! 79131

[Option ID = 14284]

4.

Correct Answer :-

Option |, Il & Il only
wad e | 1 TF I

[Option ID = 14282]

83)  Which among the following *Head / Activity” was introduced latest in Staff Benefit
Fund (SBF) in the year 20227

FElaEa T g S 9 g9/ Toleid g6 2022 4 WH EHbe s (THEnsH) o
AT =9 9 g9 o T 41?

[Question ID = 11072][Question Description = Q83_APO_PA_NAIRAUG4]
Indigenous system of Medicine including Homeopathy

erTaef afee wouh fafdewm wome |

[Option ID = 14285]
Developing occupational skills for disabled Railway servants (Divyangjan).

2 Yo i s HEIRE! (RoaiTTe) & R0 s B e faa e S|

1.

[Option ID = 14286]



3. Fromoﬁon of Mental health and well being of employees.
Hraal & AT W Ud e Bl §g1ar el

[Option ID = 14287]
Mone of the given options is correct.

© fom T fameal §4 oig o w8 e B

[Option ID = 14288]
Correct Answer :-

Fromoﬁon of Mental health and well being of employees.
HHAIG! & AFe W Ud Hediv &) agra el

[Option ID = 14287]

84) Which among the following are CORRECT about the Negotiating Machinery
available in Railways?

00§ JUdsEa oF @ aN | FEiiaad 9@ H ey gl o7

|. If, after discussion between the Railway Board and the Employees
Federation, agreement is not reached on any matters of importance, such
matters may be referred to an ad-hoc Railway Tribunal which will be set up
for dealing with them at the centre.
g 3074 §1s 3R FHAR TgEY & 61 [agR-la09 & &g fddl Hgadg0 T
% WgHk 7e] 591 &, o U8 THal @i a6y Yerd GEfiesn & U o Sedl
g, &l g § G4 fHued & feorg wrfag fesar s |

Il. This ad-hoc Railway Tribunal will consist of an equal number of

representatives of Railway Labour -and the Railway Administration with a
neutral Chairman.

ol Yo U@ g I0d 49 3% Iod W o ST 9@ J uiame s
AUTS D] AL TR G

lll. Where the matters in dispute affect the workers under Ministries other than
the Railway Ministry, those Ministries need to be consulted.

gl faaifa amet Y@ daeg & ema o7 HATeagl o HHaG! o uuifag s
g, a5l 3 da7egl 8 guhE| fha) |1 Saegd 5l

IV. The decision of the Tribunal is binding on the Government
AR & i e O ST ER o

[Question ID = 11073][Question Description = Q84_APO_PA_NAIRAUG4]

Option'| & Il only.
" had fa@d | AR

[Option ID = 14289]

Optian [, 1l & I enly.

2.
Had amdd |, || T

[Option ID = 14290]

3 All the given Options.
- gifer e faee

[Option ID = 14291]
Naone of the given opfions is correct.

feu T ol H 9 &% g el 8
[Option ID = 14292]

Correct Answer :-

Cption [, 1l & 1l only.
Had la@ad |, I Tg Il

[Option ID = 14290]



85)  Which of the following is/are CORRECT with regard to presentation of Gold plated
Silver Medal to retiring Railway servants?

AT ad FHA B 7S S s [Yeas Hed UaH G- o gy | Hadad 5 9
FHEIE TR TE?

I, Weght: 20 gm
g 20 IH.
Il. Silver of 999 purity.
999 YgaT® Fal
. Diameter of medal 1%z inches.
UG drde: 1% 39
IV Emplovees. who seek voluntary retirement, are not eligible ta get this medal

S FHaR Wasd valan 98 o, 4 39 9ad & 8 UF gl o
[Question ID = 11074][Question Description = Q85_APO_PA_NAIRAUG4]

1. Option | &Il only.
thad faded | 3R Il

[Option ID = 14293]
) Option |, 11 & 1l onaly.
© adgedl 1T

[Option ID = 14294]

All the given Options.
qi e T fasen

[Option ID = 14295]
None ofthe given options is correct

N e e orar s ER R

[Option ID = 14296]

Correct Answer :-

R Option |, 11 & 11l only.
wad g@ed |, [Tl

[Option ID = 14294]

Topic:- APO_PB_NAIRAUG4

R In 7" Century AD, the rockcut temples of Mahabalipuram were built under the
patronage of which kings?

741 YaTed] £ ¥ HeTediqRE & g SieHd a9 e Hex! @1 Al e e &
e foa T U7
[Question ID = 11075][Question Description = Q01_APO_PB_NAIRAUG4]

Chola Kings.
T ST

1.

[Option ID = 14297]
2. Chera Kings.
CLETE
[Option ID = 14298]
3. Pallava Kings
Temid Il
[Option ID = 14299]
None of the given options is correct.

e fapedi 44 oig viws Toi el

4.



[Option ID = 14300]
Correct Answer :-

Pallava Kings
Teeld ¥l

[Option ID = 14299]

2) Brihadishvara Temple, Thanjavur was built by which ruter?

FEGIYT HIGR, TogY &1 FHI s WTHe = Hargl UT?

[Question ID = 11076][Question Description = Q02_APO_PB_NAIRAUG4]

RajaRaja Chola

" SR i

[Option ID = 14301]
Rajendra Chola-l

el Tid-|
[Option ID = 14302]

Kulothunga Chola-l

FArMER-

[Option ID = 14303]

MNene ofthe given options is correct.

* o e Y R 1 ad TR

[Option ID = 14304]

2

3

Correct Answer :-

RajaRaja Chola
HEINEIG ]

[Option ID = 14301]

3) Who among the following built the temple for the Sun God at Konark?

FafeRa o U forg= ®iomes 1 T4 Wiar & forg Hic @1 o s 417

[Question ID = 11077][Question Description = Q03_APO_PB_NAIRAUG4]
Marasimhadeva-l
TRi¥gca-

[Option ID = 14305]
Kirtivarman-|

lfciaH-|

1.

[Option ID = 14306]
Bhattaraka
HERE
[Option ID = 14307]
4. Mone ofthe given options is correct.
fGu g fawmai 4 &g Higs T8 8

[Option ID = 14308]

Correct Answer :-
Marasimhadeva-l

TRidgaa-

[Option ID = 14305]



4) Which ofthe following is CORRECT about Allaudin Khilji?

IS Eael AR H FERaa Y SR AT HY TR 5?
|, Introduced a permanent standing army and restructured the spy system.
Uch TITH] U1 & REHTd 1 1R W1 WoTTe| &1 GRiaH fdhar |

Il. Started the system of branding of horses and descriptive roster of individual
soldiers to inhibit corruption

YUFTHR S| Wder & To78 WISl U= g1 o7+ S Sidarg Qi &) aul-reds g
T B WO gE @ TR |

Ill. Banned social parties and wine.
I gifeat 3R 2" oR iy @ e

IV First Sultan to attack South India by sending his Confidante and General
Malik Kafur against the rulers of the south.

TIBIOT MR TR S{HHY DR AT WYH G, T 39 e SR S
TicTeh SHIPR Pl eV & ITHH] & [d0a Nl

[Question ID = 11078][Question Description = Q04_APO_PB_NAIRAUG4]

All the given Options are correct.

feum 9l e wgi B

[Option ID = 14309]

1.

. Options |, Il & I\ are only correct.

Haq faded |, Il B IV IR 5

[Option ID = 14310]
Options |, Il & IV are anly correct.

" tawfamed |, 1 T8 IV S8l

3

[Option ID = 14311]
4. Mone of the given options is correct.
feg e faseat 99 g Wi udl el 8

[Option ID = 14312]

Correct Answer :-

All the given Options are correct.

fee e oMl e T gl

[Option ID = 14309]

5) During the reign of which Mughal Emperor, British East India Company established
its first factery in India?
{9 a UHIR & eI & AN Hiew 5% SieT &uHl F§ uRa | e ggar
IR T fBa1?

[Question ID = 11079][Question Description = Q05_APO_PB_NAIRAUG4]

Akbar
ey

1.

[Option ID = 14313]
2. Jahangir
[Option ID = 14314]
3. Shahjahan
iy 8
[Option ID = 14315]

MNone of the given options is correct.

feuu ewidw s iadi =di g

4.

[Option ID = 14316]



Correct Answer :-

o Jahangir

BN

[Option ID = 14314]

6) Wha led the British East India Company to victory in the Battle of Plassey over the
Mawab of Bengal and his French allies?

IR @& G H S D Ad1d SR Sud i dgdiigl ux [9ey uE & fau @iem
% 55T Sl S fbgH i

[Question ID = 11080][Question Description = Q06_APO_PB_NAIRAUG4]

1. Lord Dalhousie
GIEEREE
[Option ID = 14317]
. Robert Clive
Jat gegd
[Option ID = 14318]
Warren Hasting

R BT

[Option ID = 14319]

3.

None of the given options is correct.
feumu Rl d e e a8
[Option ID = 14320]

Correct Answer :-
Robert Clive
Tae Telga

[Option ID = 14318]

7) In whose period, the Universities of Calcutta, Bombay and Madras were

established?
Sela, 9Ee A Had fayfagre g wrd J it gue?

[Question ID = 11081][Question Description = Q07_APO_PB_NAIRAUG4]
Lord Dalhousie
dls sdgtl
[Option ID = 14321]

2. Lord Rippan
dis R
[Option ID = 14322]

3 Lord Curzon
TS @l
[Option ID = 14323]

4 Mone of the given options is cormrect
faumu e 0y &2 Ui wg] 98 8l
[Option ID = 14324]

Correct Answer :-

Mone of the given options is comrect

* R Rew Y o ek ada



[Option ID = 14324]

8) Which among the faollowing is known as the Magna Carta of Indian Education?
TFafaaT O3 58 URda en &1 Su Sl Sl 95 82

[Question ID = 11082][Question Description = Q08_APO_PB_NAIRAUG4]

Charter Act of 1813
1813 19 A9

[Option ID = 14325]
2. Woad's Despatch of 1854
g5 &7 1854 F1 a9
[Option ID = 14326]
3. Hunter Commission
[Option ID = 14327]
None of the given options is correct.
feu T fameai 04 ol Y g9d 98l 6l

[Option ID = 14328]

Correct Answer :-

Wood's Despatch of 1854
g5 &7 1854 H1 fadg

[Option ID = 14326]

9) After returning from South Africa; which of the following Satvagraha was first
taunched by Gandhiji in India?
GIGITT 37RTeT ¥ elieH o dig Tidisl A Y H od Ugd & 91 9aie Y foar e

[Question ID = 11083][Question Description = Q09_APO_PB_NAIRAUG4]

1. Kheda Satyagraha 1318
TWEI Y, 1918

[Option ID = 14329]
Bardol Satyagraha, 1928

2.
TG GEvE, 1928

[Option ID = 14330]
Champaran Satyagraha, 1217
" O HEE, 1917

[Option ID = 14331]
Mone ofthe given options is correct.

i o i Sl eSS
[Option ID = 14332]

Correct Answer :-

Champaran Satyagraha, 1917
TR g, 1917

[Option ID = 14331]

10) Which of the following incident led Mahatma Gandhi to withdraw the Non-
Cooperation Movement?

FafataT oY g g & SR 98T e @1 2T e ags O USi?

[Question ID = 11084][Question Description = Q10_APO_PB_NAIRAUG4]



1. Kakori Episode
BRI THE
[Option ID = 14333]
2. Chaun-Chaura
a-aR
[Option ID = 14334]
3 Muzaffarpur
PR
[Option ID = 14335]
None of the given options is correct.

feu e famedl # ¥ @ig i wgl T

[Option ID = 14336]
Correct Answer :-

o Chaun-Chaura

AR

[Option ID = 14334]

1) Mahatma Gandhi gave the slogan 'De or Die' in which of the following movemenis?
e A Fefafead 9§ fog sigiem F &d g R &1 A fagrar?

[Question ID = 11085][Question Description = Q11_APO_PB_NAIRAUG4]
1. QuitIndia Movement

YRA B3] AT

[Option ID = 14337]

2. Civil Disobedience Movement

Hig=Y G Al

[Option ID = 14338]
MNon-cooperation Movement
EEan HEed

[Option ID = 14339]
Mone ofthe given options is correct.

| e faei 4 ®1% i adi i el

[Option ID = 14340]

3

4

Correct Answer :-

o it India Movement

HRA BIS! Ala@T

[Option ID = 14337]

12) The laws induded in which of the following Schedules are immune to being challenged in the court
an the groundsof inconsistency with the fundamental nights guaranteed by the Constitution of India?

EiaRaT J 9 fhd g | i Sl @1 URG & G g TR e
RIS T SR & YRR 3(5Tad & A el ol &l §ed 87

[Question ID = 11086][Question Description = Q12_APO_PB_NAIRAUG4]

8% Schedule

83T g

[Option ID = 14341]
2. 9* Schedule

odT e

1.



[Option ID = 14342]
10" Schedule

1047 g

[Option ID = 14343]
MNone ofthe given options is correct

" ey T fadedi HE s Wi wgl el o

[Option ID = 14344]

4

Correct Answer :-
g* Schedule

odT S

[Option ID = 14342]

13) Which of the following Arficle of the Indian Constitution provides for declaring
Financial Emergency by the President of India?

YA g diauE & FafafEd o € oF 9 aFsse Ykd & Apdid gy faTy surasdTe
1 YT & WU B 57
[Question ID = 11087][Question Description = Q13_APO_PB_NAIRAUG4]
| Aricle 360
3TE5G 360
[Option ID = 14345]

Article 359
3Tw5G 359

[Option ID = 14346]
Article 358

5T 358

[Option ID = 14347]
MNone of the given opfions is correct.

* o et e iR R
[Option ID = 14348]

Correct Answer :-
Article 360

=54 360

[Option ID = 14345]

14)  \Which of the following Article of the Indian Constitution provides that the President,
on receipt of a report from the Governar of a State, may by Proclamation, assume
to himself all or any of the functions of the Government of the State?

Yo 9EyH & FERRET T 3 S5 9 e Ut WEyE S & fo avak,
Tod & a9 | R 9w 81 0%, GqH o g, I SEE & gyl 47 el off
& &= 3T g H I S o?

[Question ID = 11088][Question Description = Q14_APO_PB_NAIRAUG4]
Article 352

1.
3m5g 352

[Option ID = 14349]
Article 356

> oy 356

[Option ID = 14350]
Article 360

> 2mq 360



[Option ID = 14351]

MNone ofthe given options is correct.

R femeal o 8 w12 i wd 8

[Option ID = 14352]

4.

Correct Answer :-
Article 356

=54 356

[Option ID = 14350]

15)  Which of the following Article of the Indian Constitution provides that if the President
is satisfied that a grave emergency exists whereby the security of India or of any
part of the territory thereof is threatened, whether by war or external aggression or
armed rebellion, he may, by Proclamation may declare Emergency?

YIReHE Sfau & FeffEa § ¥ & 91 e 98 UayH $3d o & 318 upei &1
Ty g1 e iz smuraRf e g, fored yIRa a1 96 (el U &1 Gee g8 1
1E AHHYT O7 99 fAgis & SRU, O A 8, di 95 9ouNl 51 AUy &t
MY & Gl o7
[Question ID = 11089][Question Description = Q15_APO_PB_NAIRAUG4]
Article 352

- 3Ia5E 352

[Option ID = 14353]
2. CArticle 356
355 356
[Option ID = 14354]
Arficle 358

g ass

[Option ID = 14355]
Mone ofthe given options is correct.

Ry e E o drad e

[Option ID = 14356]

Correct Answer :-
Arficle 352

* mes?

[Option ID = 14353]

16)  Under which Article of the Indian Constitutiori, the State shall not deny to any
person equality before the law or the equal protection of the laws within the
territory of India?

YIRci WAy & ford Hwsa & tga, I YNG o &5 1 fes i ol s e
HE G 1 S @ SO S0 Y e 8 e
[Question ID = 11090][Question Description = Q16_APO_PB_NAIRAUG4]
1. Article 1
HTE 1
[Option ID = 14357]
, Article 14

| 3wE 14

[Option ID = 14358]



Article 18

e 18

[Option ID = 14359]
MNone of the given options is correct

fer T fes 9 o Yiud Adi
[Option ID = 14360]
Correct Answer :-

Article 14

3 e 14

[Option ID = 14358]

17) " \Which Article of the Indian Censtitution abolishes *Untouchability” and forbids its
practice in any farm?
YRATg TAUM &1 & 91 s “SRgeaar & A ol ¢ AR fedi i ¥u
T VR R 3@ oAl 87

[Question ID = 11091][Question Description = Q17_APO_PB_NAIRAUG4]
1. Aricle 16

3T 16

[Option ID = 14361]
Article 17

eﬂ%ﬁ'w

[Option ID = 14362]
Article 18

| 3M=5q 18

[Option ID = 14363]

4 Mone of the given options is comrect

feum e Y o iad R
[Option ID = 14364]

Correct Answer :-

Article 17

[Option ID = 14362]

18) Which of the following is CORRECT about the “Money Bills™?
o[ fadge b an d FEffad § ¥ &F ST Hu 951 87
I. Money Bills can be introduced in Lok Sabha only
v fatlue sad dieguTd of ued i &1 wad o)
Il. Maoney Bills can be introduced either in Lok Sabha or Rajya Sabha.
= [d9adh e GHT g1 Tod U H W g1 ol Sl 5|

Il If any question arises whether a Bill 1s a Money Bill or not, the decision of the
Speaker of the House of the People thereon shall be final. _
gid Bis U G & & i s (A v g g ar 4g], dl SU U dl 4TS
S{ETE| 1 0l i g

IV, After a Money Bill has been passed by the House of the People (Lok Sabha), it
shall be transmitted to the Council of States (Rajya Sabha) for s
recommerndations and the Council of States shall within & peried of fourteen
days from the date of its receipt of the Bill return the Bill 1o the House of the
People with its recommendations.
o feee ailes HHI §R1 IR U S o Ui S8 1ot Ml ol G¥ep! e
o forg e srern 3R sy gy ey 9 witd ) o ¥ giag e &1 emii S
Vi fias @1 | Rl & 9 @i 91 &1 aras e ol |




[Question ID = 11092][Question Description = Q18_APO_PB_NAIRAUG4]

1. Allthe given Options are correct.

R ai Rea s g

[Option ID = 14365]
Options I, 1l & IV are only correct.

" Fagfaed |l Il TE IV SE gl

2

[Option ID = 14366]
Options |, Il & IV are only correct.

3 Saafaee 1TV TR E

[Option ID = 14367]
Mone of the given options is correct.

* feue el da o Wad ad 2

[Option ID = 14368]

Correct Answer :-

Cptions |, Ill & IV are only correct.

wad faeed | Il T4 IV 981 8l

[Option ID = 14367]

19)  \Which of the following Amendment enumerated Fundamental Duties of the Citizens
in Indian Constitution?
fraferad & & fore Saiue g1 YRdY Sfou | Friie! o Hifoe el ol ik
fgrm?

[Question ID = 11093][Question Description = Q19_APO_PB_NAIRAUG4]
40" Amendment
40a1 YT
[Option ID = 14369]
2. 437 Amendment
43 e
[Option ID = 14370]

427 Amendment
4281 BT

[Option ID = 14371]
MNone ofthe given options is correct.

4 feue e dE o ol A 3

[Option ID = 14372]

Correct Answer :-

o 42 Amendment
4291 Gy

[Option ID = 14371]

20) Which is the largest Planet in Solar system?

T Sa ISy I3 U8 HH U1 82

[Question ID = 11094][Question Description = Q20_APO_PB_NAIRAUG4]
Neptune

A9

[Option ID = 14373]



2. Satumn

EIER T

[Option ID = 14374]
Jupiter

CRLSiE]

[Option ID = 14375]

4. MNone ofthe given options is correct

o Aewidd o iad s

[Option ID = 14376]

Correct Answer :-

Jupiter

i

[Option ID = 14375]

21)  Which ofthe following is CORRECT about the Planet Mercury?

E_;’,U‘J%’EFHR dfrEfaRad S s ey w87

- Mereury is the closest planet ta the Sun and also the smallest planet in the
solar system

U G B 99 Fdcad 98 o JN SRS H1Hed Biel ug Wi gl
Il Mercury planet does not have any moons.
UG BT dig T ol ol
I It orbits the sun slower than all the other planets in the solar system.
g GRES & = S Ugl @1 qa 4 9 S uRe T S 1id € S sl
IV Mercury is the second densest planet after Earth

94 U] o a1E GH YaH g Tn 5 |

[Question ID = 11095][Question Description = Q21_APO_PB_NAIRAUG4]
All the given Options are correct.

- ez e femea g 8

[Option ID = 14377]

Options |, Il & IV are only correct.

" Hhad g TSIV TRl

[Option ID = 14378]
Options |, 1l & Ill are only correct

> had faeed |, 1198 11 Tl &

[Option ID = 14379]
MNone of the given oplions is correct.

G e iy FE iw = 8
[Option ID = 14380]

Correct Answer :-

Options |, Il & IV are anly correct.

°* Foafase) |1TEIV IR E

[Option ID = 14378]

22) When a fully loaded ship passes fromriverto sea?
o9 U O3 dve © Y g3 99T Aal | 9gg H &l 87

[Question ID = 11096][Question Description = Q22_APO_PB_NAIRAUG4]



1. Theship level rises.
eI &1 %Y 98 Wi o

[Option ID = 14381]
The ship level decreases.

eI &l TR Uea e

[Option ID = 14382]
The ship maintains the same level.

ENETEIESIE T EGhi

[Option ID = 14383]
Mone of the given options is comect

* Rumm R g g
[Option ID = 14384]

Correct Answer :-

The ship level rises.
5T & T FS ol §

[Option ID = 14381]

23)  Find out the CORRECT matching sequence.

TR T S T @

Sl Vitamin SI. Disease

No. Deficiency No. ararh

wy |feefimstisdt | 7

¥ .

(i) Vitamin-A (a) Rickets
faeiA e F@I

(ii) Vitamin-C (b) Night blindness
[EEIECE:] Tl

{iii} Vitamin-D (o Excessive bleeding
fae st iUd Wy

{iv) Vitamin-K (d) Scurvy
e K el

[Question ID = 11097][Question Description = Q23_APO_PB_NAIRAUG4]
1. (:(d); (uyfa); (m)c), &(iv). (b)
[Option ID = 14385]
2. {iy(e); (iy(d). (i) (a); & (iv) (b)
[Option ID = 14386]
3. (i)(b); (it):(d), (i):(a), & (iv): (c)

[Option ID = 14387]

None ofthe given options.is correct.

o ewl Y o e T8

4.

[Option ID = 14388]
Correct Answer :-

e (i), (i):Ad), (ii):(a). & (iv): (c)

[Option ID = 14387]



24) \Which ofthe following factor/s is/are responsible for the seasons on Earth?
Fefaf@ud @ SR mR ore gal W Hgel & e Seier 3

I The tilt of the Earth's axis, at an angle of about 23.5 degrees, relative to its
arbit around the Sun.

T @ U & ADTa, G & TRI AR TS S o SIuE T 235 S E
DR F

Il As Earth revolves around the Sun, different parts of the planet receive
varying amounts of sunlight at different times of the year.

i gl G 5 IR AT A 3, ST Ao o fafim i ot o & i vt
T S{ET-3(E JE 3 3 &1 Wt Ui Bl o

1. When a hemusphere is tited towards the Sun, it receives more direct
sunlight and experiences summer

a1 My gl @ AR AE SN 3, O 9% v I 1 v s Hads
IR T oS Bl

V. When a hemisphere is tilted away from the Sun, it receives sunlight at a
more oblique angle, which spreads the same amount of energy over a larger
area, resulfing in cooler temperatures and winter.

wﬁéméﬁéﬁﬁﬁﬁﬂ?% o 98 g 1wy e RS BT ®
e : THA AETH 35 82 &3 H o e o, o aiomiaey
AIH 391 51 9 & SR w4l deai g |

[Question ID = 11098][Question Description = Q24_APO_PB_NAIRAUG4]

Optians |, 11 & Ill are only.
wad iaed | I T FTE)

[Option ID = 14389]

Options |, Il & IV are only.
whad faded |, 1 TH IV SIS

[Option ID = 14390]

1.

2.

All the given Optiens are comrect.

G g fdsm st

[Option ID = 14391]
Mone ofthe given options is correct.

© e fAewid @ o Wi ad =R
[Option ID = 14392]

Correct Answer :-

All the given Optians are correct.

e e gy fdsmwgi gl

[Option ID = 14391]

25) Atoms of different elements with different atomic numbers but have the same mass
number is called as . ?
fafis aal & wugﬁﬁaﬁ ey e i gl § die seaum w9 5ue
oIl g, B Tk

[Question ID = 11099][Question Description = Q25_APO_PB_NAIRAUG4]

1. |sotones.

ElEIGE

[Option ID = 14393]
|sobars.

CIERIEIGE

[Option ID = 14394]

2.

3. Isotopes.

SIESIGAE

[Option ID = 14395]



Mone of the given options is correct.

R e e R e ]

[Option ID = 14396]

Correct Answer :-

|sobars.

CIERIEIGE

[Option ID = 14394]

26) An imaginary ne that in a given time joins points of equal rainfall on a map Is
calledas ... .. .7

T BT e S R A T o e O S as T gl o e 3,
TH o Eaai

[Question ID = 11100][Question Description = Q26_APO_PB_NAIRAUG4]
1. lschalines
[Option ID = 14397]
2. Isobars
HIZHER
[Option ID = 14398]
lsohyets
THas an
[Option ID = 14399]
Mone ofthe given options is correct.

o e B AR

[Option ID = 14400]

3

Correct Answer :-
Isohyets
BIECLIRSCHY
[Option ID = 14399]

27)  Which of the following is the longest tunnel. for a length of 11.21 km, of Indian
Railways?
Frefafaod 3SR YR TE &1 99 o= g o, o) aErs 1121 61 82

[Question ID = 11101][Question Description = Q27_APO_PB_NAIRAUG4]
1. Karbude tunnel, Maharashtra.

IS JET, HERY

[Option ID = 14401]

Tunnel in Pir Panjal mountain range in Jammu and Kashmir_

| gug ek iR U Uea uda gEen § gl

2

[Option ID = 14402]
Rapuru, Cherlopalli, Andhra Pradesh

3.

[Option ID = 14403]

MNone of the given options is comrect.

feu e fawedl 4 9 B2 Ui we el 8

[Option ID = 14404]



Correct Answer :-
Tunnel in Pir Panjal mountain range in Jammu and Kashmir.

S 3R HIHIE H UR eiid gad 4@ | gél

[Option ID = 14402]

28) Find outthe CORREC T matching sequence.

Tt faam e T @t
Sl Name of the Element |SI. Symbol
No. | g sTmm No. | yeftes
wH FHH.
¥,
(i) lron (a) Au
gl
(i) Silver (b) Fe
=gl
(i} | Gold () K
AT
(iv] [ Potassium id) Ag
qrefRmam

[Question ID = 11102][Question Description = Q28_APO_PB_NAIRAUG4]
1. (i):(b); (W):(d); (iii):(a); & (iv): (c)

[Option ID = 14405]
2. (i:(d), (in:(b); (iity(c), &(iv): (a)

[Option ID = 14406]
3. (i(e); tida); (i:(d); &{iv): (b)

[Option ID = 14407]

Mone ofthe given options is correct.

* fgme e T e B R
[Option ID = 14408]

Correct Answer :-

¢ (ix(b) (in)(d); (ii)y(a); & (iv): (c)

[Option ID = 14405]

29)  Which of the following isfare CORRECT about the Ozone Layer?
e Ra Fax § FEREa s S e T SUa Eal ae?

| A region of Earth's stratesphere that absorbs most of the Sun's ultraviolet
radiation.

qﬁi%;nﬁmn‘saﬁqai &7 o gd @ s asTE fAfeRu sl s
HIA B

Il. It contains a high concentration of Ozone (O3) in relation o other parts of the
atmosphere.

ATHST & 3 YT ! gETH 599 SiW (03) #1 9= Bis o 5|

. The Ozone layer was being depleted by chemicals released by industry,
mainly chlorofluorocarbons (CFCs).
TET G Soaioid THTgH], TOG: gaideieibiad (S Uh H1 ) o @R 3
UK 1 4RV B 81 4T

IV, Ozone depletion threatened life on Earth, including increased skin cancer in
humaris and other ecological problems.

[ &ROTH 9l O oiia &1 S ugl 81 T 8, S i H g e o
gy g FOE YiEE gl

[Question ID = 11103][Question Description = Q29_APO_PB_NAIRAUG4]




1. Options |, Il & lll are only correct.
&ad [deed |, I TF 111 Fa1 8 |
[Option ID = 14409]

o Options |, Il & IV are only correct
Wac [geed |, || Td IV 951 8|

[Option ID = 14410]
All the given Options are correct.

fRu T g faed g g1
[Option ID = 14411]
None of the given options is correct

feu 7y faeeal 09 w12 viwg =61 81

[Option ID = 14412]

>

Correct Answer :-

All the given Options are carrect.

fermw mfiffem i gl

[Option ID = 14411]
30) Which ofthe following is‘are CORRECT about an Atom?
FRRTETE @ BF 918 HY IE & a1 § 9o 0/e7?

| Thethree basic paris of an Atom are Electrons, Protons and Meutrons
URHTY] & T e HFT 8 Seide i, Wel HRZeH|

Il. Electrons are positively charged and Protons are negatively charged
SEGE T YATES HAEA ST § AR WE BUTHS HaEk e

lll. Protons are positively charged and Electrons are negatively charged.
HIET Uit ARG 8 6 X Saaci- B UTHeE HERa sl

IV. Neutrons are neutral

e RN

[Question ID = 11104][Question Description = Q30_APO_PB_NAIRAUG4]

1. Options I, 11 & IV are anly carrect.
Padi [deed |, 1 Td |V Hglg |

[Option ID = 14413]

o Options |, 11l & IV are only correct.
@act [dded |, 111 gd |V H I g

[Option ID = 14414]
All the ‘given Options are correct.

" fer e mif ffEw ad

[Option ID = 14415]
Mone of the given options is correct.

* oo Retdd ol e

[Option ID = 14416]

3

Correct Answer :-
o Options |, 11l & IV are'only correct.

wad [a@med| Il Td |V 95 8

[Option ID = 14414]

31)  Human stomach produces which one ofthe following acids?

A U Fafafed o @ oF T and Sod &l 52

[Question ID = 11105][Question Description = Q31_APO_PB_NAIRAUG4]



Sulphuric acid.
TEpNE Ufhs

[Option ID = 14417]
Formic acid.

BRES TS

_

[Option ID = 14418]
Hydrochloric acid.

| gl Uhs

[Option ID = 14419]
Mone ofthe given options is correct

7y fabed 54 ®1S HIHg R ol

w

[Option ID = 14420]

Correct Answer :-
Hydrochloric acid.

RESIESIEERY L]

[Option ID = 14419]

32) The instrument used to measure wind speed and direction is called as .7

Al 7T 21 TG aeE & foe uged Susv &l dl Hgd 87

[Question ID = 11106][Question Description = Q32_APO_PB_NAIRAUG4]

1 Anemometer.
[Option ID = 14421]

7 Altimeter
EeiHeT

[Option ID = 14422]
3 Barometer
CRitains
[Option ID = 14423]
Mone of the given options is correct.

fem e fameai &€ &1 i wdi Tel ol

[Option ID = 14424]

Correct Answer :-

Anemometer.

THEEET

[Option ID = 14421]



33)  Find out the CORRECT matching sequence.

e THa e e
Sl. Vitamin Sl. Disease
No. | Deficiency No. Jarfh
#u |Refm@ted [waw
H.
(i) Vitamin-B1 (a) Bone & tooth decay
e GS| gd aidi &1 dg1
(i} Calcium (b) Anaemia
Eafgie T HHl
(i) | lodine {c) Beri beri
HEER ErEL
(iv) | Iron (d) Goiter
witgT TiigeR

[Question ID = 11107][Question Description = Q33_APO_PB_NAIRAUG4]
1. ():Ae); (i:(a); (in):(d); &(v): (b)

[Option ID = 14425]
2. {i)(d), ()b, (m):(a), & (iv): ()

[Option ID = 14426]
3. (k) (iydc), (iy:(a), &({iv) (d)

[Option ID = 14427]
MNone of the given options is correct.

- Ry faevai gy B Wwd T

[Option ID = 14428]

N

Correct Answer :-
®  {(i):(e); (i):ta); (iii):(d); &(iv): (b)

[Option ID = 14425]

34) Find outthe CORREC T matching sequence.

Tt faam agma T @t
SI. Human Disease |(S]. Causative
No. | g No. | Microorganisms
EL] FH | DIRUET e
. .
(i) Tuberculosis (a) | Bacterium
TEAT EIGI|
(i) Malaria (bB) | Virus
T ARG
{iii} Chicken Pox (¢} | Protozoa
Bici g Pl )
(iv) Anthrax (d) | Bacteria
EiE Eici

[Question ID = 11108][Question Description = Q34_APO_PB_NAIRAUG4]
T (iy(e); (iy:(a); (iiiy-(d); & (iv): (b)

[Option ID = 14429]
2. (iy(d). (ii)-c); Gin).(b). & (iv): (a)

[Option ID = 14430]



3. (i)(b); (i (dY; (i) (a); & (iv): (c)

[Option ID = 14431]
Mone ofthe given options is correct.

| g ot o ®1g i wel el ¢

[Option ID = 14432]

4

Correct Answer :-

o (i), (i:(c): (iil)(b); & (iv): (a)

[Option ID = 14430]

35) The process of conversion of Sugar into Alcohol iscalledas ... ... ?
T Bl I ign H 9o oI Uipddl .. Pl ST o?

[Question ID = 11109][Question Description = Q35_APO_PB_NAIRAUG4]
Fermentation

Tuas

[Option ID = 14433]
Sublimation

S aH @l el

[Option ID = 14434]

3 Pasteurisation
i rCa|

[Option ID = 14435]

MNaone of the given options 1s correct.

4 Ru a4 9 i Wi el Tl 8

[Option ID = 14436]

Correct Answer :-

Fermentation

¢ fpue

[Option ID = 14433]

36) Global warming means rise in the temperature of the atmosphere of the Earth

Which among the following 1s mostly responsible for causing Global warming?
il NET o1 Hood o Y| & aigisd & aiaeH H gig ] FEidi@a d 3 & wiEd
aifthas forg e 21t %Tﬂfﬂ?%’?

[Question ID = 11110][Question Description = Q36_APO_PB_NAIRAUG4]
1. Hydrogen

[Option ID = 14437]
5 Carbon dioxide
Hiad SReaEs

[Option ID = 14438]
3. Mitrogen

BIEHER]

[Option ID = 14439]



Mone ofthe given options is correct.

4 Qo et wR Gad T

[Option ID = 14440]

Correct Answer :-

. Carbon dioxide
Had S dags

[Option ID = 14438]

37) The mode of nutrition in which organisms take in nutrients from dead and decaying
matteriscalledas ... 7

m%ﬁmmﬁ%ﬁéwmm@mﬂmmammﬁ o5

[Question ID = 11111][Question Description = Q37_APO_PB_NAIRAUG4]

Heterotrophs.
fawma]

1.

[Option ID = 14441]

Autotrophs

a |

[Option ID = 14442]
Saprotrophs.

EECIEEICE

[Option ID = 14443]

Mone afthe given options is correct

- feu e fasedi Y &is Hiwg ool

[Option ID = 14444]

4

Correct Answer :-

Saprotrophs.

[Option ID = 14443]

38) The largest gland in human body, which secretes bile juice that plays an important
rofe in the digestion of fats and gets stored in a sac called the ‘Gall Bladder’, is
calledas ...7

AHd IR | gad 591 491, F1 99 @ &1 9@ F ¢ o 99 & Ued J Geaa
ftyesT (uTa & =i oo 98 36 J 9915 9 8, 94 a9 $el Al 97

[Question ID = 11112][Question Description = Q38_APO_PB_NAIRAUG4]

1. Cesophagus

[Option ID = 14445]

. Liver.
FELES
[Option ID = 14446]
3 Pancreas.
HATEY.

[Option ID = 14447]

None of the given options is correct

- feu e fawedi 4 B Wi w9 TEI B

[Option ID = 14448]

4



Correct Answer :-

o Liver

TR

[Option ID = 14446]

39) Plarits have pipe-like vessels to transport water and nutrients from the soil. Such
vessels are made of special cells, forming the vascular tissue, which perform
specialized function in an organism. The vascular tissue for the transport of water
and nutrients in the plant is called as ...

defi F it | oEl SR Uie ol @1 o S & o Uy ol arfeen g g1 Ol
il [a9Y HIEHIAT 8 S il o, o Sag+| a® o001 5, 9 wid § [y @
Hl g1 I8 H U] 3R U9 ddi & UiNagy & (ol Sag-] Fad & ol ol Al a2

[Question ID = 11113][Question Description = Q39_APO_PB_NAIRAUG4]

1. Phioem

TlEH

[Option ID = 14449]

2. Xylem
EIESE

[Option ID = 14450]
Urethra

> S

[Option ID = 14451]
Mone afthe given options is correct

" o e Y o i Ed AR
[Option ID = 14452]

Correct Answer :-

o Aylem

g

[Option ID = 14450]
40) Find out the CORRECT miateching sequence.
e TH 2 &1 al e

sl. Name of Acid |Sl. | Foundin

No. | smmsrame  No- | Fumn

o o

H. H.

{0 AceticAcid {a) | Ant's sting
wifer Uas ST EE

(ii) Farmic Acid {b) | Spinach
TR TS g

(i) Lactic Acid (e} | Vinegar
dfge® Ues e

(iv) Oxalic Acid (d) | Curd
A Uhes il

[Question ID = 11114][Question Description = Q40_APO_PB_NAIRAUG4]
1 (i):(e). (ii):(a), (ii):(d), &(iv): (b)

[Option ID = 14453]
2. (i):{d); fii)(c); (in:(by; & (iv): (a)

[Option ID = 14454]
3. (iy(b); (ii):Ad); Gii):(a); & (iv): (o)



[Option ID = 14455]
MNone of the given options is correct.

feum fasmeat d 9 &3 Wiwdl 7513

[Option ID = 14456]

Correct Answer :-
¢ (e tii):(a), (ii):(d), & (iv): (b}

[Option ID = 14453]

41)  Under which Article of the Indian Censtitution, English language, in addition to
Hindi Language, may also be used for official purposes of the Union?

YR i & fw srqese & veq U9 & 2fieiRe valem! & e Gl um &
sfafeag s yrarer ot o feorsn Seare?

[Question ID = 11115][Question Description = Q41_APO_PB_NAIRAUG4]
Article 343

1.
TG 343

[Option ID = 14457]
Article 359

3fTw6a 359

[Option ID = 14458]
Article 360

TG 360

[Option ID = 14459]

Mone of the given Options is correct.

© feu e el 54 F1E il ol ol

[Option ID = 14460]

4

Correct Answer :-

Article 343

* S=oq 343

[Option ID = 14457]

42) Which ofthe following is correct about the Region-A, Region-B & Region-C7?
87T 7S R A AR o Felaea H S o W HYT e o7

|. Name-plates, Rubber stamps, Lefter-heads and logos etc. of the offices
located in Region-'A' and Region-'"B" may be prepared in bilingual form.

BT Y EpET F R Sraierd] & -G, WX W, SielEs AR wh aig
feuml =ud daR e e |

Il. Name-plates, Rubber stamps. Lefter-heads and logos etc. of the offices
located in Region-"C" may be prepared in frilingual form.
g7 H Ry el & AH-wie, T w0y, dodee AR anfe Furfieg
o R fBy e |

Ill. Entries in Registers/Services-Books maintained in the Central Govi offices
located in Region-"A' and Region-'B' should be made in Hindi.

AT T AT ¥ T o WeR & oriad § @ T IeReiaar
ufEraTa d wafpa f g e e A

V. Such entries in RegistersiServices-Books maintained by the offices located in
Region-'C' may, as far as possible, be made in English

& o R sriadl g1 &1 110 Henedl e gEe § odl uiafpdl 98l ad
HYa g, e § @ &) gigel

[Question ID = 11116][Question Description = Q42_APO_PB_NAIRAUG4]

1 All the given Options are correct.

" et faemadi gl

[Option ID = 14461]



(. (1) & (111 only.
" e (1), (1) TE (i)

[Option ID = 14462]
(1), (11) & (1V) only
" g (), (1T (V)

[Option ID = 14463]
MNone ofthe given Options is correct,

| feu e femel €9 B1% Wi ad Aol

[Option ID = 14464]

4

Correct Answer :-

(1. (11} & (lll) only.
dhad (1), (1) Td ().

[Option ID = 14462]

43) Anemployee shall be deemed to possess proficiency in Hindi, iffie has passed--
o<l el &! el & gdior g e, afg o Maieiad ghent ol sl gl-

|. The Matriculation or any equivalent or higher examination with Hindi as the
medium of examination.

Mo o HE Uy I TEa e ey wdan wTaas R wr et

Il He has taken Hindi as an elective subject in the degree or any other
examination equivalent to or higher than the degree examination.

g e uflen o1 TSt viien & ooee o1 S99 SooR et e adten & 28
B dpiodd [GNg & =0 Y faar gl

Ill. He declares himself to have acquired proficiency in Hindi in the form annexed
fo these rules.

Egﬁﬁﬂﬁ%mmﬁuﬁﬁmm%%wﬁ%ﬁﬂuﬂww
sk

[V Passed the Pragya examination conducted under the Hindi Teaching Scheme
of the Central Govt or when so specified by that Govt in respect of any
particular category of posts, any lower examination under that scheme:

T TIHR 31 ol RIS OIeT & Sia Saiferd Wg gan Sl &1l
apE R TaRm 40 & ugl & 9 § WReR g to e o mr st @
U & 3=Tid DIS [HPaL AT Il &1 8|

Which ofthe above is/are applicable for the term Proficiency in Hindi?
TOUE I B I TG foal H HaTo & g @ 882
[Question ID = 11117][Question Description = Q43_APO_PB_NAIRAUG4]
1. Allthe given Options are correct.

- R wii e wE E

[Option ID = 14465]
(1), (1) & (1v) only
e (1), (1) T4 (V)

[Option ID = 14466]

(1), (1) & (111} only
" daa (), (1) T ().

[Option ID = 14467]

Mone of the given Options is correct.

- Teu T fawel 44 ®1% o wE T B

[Option ID = 14468]

4

Correct Answer :-

(1), (1) & (111 only
pad (1), (1) T4 (1)



[Option ID = 14467]

44)  Which of the following isfare CORRECT about the Article - 348 of the Indian
Constitution?

YRATG a4 & w55 - 348 & O d FRfaila 79 &7 9/A HY 96l o/ ?

Until Parliament passes the law, ...................

T Th S8 B UG o] S e, o

I.  the proceedings in the Supreme Court shall be in English.
Halwd Ao o] drddig) ##3e) 3 g |

II. all Bills to be introduced or amendments thereto to be moved in either House
of Parliament shall be in Hindi.

T o ool ot wae = g foog o aret el faeiae siear g weaniaa ol
ey fgar g g

IlI. -all Bills to be introduced or amendments thereto to be moved in either House
of Parliament shall be in Enghish.

Tre o farslt oft e o v fovw o arel et faeres ars = weanfa denes
Ul 7 5

V. provided that the Governor of .a State may, with the prior consent of the
President, authorize the use of the Hindi language, or any other language used
for the official purposes of the State; in the proceedings excluding judgment,
decree or order passed by the High Court having its principal seat in that
State.

] ferdl T &1 W,Wﬁ%gﬂ%ﬁ,wmﬁm RN
aTel o AT g aTig (uig, 8wl a1 SN &) SgeR, iR
TS W1 O] 6 o TSDIg Wl & feid Wai @1 Wi arel] fok] 3 HIN &
TN &1 HTi4Ed B ga|
V. Under the provision of {I\V) above, the use of the Hindi language has been
authorized in the High Courts of Allahabad, Jabalpur, Patna and Jodhpur
situated in Uttar Pradesh, Madhya Pradesh, Bihar and Rajasthan respectively.

FURIE (V) & UIaYTH & i BHE: SR UG, 7 Uy, [ AR e o
R amEs, TEagy, 9T X Ay oo IEIedi § [ga) YT & Jan &
it g1 TR 81

[Question ID = 11118][Question Description = Q44_APO_PB_NAIRAUG4]

1. Allthe given Options are correct.

" fguw o ewa g

[Option ID = 14469]
{13, (1), (1) & (V) only
dsad (1), (1), (IV) T8 (V).

[Option ID = 14470]

_ {1, (1), (V) & (V) only:
wad {1, (11, (V) & (V).

[Option ID = 14471]
Mone ofthe given Options is correct.

* feue ey Y s dad T 8

[Option ID = 14472]

Correct Answer :-

{13, (1), (1) & (V) only
asaa (1), (1), (IV) T8 (V).

[Option ID = 14470]

45)  Town Official Language Implementation Committee (TOLIC) can be constituted
in all those cities of the country, where there are ... or more than ... .. offices of the
Central Govermnment. Fill in the blanks with the CORRECT choice.
¥ & g7 Bl TeRl H TR AT SRS FiEfd (TOLIC) &1 718+ fdar =71 Feban
. 95 g @R g IG% AUE ey ¢l Rad I H el aded Wi



[Question ID = 11119][Question Description = Q45_APO_PB_NAIRAUG4]
1. 20&20

[Option ID = 14473]
2. 15&156

[Option ID = 14474]
3. 10&10

[Option ID = 14475]
Mone ofthe given Options is correct.

- feg e fawedi 64 &ig Hiwd gl ol

[Option ID = 14476]

4

Correct Answer :-

® 10&10

[Option ID = 14475]

46) Which of the following is/are correct about the Town Official Language
Implementation Committee (TOLIC)?
TR TS HEEEE GG (ToLc) & an § FEiiEd ¥ ¥ 1 9/ $yE g9
T?
. The committees are presided over by one of the senior most officers of the

offices of the Central Government / Undertakings / Banks etc. located in that
town.

wiafeal @1 g8 U Uet | (R0 dald SR & eradisumdisal g
& givgaH Mgl H ¥ U R &1 Sl gl

Il. The objective of formation of TOLIC Commitiees is to provide a common
platform to promote the use of Official Language in Central Government Offices
! Undertakings / Banks etc. spread across the country and to remove hurdles in
the way of implementation of Official Language Policy.
TR TSI ST AAE] S 781 BT 558 59 W H el dsid SRl
ST IUBH A | ie H ASTHTE S W H1 dgid] o 3 g U i Hg
ST B YT AGHTHI 1T & SR 37 aTel] i3 &1 g S5

Il Two meetings of the committee are held in a year. The first meeting is expecied

to be held within fwo months of its' formation and the second six months after
that.

wAfGE T 6l a0 i &1 e &1 URe] 955 SUS 67 & & HeH &
ieR U1 gul d8@ 39S ©6 Hol 815 Hgiier &) oi-l SUfgk g
IV, Four meetings of the committee are held in a year. The first meseting is

expected ta be held within two months of its formation and the next in periodical
intervals.

B @ U g F IR 956 o & S o | UgH! $5% S8e 134 & 8] Hal
o iR T 3Tcl o0 ST IR i bu e @ gElig gt

[Question ID = 11120][Question Description = Q46_APO_PB_NAIRAUG4]
All the given Options are correct

" Remu g faemadi g

[Option ID = 14477]

(13, (11 & (111 only
Hadt (1), (1) T (111).

1

[Option ID = 14478]

(1), (1) & (IV) only.
© @ (1), (1) TE (V)

[Option ID = 14479]

Mone of the given Options is correct.

“ frT REe T O EE e TR



[Option ID = 14480]

Correct Answer :-

. (1, () & (i) only
&Bad (1), (1) T (I11).

[Option ID = 14478]

47) A speaker independent, Hindi speech recognition system that takes spoken
language as digitized input (dictation) and gives outpuis as a stream of text (analog
to Upicode)iscalledas...... ... ?

T WIHx a7, ool IS0 Igar Junel & aidl @ ardl 41e & fS3ieegs 599e

%aész%aimﬁﬁ‘rﬁ% AR THE B TS K (GFHI8 & 1Y) & TUH AEce
T gl A1l 872

[Question ID = 11121][Question Description = Q47_APO_PB_NAIRAUG4]
1. LILA
e
[Option ID = 14481]

5 e-Mahashabdkosh
| S HoRIsmm

[Option ID = 14482]
Shrutiekhan

[Option ID = 14483]
Mone ofthe given Options s correct

4 RemRealida e fad T

3.

[Option ID = 14484]

Correct Answer :-

Shrutiekhan

[ ) W

[Option ID = 14483]

48)  Dpictionaries (Hindi to English and English to Hindi) of Administrative, Financial &
Banking, Agriculture and Industry, etc., man features of which, are meaning and
related information, dictionary with bilingual and two-dimensional pronunceation and
related information of searched word, Unicode compliant fontis called as..... . 7

R, BT UE aid, $i e I o & Tead (fGa 9 e au sl §

f&dh, et e famiwans 8, ond vd Ssfta aer, favmd ud fe-smomdl Swmor

gmmqa@émmaﬁﬂaﬁmm SIS 3Ed BT @ FTHad
?

[Question ID = 11122][Question Description = Q48_APO_PB_NAIRAUG4]

LILA
GG

1.

[Option ID = 14485]
e-Mahashabdkosh

S a e

[Option ID = 14486]
Shrutlekhan

YeeIE

[Option ID = 14487]

3.



MNone of the given Options 1s correct

© feuTn aeei A Y @i i ael el 8l

[Option ID = 14488]

Correct Answer :-

e—_Mahashabdkosh
ER |

[Option ID = 14486]

49) \Which of the following is/are CORRECT with regard to the Rajbhasha Gaurav
Puraskar Yojna award introduced by the Department of Official Language, for
writing original book in Hindi?
el [3uTT g9 Rl o e gxe aEe & T IE @1 18 I9T TR
RPN gio & ey § FeRif@a 09 S 978 Y- 581 g ?

I. On knowledge and Science based subjects.
T 21X faa i fawgi or
Il. On Forensic Science, Police, Criminology Research & Police Administration.

BRRG fawT, gfers, Soerd fagr srgaen iR qfas T i
Ill. Onsubjects related to Culture, Religion, Arts & Heritage.

T, yd, S AR fauad d geid fawal g
V. Imthe field of Law.
faf & g7 4l

[Question ID = 11123][Question Description = Q49_APO_PB_NAIRAUG4]

LI &IV only.
Faqal, 1 TE IV

[Option ID = 14489]
) I, 11 &Il only.
© Saal, gl

[Option ID = 14490]

All the given Optiens are comrect.

G g s s ol

[Option ID = 14491]

Mone of the given Options is correct.

Teu e faseal H 8 S1% o 981 T 5

[Option ID = 14492]
Correct Answer :-

All the given Optiens are correct.

fGu e 9y fasma wgI g

[Option ID = 14491]

50) it shall be the duty of the Union to promote the spread of the Hindi language, to

develop it so that it may serve as a medium of expression for all the elemenis of the
composite culture of India. Which Article of the Indian Constitution provides for this?

T &1 95 Hacd g7 (o ag fga) M & UHK 9510, S [dHR &¢ dlid 8 YRd
@1 Gy Wi & G ddl @l T STH & S| MR SR & S
AR5 T 70 HIEYT HRa1 87

[Question ID = 11124][Question Description = Q50_APO_PB_NAIRAUGH4]
Article 343

5T 343

[Option ID = 14493]

1.



Article 348

TG 348

[Option ID = 14494]
Arficle 351

> aEhg 351

[Option ID = 14495]

Mone of the given Optians is correct

" Ru Rewid e il adE

[Option ID = 14496]

4

Correct Answer :-

Aricle 351

® TEE 351

[Option ID = 14495]

51) Anemployee shall be deemed to have acquired a working knowledge of Hindi, if
he has passed:-
fodl Frars &1 G &1 FRay® I W 2 o g o S, 3 99
FafeTodan STim S §i-
I. The Matnculation or an equivalent or higher examination with Hindi as one of
the subjects.
Ao I GHH 4l T1 SooR Taiall ores ool o [aud wel o |
II. The Pragya examination conducted under the Hindi Teaching Scheme of the

Central Government or when so specified by that Government in respect of
any particular category of posts, any lower examination under that Scheme.

T IRER @1 B! e gie & R AT W geien 3 e Gy
4l o Ul o Fraw o WXee e Uhl faffey fivd W O 99 aieT @ S
5 (Teas geia|

Ill. The Staff of a Central Government office shall ordinarily be deemed to have
acquired a working knowledge of Hindi if 80% of the Staff working therein
have acquired such knowledge.

HE IR & (Gl SEed & GHald 6] SHE: (gl $1 SHgs 75
g?mwwm e 51 BT 80% HHAMG! 4 TH] 719 U 62
I

IV_ If he declares himself to have acquired such knowledge in the form annexed
to these rules.

Tfg g3 3= ol § dow uua ¥ g8 Ot o § 5 ous v i ofsle o
feag
Which of the above is/are applicable for the term working knowledge of Hindi?

THHE T © B I U6 G0 & SrUgye 91 % [0 arla/e?

[Question ID = 11125][Question Description = Q51_APO_PB_NAIRAUG4]
All the given Options are correct:

Gom ai GEm T gl

[Option ID = 14497]

2. (0, (1) & (IV) anly.
st (1), (1) BE (V)

1.

[Option ID = 14498]
(1), (11 & (1) only

> dad (1), (I1) T ().

[Option ID = 14499]

4. Nane of the given Options is correct.

faum foweai @ ois Y ug 931 5
[Option ID = 14500]

Correct Answer :-



All the given Options are correct.

feu e i faswa 9gi 51

[Option ID = 14497]

52) ‘Which ofthe following States is/are NOT coming under the Region-A?
TERET T 8 ® T e &F-A T ST T8l A7

Bihar, Chhattisgarh.Gujarat, Haryana, Himachal Pradesh, Jharkhand, Madhya
Pradesh, Rajasthan, Uttarakhand, and Uttar Pradesh

foER, BT, ToRT, S, fRarEs Uey, JREs, 0 Uay), TSR, STRIEE
AR TR U

[Question ID = 11126][Question Description = Q52_APO_PB_NAIRAUG4]

1. Chhattisgarh
ERiL:urs

[Option ID = 14501]
2. Jharkhand
FRES

[Option ID = 14502]
Gujarat

[Option ID = 14503]
Mone ofthe given Options is correct.

e Geal 44 o Wad = sl
[Option ID = 14504]

Correct Answer :-

Gujarat

[Option ID = 14503]

53)  Which of the following States is/are coming under Region-B?
e U F s T8 874 & v @ 8= 32

Karnataka, Kerala, Gujarat, Maharashtra & Punjab and the Union Terrtory of
Chandigarh, Daman & Diu and Dadra & Nagar Haveli

Fred, Hyd, ToRd, HorIp IR UoTs 791 6 e e Jr1e, 65 3R 48 T
TG AR TR At

[Question ID = 11127][Question Description = Q53_APO_PB_NAIRAUG4]

All the above

" SUHEGRT]

[Option ID = 14505]
All the above, except Karnataka,
HACE B S lets uRiag gHT |

[Option ID = 14506]

All the above, except Karnataka & Kerala
FHriCcd AR e ] BIemsuRad a4l

[Option ID = 14507]

None of the given Options is carrect

feu e faeedt o 9 i il el 8

[Option ID = 14508]

4.

Correct Answer :-



All the above, except Karnataka & Kerala
I AR e ] BIedm e a4l

[Option ID = 14507]

54) The High Level committee constituted in various Ministries | Departments with a
view to rendering advice for proper fmptementabun of the Official Language Policy
of the Government is called as.

Waﬁwﬁﬁfﬂsaﬁﬁm%mm%ﬁaimaﬁmﬂ
TImaiRum e T oe T s s e s e?

[Question ID = 11128][Question Description = Q54_APO_PB_NAIRAUG4]

Kendriya Hindi Samiti
T feal A

[Option ID = 14509]
Hindi Salahkar Samitis
55 gamer aiiodr,

[Option ID = 14510]

Official Language Implementation Committee (OLIC)
AT BT FHl (e

[Option ID = 14511]
Mone of the given Options is correct.

Ry faweyi oy ®ig Wiwd 7ol el

4.

[Option ID = 14512]

Correct Answer :-

Hindi Salahkar Samitis
* REvomEerumRE

[Option ID = 14510]

55) A Memory based Translation Tool, got developed by the Department of Official
Language through the C-DAC, with an aim to improvise this tool with latest features
(like Meural Machine Translation, Voice Typing etc) is calledas ... .7

YT T g Hi-2w & Ty ¥ fAe e o gar e za, o
FET0 30 oA @I AdiAad i (38 xa o e, age aife) & |y
SRR & ©, 9% T HE o 57

[Question ID = 11129][Question Description = Q55_APO_PB_NAIRAUG4]

Kanthasth 2.0

1.
o 2.0

[Option ID = 14513]

2 Duolingo
3 P
[Option ID = 14514]
3. Memrise
[Option ID = 14515]

4. Mone ofthe given Options is correct.

fer e fawei S @ wis i ad 98181

[Option ID = 14516]

Correct Answer :-



Kanthasth 2.0
HE=I2.0

[Option ID = 14513]

Topic:- APO_PC_NAIRAUG4

1) Which of the following NOT forming part of Parliamentary contrel en Railways?
fafeieT 19 o e & gwar o @ el 87

|. Estimates Committee.
Hiaeha- itle

[l Public Accounts Committee.
i s

lll. Committes on Subordinate Legislation.
Sefirey fae wafi o

V. National Railway Users' Gopsultative Council.

TP Eid SUaIThd) SHRigET aiEg
[Question ID = 11130][Question Description = Q01_APO_PC_NAIRAUG4]
1. Option IV only.
Had fadhed V.

[Option ID = 14517]

Option | anly.

= hac fdded |.

[Option ID = 14518]

Option 11l only.
wad [aeed Il

[Option ID = 14519]

4 None of the given options is correct.
e e oY ®iE Wi wE 781 81
[Option ID = 14520]
Correct Answer :-

o Option IV only.
Sad amd V.

[Option ID = 14517]



2) Match the glossary of terms which are used in Ralways with CORRECT
Explanations.

5 © Ugea U6l &1 UsaTad | & Ue WISy & 91y a6

sl
No. Glossary .o, Explanations
T ™ |® e
{a} | Operating Ratio (i) | Percentage of (Revenue) surplus /
GieETe AT Percentage of Net receipts to Capital-at-
charge.
(T TR &1 Ao/ gHNG U RIS
Tt &7 wicE |
{b) | Return on Capital i) | Time elapsed between successive loadings
@ﬁqq’a]‘q;ﬁ' of a single wagon.
) U 37 & QAR @il S8 &g aicn gag|
{c) | Wagon tum-round | (i) | A balance ealled Gross margin, after
ST AN deducting variable costs fromsales, which is
unaffected by production rate.
faep! & giad-ra AT 9o o §1g 309
DI G e Alfel gl =1dl 8, &l SdigT a8 |
ST T B
{d} | Direct Costing (iv) | Percentage of gross working expenses ig
TG AT TR gross earnings
Hepel 210 § Gebel PrYBR] oFT BT Wi |

[Question ID = 11131][Question Description = Q02_APO_PC_NAIRAUG4]
1. (@) (v); (b): (); (C): () & (d): (ii)-

[Option ID = 14521]
2. (a): (1), (b (i), (C)fiv) & (d): (ii).

[Option ID = 14522]

3. (@) (i), (b): (iv); (C):(ii) & (d): (i),

[Option ID = 14523]
Mone of the given options Is correct

g faswai 0 9 &3 Wi ug 76l 8

[Option ID = 14524]
Correct Answer :-
e {a) (iv); (bY: (1) (C) () & (d): (i)

[Option ID = 14521]

3) In which of the following Major Heads / Sub-Major Heads, the earnings from the
transportation of Post Office Mails come under?

STEPR Hal & URagd 4 i arl 31 Fafiaa 3 ¥ Gy v siisu e i &
et 27l 32

[Question ID = 11132][Question Description = Q03_APO_PC_NAIRAUG4]
1. Coaching Eamings.
HifeT 3mg.
[Option ID = 14525]

. Goods Earnings.
i Y.

[Option ID = 14526]



Sundry other Earnings

3.
fafdy o/ amg

[Option ID = 14527]
None ofthe given options is correct,

feu g fqpedl H4 @18 Widg! Tl al

[Option ID = 14528]
Correct Answer :-

o Coaching Eamings.
HifET 3

[Option ID = 14525]

Which of the following is/arer NOT coming under the Role of Travelling
Inspecters of Station Accounts (TIA's)?

Fafafad d 9 & Lo oa IE RIS (TIA) 1 Yl @ 07 Aol 1132

I. Toinspect the initial records maintained at the stations, especially confined
o the earnings ofthe Railway.

WA T T T8 URiNE il ol FEis oo, i[9y U 9 d 31 310
GEasHERT

Il. To inspect/verify the electronic data maintained in vanous |T Applications.
faft St gl H X8 TR Seiac e Sl P e o3|

IIl. To countercheckiverify the Records available at the field vis- a-vis data
available in various Computerized sysiems

fafia Sregeiima uonted d 9ae ®s! & WY-§TY &7 5 Iuwey sifijemaf
Bl AEEEI Bl

V. To check various aspects of potential earnings/loss and suggest measures
for further advice/action.

HUITET 7R o S Uge 3l &1 =g S ayl 27 & Sudle/dnRals 3
fere gumE g

[Question ID = 11133][Question Description = Q04_APO_PC_NAIRAUG4]
1. Option | only.
diam fadhed |

[Option ID = 14529]

Option 11 & 11l only
Had [aeed || Ta Il

2.

[Option ID = 14530]
3. Option IV only.
Had [dded IV
[Option ID = 14531]
None of the given options is correct.
o el dY i iad g 8

[Option ID = 14532]

Correct Answer :-
None of the given options is correct.

* o e w e e

[Option ID = 14532]



3) Which ofthe following 1s/are NOT part of Standards of Financial propriety?

FeRad o 9 & faxiig 2w & omei & B= =887
|. The expenditure can be more than the occasion demands.
T Haat ®] 47 H iE gl Gdhdl ol

Il. The competent authority can exercise its powers of sanctioning expenditure
to pass an order which will be directly or indirectly to its own advantage

GaT WTehTe] 50 Tl e &1 U Qiaad] o1 Woi ech Uhl 3Hes
I B Ul § & Ui g7 S0 S0 Y Sud 0+ ey & fae g

lIl. Public moneys can be utilized for the benefit of a particular person or
section of the community even if the amount of expenditure involved is
significant.

Hrael-ab 4 1 GUaNT fod faee idk Ol S & a7 o T o fole fahal
off Gl 5, Uel 5 5uH ogg @) AT dge A gl

V. The amount of allowances, such as travelling allowances, granted to meet
expenditure of a particular type, canbe sources of profit to the recipients.

el AR TR & 0 &I G ® o (08 fo¥ T8 4=, Wik O U,
U & T Y ST HIO S P o |

[Question ID = 11134][Question Description = Q05_APO_PC_NAIRAUG4]

1. Option | &I only.
Haafased | 3Rl

[Option ID = 14533]

Option |, 11 & Il only-
Hhad famed |, 11 T

2.

[Option ID = 14534]

3. Allthe Options.
i fasea.

[Option ID = 14535]

Mone of the given options is comrect

o Gwet H Y F Viw 7R

[Option ID = 14536]
Correct Answer :-

o Allthe Options.
i fadey.

[Option ID = 14535]

6) As an exception to Para 201 of Indian Railway Financial Code (IRFC), Vol.l, in
which of the following cases, NO Financial justification need be given except that

the expenditure incurred should be economical as possible?
YR Yerd fawirg digar (org e uEdl), U8 | & 99 201 & HudiGg & &9
fFefaad ¥ u o o o faum shfow for o &t srawaea =41 o, fem
2o Toh Tar g TR =80 TG I 5l 2igue?
|.  When the expenditure incurred is on a statutory obligation
o9 foar T o8y et aurie eTRiE TR gl
II. When the expenditure is unavoidable on considerations of Safety.
WE R & BRY T HARER Bl |
Ill. When the expenditure is incurred on Passenger amenity works:
e 299 T ia w1 S Ox e < gl
V. When the expenditure is incurred on Labour Welfare works; except for
residential buildings.
e Y HaTHiY UaH @ SISH 4E hedlul iyl 91 B = g1

[Question ID = 11135][Question Description = Q06_APO_PC_NAIRAUG4]

Option | & Il only.
Had famed | 2R 1L

1.



[Option ID = 14537]
2. Option|, Il &Il only.
had famed |, [ Tl
[Option ID = 14538]
3. Allthe given Options are correct.

" e gafi fameu G B

[Option ID = 14539]
Mone of the given options is correct

fer e e dE o e 73
[Option ID = 14540]
Correct Answer :-

All the given Options are correct.

e gt Aew gai 51

[Option ID = 14539]

Match the glossary of terms which are used in Raillways with CORRECT
Explanations.

{e7d H Ugad Weal ol Weardel B gl WPIH0 &A1Y e &

Sl Sl
Ne. Glossary No. Explanations
wH| T=Fw |®H fuiiad
H. 4.
(a) | Gross Revenue {i) | Expenses booked under final heads, excluding
Tohdl I appropriation to Depreciation Reserve Fund,
and Pension Fund (Payments on account of
accident compensation and Pensionary
Payments should also be excluded).
ffeg =fief & oforid ool =y, TeUge SR,
Aty ofR g9 i & fo fafaem o seey)
(gee &gt 3R U9 YT & aE &1 ol
SH SN A6 {691 < dliee) |
(b} | Gross Receipts (i} | True expenses in an accounting period whether
a&d gl or not actually digbursed_
ol o el ¥ arfae o0y, A ag ae |
femifee foman 711 511 =11
(c) | Ordinary Working | (iii} | True or accrued Revenue in an accounting
Expenses period whether or not actually realized. )
IR SR =Y o 2t o wei g Uil ve, 918 98 ad
UG g sl 9 el |
(d) | Gross Warking (iv) | Revenue actually realzed during an
Expenses accounting period.
Sod s Eg ferel oivaT Al & G a1d o Wi Ier |

[Question ID = 11136][Question Description = Q07_APO_PC_NAIRAUG4]
(a): {iii); (b): (iv); (C): (i) & (d) (i)

1.

2.

3.

[Option ID = 14541]
(a)- (i, (b): (i), (C):(iii) & (d): (iv).

[Option ID = 14542]
(a) (iv), (b): (iiiy; (C):(ii) & (d): (i)

[Option ID = 14543]



MNone of the given options is correct

feu T et S &2 i ug T 3

[Option ID = 14544]
Correct Answer :-

(&) (i) (b): (w); (C): (1) & (d)- (i)

[Option ID = 14541]

Which among the following are CORRECT with reference to “Charged
Expenditure”, viz. the expenditure "charged” on the Consolidated Fund of India
in respect of Rallways?
R 9 & O yuid ey & 9ed J 951 &, 2l a9 & Gey d URd &I
T e MY IR TR 2
I Article 113(1) of the Constitution provides that 'the estimates of expenditure
charged upon the Consolidated Fund of India shall not be submitted to the
vote of Parliament’.

ey & 2gsse 113(1) H wayH § fo una &1 dia HE o wita sag &
TeRp -] TG o HAIGI o (010 W T (ehg W’

Il. The salary, allowances and pension payable to or in respect of the
Comptroller and Auditor General of India

IR & 8= Ud AgTeia Uiee &1 97 390 9eu | o do-, H SR =)

lll. Any sums reguired to satisfy any judgement, decree or award of any Court
or awards by Arbitrators where made info rule of court;

fordll =rarerg & foedl Foig, Tt ar Moy a7 megf g aiive fHoig &1 Sqp
P & (61 a0 Bis A1, g1 A & 90 F 5

V. Any other expenditure declared by the Constitution or by Parliament by law
to be so charged
G 1 HHE TR 1318 B8R o8 UeR giua g 3= =y |

[Question ID = 11137][Question Description = Q08_APO_PC_NAIRAUG4]
1. Option | &Il only.
& famed | AR
[Option ID = 14545]
2. Option |, Il & (I only.
dae fdded |, 11 Tl
[Option ID = 14546]
3. -All the Options.
[l fase.
[Option ID = 14547]
None of the given options i1s cofrect.

* RumeRaldd o fiad Tl e
[Option ID = 14548]
Correct Answer :-

o All the Options.
gl famen.

[Option ID = 14547]



9) Which ameng the following is/are coming under Sundry Revenue?

fafeigad ¥ & falae Ied & 3iala 3111 37
|. Operating loss of strategic lines as reimbursed by Ministry of Finance.
fam darag R il @ 7S oIS dgl S gREa g |
Il Commercial Publicity.
qfuTie JER.
Ill. Receipts from car/scooter/cycle parking at stations/Railway premises.
TIHREE ORI S pRAGeTHTE e Ui T d uiegi |
V. Sale proceeds of grass and trees, damaged goods and unserviceable
revenue scrap;

I % UFT, &foued g% oY TuarT) Yed $hy &) 9@l Ay

[Question ID = 11138][Question Description = Q09_APO_PC_NAIRAUG4]

1. Option I, 111 & IV only.
dad famed I, Il 9d [V
[Option ID = 14549]

2. Optionl, Il &IV only
e faeed | Il Td V.

[Option ID = 14550]

3. Allthe Options.
ERNGET

[Option ID = 14551]
MNaone of the given options is correct

fer e et g o i w71 &
[Option ID = 14552]
Correct Answer :-

e All the Options.
B NCE T

[Option ID = 14551]

10)  Match the Plan Head Code Number with CORRECT Descriptions of Plan
Head.

Sl. Plan Head Code

No. Number 5l. No. Descriptions of Plan Head

®H| T NAUFIE (FAE Gropr < @ feawor

. HE

(a) 42 () | Staff Welfare
HHAR] eI

(b} 8 (i) | Workshops including Production Units
TTEA SHEA aied SUen

(c) 64 (i) | Traming HRD
TH RS W&

(d) 85 (iv) | Other specified works
o g e

[Question ID = 11139][Question Description = Q10_APO_PC_NAIRAUG4]
1. A{a): (iiiy; (b): (iv); (T): (1) & (d): (ii).

[Option ID = 14553]
2. (a): (ii); (b): {i); (C): (iv) & (d): (iii).

[Option ID = 14554]

3. (&) Giv); (b): (i), (C): (1) & (d: (i).



[Option ID = 14555]

Mone of the given options is correct.

" o e E R A T
[Option ID = 14556]

Correct Answer :-
®  (ay fi); (by (1) (C): () & (d): ().

[Option ID = 14554]

Which of the following is/are CORRECT with regard to ‘Depreciation Reserve
Fund (DRF)"?

"HrdgE MRIET MY (FieRes) & d99u o Feefead 9 sH aiEsi 5/ 37
Depreciation Reserve Fund (ORF) is credited with —
Hegery RIET MY (ZleRam) H =57 fear = g -

|, The amount contributed annually fromthe Railway Revenues.

Tg T3 3 Tog T uiiad UM el gl

II. The amount realized from the disposal of an asset (cost at debit of Capital
or Development Fund or similar funds).

fore! ufvenfr & e & o O (ge0 o1 faem R O w9 Al &
qH =A@ |

lll. The amount realized from the disposal of materials released from a work
replaced at the cost af the Depreciation Reserve Fund

e or § Mo urE & FueE © e i, O gees omRiEe Ria
GIUGE S IGEECRER I

V. The amount of interest eamed on the balance ofthe Fund.
e 2o ffeg sore @

[Question ID = 11140][Question Description = Q11_APO_PC_NAIRAUG4]
1. Option |, Il & Il only.

dad faeed |, 1 Td 1l

[Option ID = 14557]
2. Option Il Il & IV only.

ad Ao, I TE V.

[Option ID = 14558]

All the given Options.
wui fou e fawea.

[Option ID = 14559]
Mone of the given options is correct

4 fomRewidY R e adie
[Option ID = 14560]
Correct Answer :-

All the given Options.
i fau e fleve

[Option ID = 14559]



12) Which of the following isfare NOT CORRECT with reference to Audit

Objections?
ATl smREl 6 o d Fefta d e sR s su=wd 281 852
|.  An Inspection Report of Audit (Part-l}: It deals with minor routine matters

and the final disposal rests with the Accounts Officer, and no formal reply to
the PDA 1s necessary.
STyl @1 e fu (urH): g8 seme Foihg gmel O ST s B
wmmﬁwmw%waﬁm% T 9ISt &l Bie
HIT=Tie STR &1 SH1a99e Tl gl g

II. An Inspection Report of Audit (Partll): It deals with the more important

matters and replies to be sent to the Prncipal Director of Audit (PDA)
indicating the action taken thereon.

dradie @ s Raié (Ll T8 e Teagnt gael d gt § au
O oA vHH Hewe (d1E0) @f US 91 96 Sl & 9] § 9 96
o, ToH 99 T @1 TS SRa ol Hobd [oT1 I ol

Ill. Special Letters: All impartant cases noticed by Audit which, in the opmnion of
the PDA, merit inclusion in the Report of the Comptroller and Auditor-

General are, brought to the notice of the Railway Administrations through
Special Letters issued to HOD's/FA&CAQ's.

WoE deT SNy e 3 T O meag A, o dide 3 wg F e
U4 HRTaERiae ®i U § giige 60 9+ g g, [urmasifed gaeer
Ud g ol ETial & @ 6 M 9y 96l & 91 ¥ 3 UEEE &
&1 H AT ofid 5

I\V. Draft paragraphs: Since the Special Letters; factual statements, etc., form
the basis of the material for the Report of the Compiroller and Auditor

General, the PDA sends the draft paragraphs to the General Manager with
copies to FA&CAD and HOD's concerned.

3 TRy 9t 939 97, g (dawu G Fdas ud geen 9de®

@ Rae & fog amd @ aur s9d 3 guloe 9id ohier swel Wi

Wﬂuﬁmﬁgﬁm% fores] wica Thudeaa iR Halua faummes &
I

V. In case of disagreement between the Accounts Officer and the PDA, the
matter shall be referred to the General Manager. However, when the question
is on accounts procedure, the matter should be referred to the Railway Board

o At AR Ui & &9 aeai & R amd &1 iemelE & O™
U ST BTetiieh, O HaTa ol Wiyl | Hai4w 51 o T/ &1 ¥od 918 ©
O+ FF g1

[Question ID = 11141][Question Description = Q12_APO_PC_NAIRAUG4]

1. Option | & Il anly.
dad faded | 3R
[Option ID = 14561]
5. Option i, IV &V only.
had fgebed I, IVTd V

[Option ID = 14562]
All the given Options

 mfifr e e

[Option ID = 14563]
4. MNone of the given options is correct.
Rum sl g d & Higg ool
[Option ID = 14564]
Correct Answer :-

o Option | &Il only.
had faked | ARl

[Option ID = 14561]



13)  The Revenue warking expenses af the Railways are classified under different
Sub-Major Heads with a separate Abstract for each Sub-Major Head.

3 o TIod uRETaH o1 B ST 9u-UEE STl & Sida @i [ T B,
T W Y-V N o (o7 Sfe 2o faar T g

Matchthe following Abstracts with CORRECT Explanations / Nomenclature.
TFEiET IR & U WYieRu/-HG 0 & Ty Hied B

- 1. No ,

No.| Abstract Explanations / Nomenclature

wH E:1Ed a;q TP [ THER

9. :

{a) |Abstract'J"| (i) |Provident Fund, Pension & Other refirement benefits.
LIk g Hige (A, e ad e dargfiar|

{b) |Abstract‘L'| (i) [Suspense
IR G 3gd

{c) |Abstract *A’| (iii) |[Staff Welfare and Amenities
RT SIS Hedr vd gfaum

(d) |Abstract ‘N'| (iv) |General Superintendence and Services.
R T T 2iefigored Fard)

[Question ID = 11142][Question Description = Q13_APO_PC_NAIRAUG4]
1. (a) (i), (b): (i); (e): (iv) & (d): (iii)
[Option ID = 14565]
2. (@) (iii); (B): (i); (e): (iv) & (d): (ii)
[Option ID = 14566]
3+ (a): (v, (b): Gy (e} (i) & (d): (i)
[Option ID = 14567]

4. MNone ofthe given options is correct.

e Rewid o s fad adi g

[Option ID = 14568]
Correct Answer :-
¢ (a) (i), (b): Gi): (c): (v) & (d). (i)

[Option ID = 14566]



14)  The Revenue warking expenses af the Railways are classified under different
Sub-Major Heads with a separate Abstract for each Sub-Major Head.

3 o TIod uRETaH o1 B ST 9u-UEE STl & Sida @i [ T B,
TUT W Y-V N o o7l Sfer 2o faar T g1

Similarly, the Revenue of Railways are classified under three Sub major Heads
with a separate abstract for each Sub major Head

T IR, Xad o 7o o 1 G- RiTST o Sl arfteet febar i 3, T
TEE 9U-0HE 7S @ a8 @ AR f6g1 T gl

Maichthe following Abstracts with CORRECT Explanations /{ Nemenclature.

et aR @1 wel WFiARuHHS T & WY YA S

IEL-. Abstract 51. NoJ Explanations / Nomenclature

Egel 21 EXE:d TETHOT / AT

9.

(a) | Abstract ‘X’ (i) | Revenue from Goods Traffic.
X TR AT ° e

{b) | Abstract Y’ (i} | Sundry other Revenue
| Y fafay s

(c) | Abstract ‘Z’ (i) | Miscellaneous Working Expenses.
Rz fafayesda

{d) | Abstract ‘K’ {iv) | Revenue from Coaching Traffic.
E:iEa o BT ciE® © ToE,

[Question ID = 11143][Question Description = Q14_APO_PC_NAIRAUGH4]
(@) (v); (B): (i), (C): (i & (d): (i)
[Option ID = 14569]
2. (ay (i), (b): (v}, (C): (i) & (d) (W)
[Option ID = 14570]
3. (a) (it); (b): (u); (S} (iv) & (d): (1
[Option ID = 14571]

4. None ofthe given options is correct.

U fgedidd o g =il
[Option ID = 14572]

Correct Answer :-

(@): (v); (B): (). (C): (ii); & (d). (i)

[Option ID = 14569]



15)  Match the following Primary Units (Objects) with CORRECT Expenditure
(Revenue)

Fafafa muihe goegl (a5ga) &1 95 =99 (TeE) ¥ e &Y

Sl. | Primary Units

No.| (Objects) SI. No.| Expenditure (Revenue)

w0 | Muis IHEE  [FU .| @9 [

H. | (affesra)

(a) | PU-25 (i) | Cost of materials - Direct purchase.
Hig-25 YT B AR - U @l

(b) | PU-27 (i) | Children Education Allowance
tig-27 &l o] TRIGHT W

(c) | PU-28 (i) | Contractual Payments
ig-28 GiagnTd Y

(d) | PU-32 (iv] | Cost of materials from stock.
fig-32 Tl & 9yl &1 ara

[Question ID = 11144][Question Description = Q15_APO_PC_NAIRAUG4]
1 () (i), (b): (); (C): (1v): & (d)- (i)

[Option ID = 14573]
2. (a) (i), (b). (iv) (C). (i) & (d}: (iif)

[Option ID = 14574]

3. (a): (iv); (b): (iii); (C): (i) & (d): (i)

[Option ID = 14575]
None of the given options is correct.

fen e faseal = 9 @1 i wEl =i !

[Option ID = 14576]

4.

Correct Answer :-

o (a) (i), (b): (v} (C) (i) & (d}: (i)

[Option ID = 14574]

16)  \Which of the following is/are CORREC T about Performance Budgeting?
oA s & AR d PR S SR /A FYE T o/er

I. Cost & Benefit of each activity is analyzed regarding allocation of funds and
involves work measures, benchmarking & unit cost.

yeie TR B A 2 @ o1 fagawn (A & aded & dey o
ST & 2R 20 &1 919, §991c ] 3R ST anid e sl gl

Il Improves Performance in continuous manner, makes clear Program
Goals/Objectives/Fixing targets for performance.
iR % ¥ UesH H GuUR o § Yadd & O sueH &
AgiSeealHTRa Al & W=y B gl

lll. Better Cost estimation enables to allocate Funds to various projects by their
importance.
a5 anTd Sfdvai (A d TRaTeFT S &1 §Hd Hod & ATUR U MY Sdied
HE J HHH Tl g

IV. Focus more on Targets and not on means of achievement. Further, focus
more on Quantity and not on Quality.

T TR 34 W &, S9alel $ GEl 0% 61| $9% e, oE 9 g
qive TEATOR 3@ FHE

[Question ID = 11145][Question Description = Q16_APO_PC_NAIRAUG4]

1. Option | & Il only.
Hac fadmed | AR

[Option ID = 14577]



2. Optionlll &IV only_
Pad famed |l T V.

[Option ID = 14578]

All the given Options.

i fau e e

[Option ID = 14579]

Mone of the given options 1s correct.

| Rum esida s el a9 E

[Option ID = 14580]

4

Correct Answer :-
All the given Options.
i fag e e

[Option ID = 14579]

17) Which of the following features available for the procurements made through
GeM portal?

GeM Uied o HIHHE { &1 7% B4 o e Fafiad 3§ &9 O gy Iude 57

I.  Unigue Bid representation module, where a sellers can raise representation
against a bid available in public domain.

?@E fae wfafiice disye, oo (S adeo SIHF & SuasEk & os
WA P TP g |
Il. Unique challenge rejection window for bidders: All disqualified bidders get

right to challenge their bid rejection. Buyer cannot proceed furiher without
replying to the challenge.

e S g srdipR e il e sicaraet o) e
ST DI Tl o 1 HUPR fHeTar g1 Tl @ oare oy {91 wiige
3P Ae! 95 aehall

IIl. It is increasing transparency as the process of procurement is faceless and
transparent in which, seller's identity is not revealed till the opening of L-1

T UReIT agdl © adiich |HIE &1 Wishdl URael 3R aew g, fored ger-
1 G- g (dehl &1 UggH S9R Tol sidi ol
IV Integrated Payment System.

Tehiche] YT Tl
[Question ID = 11146][Question Description = Q17_APO_PC_NAIRAUG4]

Option | & 11 only:
thad faoed | AR

1.

[Option ID = 14581]
, Option Ill &V only.

Sad fahed Il T IV

[Option ID = 14582]

All the given Options.

3.
i ey e ey
[Option ID = 14583]
4 Mone of the given options is correct

fauTe fageul 44 S Hiwg! Aol o

[Option ID = 14584]
Correct Answer :-

All the given Options.

i feu 0 fdew



[Option ID = 14583]

STORES KEEPING - INVENTORY MANAGEMENT STRATEGY:
TR DU - Sa ¢t UaUH THIT:
This is an inventory management technique that determines the value of

inventory items based on their importance to the business. The items are ranked
on demand, cost and risk data.

U5 TH SHcl UEuE T@E § o oaud © T 5% AeG & YR T e
%ﬁﬂ%ﬁmﬁﬁaﬂﬁ%imﬁﬂmwmaﬁﬂéﬂﬁ YR T
sl

Explanation WUT:

In many situations, majarity of the activity (say 80%) is governed by very few
(say to 20%; aftributes Hence, if all the Stock items in Stores are analyzed in
terms of their annual consumption, ie usage value, major part of total
consumption value say 70% is represented by around 10% of total tems, 20% of
total annual usage value 13 controlled by 20 % of total items, and remaining 10 %
of fotal consumption value is represented by a large number (say 70%) of small
consumption value items.

oy fufag o aifbei nfafa @m A6 80%) S50 &9 (AF i 20%)
fasmea g il gidl 81 59T, gfe wR o a9l ®ie igey &1 fagagu g-id!
Tt Toa, I Iugr ge & Sou # e e B, o o9 Tue gw & 99 fomm
T AT 70% St Sl & T 10% BRI SISl 3, ol alitie SUgr 5ed
&120% B I3 & 20% R (AT 811 3, 3R od @ud 4ed &1 90Y 10% 591
T (I Ao 70%) B SUURTgod arel g%l g1 G &1l |

In Railways, all high consumption value items, which represent 70% of total
annual usage value, are classified as "A" category, items which represent further
20% of total usage value classified as "B" category and all the remaining items
representing 10% consumption value will be "C" category.

g ° ol 99 Suu U9 9 a9 o $9 aiee 999 I8 @1 70%
yiaigE sl §, 98 T Eﬁmﬂ%‘&gﬂvw%ﬂa Ol S SUdNT g @1
20% Wit Bl g, 8¢ o 4o o Tore T § T 9y ot e W
10% SUHIT H &1 HfaFiTa &3 5§, 9% < 40 d Jfiea fa T gl

What is the name of this analysis?

29 [aemu &l Arg 9a1 87

[Question ID = 11147][Question Description = Q18_APO_PC_NAIRAUG4]

1. F8N analysis.
THUHUA fdgayu.
[Option ID = 14585]
). SOS analysis.
[Option ID = 14586]
3. ABC analysis.
REIEIREEG RS
[Option ID = 14587]
4. Mone ofthe given options is cerrect.
feu e faeai o9 @i i 961 781 5
[Option ID = 14588]
Correct Answer :-
o ABC analysis.

REIRREEC LIS

[Option ID = 14587]



19)  STORES KEEPING - INVENTORY MANAGEMENT STRATEGY:
TR ST - SHet wd U= ToEta:
An analysis, which 15 based on Inventory value, meaning how important it is for
an item fo be in stock and inventory is typically broken down into three
categories: (i) inventory that must be in stock; (i) a minimum amount of these
iterns will suffice; and (i) Desirable: these goods are optional to stock.
fagemo], o i o) 759 O% AT o, o ol § & e ag @ =ie | g
e TRy § 2 SIS &1 A o R i aftr # e e e E )
gc] @ wid | gH iﬁm (i) 39 a=ll B GFaH JE W gh; S (i)
qie-1g 54 963 @ Bie H 3@ dhiedd ol

What is the name of this analysis?

=g [eeyur s T 82

[Question ID = 11148][Question Description = Q19_APO_PC_NAIRAUG4]
ABC analysis.

T fagEy

[Option ID = 14589]

1.

2. VED analysis
diga] fasewm

[Option ID = 14590]

HML analysis.
TgUHTd auaym.

3.

[Option ID = 14591]

4. MNone ofthe given options is correct

Rum Geaido R diw =i 3
[Option ID = 14592]
Correct Answer :-

o VED analysis
dis ol fazeuoy

[Option ID = 14590]

The module launched by Hon'ble Prme Minister of India to impart induction
training to all new joinees in the Government, which offers an opportunity to build
capacities of Government servants in the initial stages and enable them to
contribute to nation building is called as _ il

uﬂﬁ%nﬁ?ﬂnﬂwﬂnﬁmwﬂmﬁmmﬁﬂqﬁhﬁaﬁuﬁ%ﬂﬁrwm

B @ (¢ I &y T Hiega, 9 URiNS WU § WRen sHaiedl &) e

?gﬁmmﬁ@ﬁﬁ‘g&ﬁnﬁmﬁmﬁﬁﬁﬁ?ma—ﬁﬁwwm%
___________ I &

[Question ID = 11149][Question Description = Q20_APO_PC_NAIRAUG4]

SWAYAM.

1. g
=i

[Option ID = 14593]
2. Karmayogi Prarambh.
HOGE g

[Option ID = 14594]

SANKALP (Skill Acquisiion and Knowledge Awareness for Livelihood
Prommmn)

Hheq (ATNTgd] Ga8= & iere HHUg0 AR FH ArREan) |
[Option ID = 14595]

4. MNone ofthe given options is correct.

fum et e e =g



[Option ID = 14596]
Correct Answer :-

o Karmayogi Prarambh.
HHIF TR

[Option ID = 14594]

21) In which of the under mentioned circumstances, Commutation of pension is
permissible anly after the medical examination has been conducted?
s d § e o o, dem o dSodfiew e s e & a5 @
Wi g?
|.  Invalid Pension
G U

Il. Pension granted on compulsory retirement from sefvice as a penalty.
3Har GaT-a i ot &8 EWEY S UeH 1 9l g

IIl. Compassionate allowance;

IV Application for commutation of pension from the pensioner has been received
by the Head of Office within one year of refirement of the applicant.

YU U & U0 & (UL 31deH, SMded o Yali-ghi® thay &
o Sraierd W g% I el T Bl
[Question ID = 11150][Question Description = Q21_APO_PC_NAIRAUG4]

1. Option | &Il only.
thad [aheq | SR 11

[Option ID = 14597]
Option 11 &111 only.

2. 7
dac [dded || Ta .
[Option ID = 14598]
3 Option |, 11 & |1l only.
" haa faded |, 1T L
[Option ID = 14599]
4 MNone of the given options is correct.

e el dd e fiad ad2l

[Option ID = 14600]

Correct Answer :-

Option |, 11 & I1l only.
Had faeed |, [ T Il

[Option ID = 14599]

22
) What is the amount payable as Ex.Gratia Lump-sum compensation to the

families of Railway employees in case of death occurring due to accidents in the
course of performance of duties?

Tl de SR gHeH B BRY HE 54 T tad HHaEl & uian & S
U Th T J3HTasl o ©UH o A 58 57

[Question ID = 11151][Question Description = Q22_APO_PC_NAIRAUG4]
. Rs 45Lakh

T 4571

[Option ID = 14601]

, Rs 35Lakh

T 35T

[Option ID = 14602]



Rs. 25 Lakh
w257
[Option ID = 14603]

MNone of the given options is correct.

- faum faseaidE ols Wiwe! ol ol

4

[Option ID = 14604]

Correct Answer :-

Rs. 25 Lakh
T25 ¢

[Option ID = 14603]

Section __..._of “The Confract Labour (Regulation And Abolition) Act,
1970" defines the term "Principal Employer’, as under,

“Bep1 41 (fa-rame 3R Ge) 2aEH, 1970" SIURT T T Oeg
&1 FEER aRyIRa & 3,

(i) In relation te any office or department of the Government or a local authority,
the Head of that office or department or such other officer as the Government
or the local autharity, as the case may be, may specify in this behalf.

TR T G WIS & fhdl Sried a1 fun & 6 5, 98 $Eey 1
RIS WS T UET 3 T o S O R wridee, s o Ry
g sudey d SRy s adsd s

(i) In a factory, the Owner or Cccupier of the factory and where a person has
been named as the Manager of the factory under the Factories Act, 1948, the
person so named

frdi BEE ¥, SRaF & W g1 AT IR vt e e B sram

A, 1948 & 2&fF HE™ & WeU® & 9 | A1 g TR §, 957 59
HER A Aidg |

Fill in the blanks.
g == W

[Question ID = 11152][Question Description = Q23_APO_PC_NAIRAUG4]
1. Section-2(g}).

HRI-2(a) |

[Option ID = 14605]
Section-3{g).

RI-3(SN |

[Option ID = 14606]
Section-4{g).
T4 |

2.

[Option ID = 14607]

None of the given options i1s correct.

feu e faeedl 49 o Hiwg T8

4.

[Option ID = 14608]

Correct Answer :-
o Section-2(g).

YRI-2(=) |

[Option ID = 14605]



24) In terms of Section.__.. of “The Contract Labour {Regulation And Abolition)

Act, 19707, in case the confractor fails to make payment of wages within the
prescribed period or makes short payment, then the Principal Employer shall be
liable to make payment of wages in full or the unpaid balance due, as the case
may be, to the confract labour employed by the contracior and recover the
amount o paid from the contractor either by deduction from any amount payable
to the contractor under any contract or as a debt payable by the contractor.

”aaﬂm(ﬁﬁumaﬂiwﬂ)a{mﬁmmm"aﬁw ______ & HER ig dharR
i 3@ o iow aegdl &1 YaH &3 J fata 1801 5 91 68 A $e 8,
1 YT T SheR gy &1 4Tl 1, i i T Bl O gegdl a1
SHT BT A S & [ STl g 3R 39 R YA & T 1% @
Sber 9 71 af o off 39y & ded doar &1 27 (el WA ¥ o & O
SHER BRI G4 BV th 9 H a9d BT

Fill in the blanks.
EEaEAIBE

[Question ID = 11153][Question Description = Q24_APO_PC_NAIRAUG4]

1. Section 18(b)
HTRT 18 (&)

[Option ID = 14609]

2. Section 20 (2)
HT20 (2)
[Option ID = 14610]

Section 21 (4)
HRI21 (4)

[Option ID = 14611]

Mone of the given options is correct,

fer e fapeal A4 g viwe! =81

[Option ID = 14612]

4.

Correct Answer :-

Section 21 (4)
HRI21 (4)

[Option ID = 14611]

25)  |pwhat circumstances, the findings of the Departmental Promotion Committee
(DPC) of officials would be kept in a sealed cover?

fe aRiRiaal o il &t lauriy ueEia sk (G & eyl o diesEg
fermTeh | @7 w2
|.  Governmentservants under suspension.

EMIEGEECaMEwIEH

Il. Government servants in respect of whom a charge-sheet has been issued
and disciplinary proceedings are pending.

UY TReN SHON e g9 § IR 9 S W 9@
TS SaR fida 5l

lll. Government servanis in respect of whom prosecution for a criminal charge is
pending.
TR HHIN] o (30 AN AR 5 ATHEeH aied 5
[Question ID = 11154][Question Description = Q25_APO_PC_NAIRAUG4]

1. Option I &1l only
hay faweg | ATl

[Option ID = 14613]

2. Option Il &IIf only.
Fad aeed 1 Tl

[Option ID = 14614]



All the given Optioris
FHi feu e fgwey
[Option ID = 14615]
4. None ofthe given options.is correct.
o Rwal I8 o a7 8

[Option ID = 14616]

Correct Answer :-

All the given Optiaris
Fyi feu e fgee

[Option ID = 14615]

When a disciplinary case / investigation / criminal prosecution initiated against a
Government servant is NOT concluded even after expiry of a period of ...........
from the date of meeting of the first Departmental Promotion Committee (DPC),
the Appointing Authenty may review the case and order adhec promotion in
favour of the employee, if the Railway servant is not under suspension, subject to
other terms & conditions stipulated.

g Tl TR Eﬁﬂ]ﬁéiﬁﬁﬁmw e b T O g
iygieE vy fourly gaEi (@I @] HioNEY P 3@h
AT e & o oft SaTE A gl s, o Fgied wiie s gee o ediar s asal
% AR HHER & Uy o ded Uiy & RN § 9ol o, 9 168 HHORI Haed &
Sefl 1 2, < Py era gt a oat & sefiagimm

Fill in the blanks with CORRECT choice.

T A &1 Ogl [deeg O 43

[Question ID = 11155][Question Description = Q26_APO_PC_NAIRAUG4]
1. 2years
28y
[Option ID = 14617]
2. 3years
39y
[Option ID = 14618]
3. 2Yayears
2%8y
[Option ID = 14619]
None ofthe given options is correct,

fEu T faweal 44 »iE i ggl 7818

[Option ID = 14620]

>

Correct Answer :-
o Zyears

29y

[Option ID = 14617]

27) Productivity Linked Bonus (PLB) equivalentto ..._........... wages without any
ceiling on wages for eligibility for the Financial Year 2022-23 to all eligible non-
Gazefted Railway employees (excluding all RPF/RPSF  personnel) was
sanctioned by the Government. _ _ _
TIHR B faxiig 89 2022-23 o org 9rer o 9 Ur SRmeaid weid egniva
(EHl ARUNERUTEIE HiHGl & Sigey & & a4l afthoy 9 &
................. Tefgel & SRIeR SMIeddl [Kias a9 (Urgasl) WEigd o 71|
Fill in the blanks with CORRECT choice.

Teerd w1 Ge! fasea 4 4l

[Question ID = 11156][Question Description = Q27_APO_PC_NAIRAUG4]



74 (Seventy Four) days
74 (dewR) g

[Option ID = 14621]
88 (Sixty Eight) days
68 (3=wa) ieq

[Option ID = 14622]
T8 (Seventy Eight) days
78 (3EFTR) &

[Option ID = 14623]

-

N

Mene ofthe given options is correct.

2T el 5 Y B i ¥ T 5

[Option ID = 14624]

>

Correct Answer :-
78 (Seventy Eight) days
78 (3fBTT) &

[Option ID = 14623]

28) is the practice of comparing business processes and

Bedormame metrics to industry bests and best practices from other companies.
imensions typically measured are Quality, Time and Cost.

_____________________ GRS diaie 3R e difce ®f gom 99 & 948
IR 3 Huf-gl & g% NG Y TR DI W S| SHGR U% A W arel SEHE
VT, 99 3R A ol

In Indian Railways, this practice is widely used in Man Power Planning by
comparing the best practices and performarice metrics followed by different
Railways & Production Units on various fields.

R Yo H, 9 Ul o 3uant fafts aui o faii tod o Swed seRd
Ei a—rq?lﬁrré?lﬁ:!ﬂﬁ YT AT vedH Bicas @i qor & wngliad g 5
S 9 9 e 5

Fill in the blanks with CORRECT choice.
e Tl 1 UE [deed 8wl
[Question ID = 11157][Question Description = Q28_APO_PC_NAIRAUG4]
1. Kaizen
CoEER|
[Option ID = 14625]
2. Benchmarking
g i
[Option ID = 14626]
3. Six3igma.
o g
[Option ID = 14627]
None of the given options is correct.

few e faeeai 49 i3 viwgl T gl

[Option ID = 14628]

4.

Correct Answer :-

o PBenchmarking

EEgicall



[Option ID = 14626]

What is the annual Quota allotted for recrutment against Cultural Queta in Level
- 2 posts?

dad-2 UGl H Gikpide bl & Saiid Hdl & fau srdfed aifds sicr s g2

[Question ID = 11158][Question Description = Q29_APO_PC_NAIRAUG4]
1. Z_onai Railway: 2 & Production unit: 2
g YEd 2 W SAEA o 2.
[Option ID = 14629]
2. Zonal Railway: 2 & Production unit: 1.
g ¥ad: 2 SR TG goE: 1
[Option ID = 14630]
Zonal Railway: 1 & Production unit: 1.

3. B
B ¥ 1 T ST gy |
[Option ID = 14631]
4 None of the given options is comrect

feu e fawedl 4 9 B Hiwe el 5

[Option ID = 14632]

Correct Answer :-
o Zonal Railway: 2 & Production unit: 2
ST e 2 U SAEI gHe: 2.
[Option ID = 14629]

As per Model Schedule of Powers, General Manager has got the powers to
sanction Rupees......... as award / reward to Railway Employees, up to JAG
Officers, for mentorious work of outstanding nature.

it ot i 2 & ATER, HEWEYS B IopY UHh & SEag B &
fere od srwREl, Sl Hfteial 66 & [eR / T & T H 39
Wipdme &1 ieadi U g |
[Question ID = 11159][Question Description = Q30_APO_PC_NAIRAUG4]
" 10,000
[Option ID = 14633]
2. 8000
[Option ID = 14634]
3. 5000

[Option ID = 14635]
Mone of the given options is correct

feu e fasedi 44 ®1g i wg el gl

[Option ID = 14636]

4.

Correct Answer :-

® 5000

[Option ID = 14635]

At present, who among the following has got the powers to approve new creation
of posts equivalent to SAG and above levels (Pay Level-14 &above)?

FdaF |, FEeT d § 5y Tuud] AR S9Y SUT & W (@09 [e 14 SR o9y
HUR) & YHBE UG &b E ol i Heldl G i Wickadl Wi 57

[Question ID = 11160][Question Description = Q31_APO_PC_NAIRAUG4]



1. Minister of Railways
& =l

[Option ID = 14637]
Finance Minister

2. ,
fa e
[Option ID = 14638]
3 Appoiniments Committee of the Cabinet (ACC)

Pieric P PSR (o)

[Option ID = 14639]

Mene of the given options is correct

feg e fawwida & Wi ag s

[Option ID = 14640]

Correct Answer :-
Appoiniments Committee of the Cabinet (ACC)

Pieric P PSR (o)

[Option ID = 14639]
32)  \Which ofthe following isfare CORRECT about the Child Care Leave (CCL)7
HIet ST SEHT (Y & o H Fafi@a s ¥ ol Sk oY 9] o/a?
|- Maximum 730 number of da:.'E during the entire service.
ol darsh g Siftrad 730 )
II. Child should be below the age of 21 years.
o B 3 21 98 Q4 HH giHI eyl
. An offspring of any age with a minimum disability of 40%.
Teret 2t 3G &1 | o Gay [daaiT 40% 81
V. A single Male Railway servant is also eligible for CCL.
T ToN ¥ad SHaR i difita & R uE g

[Question ID = 11161][Question Description = Q32_APO_PC_NAIRAUG4]
Option |, 1l & IV only.
ad [dded | Il T IV

[Option ID = 14641]

1.

5, Option Il &1Il only
Fad Ao || g |11

[Option ID = 14642]

3. Option |, |1 &Il only
Had [aeed |, |l Td

[Option ID = 14643]
MNone ofthe given options is correct.

fem e faseai 4 9 12 off w2 T B

[Option ID = 14644]

4.

Correct Answer :-
Option |, 111 & IV only.
Ddd [dded |l gd V-

[Option ID = 14641]



33) The General Managers of Zonal Railways can sanction the expenditure
towards deputation of Railway employees for fraining courses, seminars,
sympaosia in recegnized non-Railway Institutions.

&5 YoE & HeveS ARl WK TR-Sed SR o W ueassl, S,
el & e Tod gl o Wiai-gied & g g &1 Hedl ¢ Adbd g |

What is the annual ceiling limit fixed by Rallway Board?
T 918 g1 i ait® sfisas S E g2

[Question ID = 11162][Question Description = Q33_APO_PC_NAIRAUG4]

1. Rs.50 Lakh.
%50 @

[Option ID = 14645]
Rs. One Crore

THHes 0.

[Option ID = 14646]

3. Rs 75 Lakh
TI5 W@

2.

[Option ID = 14647]
None of the given options is cofrect.

* R e B s

[Option ID = 14648]

Correct Answer :-

Rs. One Crore

TH S &0,

[Option ID = 14646]

34 Whe among the foliowing has got the powers to sanction the reimbursement of
legal expenses of a Railway servant, who institutes a suit in @ Court of Law
without the prior approval of the Railway Administration?

Freferiag 5 9 59 T e dHai® Tl 31 aiege ! Hedl 3 S
w%.mmawmﬁaﬂqj@gﬁ$§ﬁ§j%mmﬂwa§?@m%?

[Question ID = 11163][Question Description = Q34_APO_PC_NAIRAUG4]
1. Divisional Railway Manager.
[Option ID = 14649]
2. Principal Head of the Department.
HYT YT |
[Option ID = 14650]

General Manager.

3.
Hemayd |

[Option ID = 14651]
None ofthe given options is correct

Tou e faeeni 54 ®1g o 981 T 5

[Option ID = 14652]

4.

Correct Answer :-
None of the given options is correct

TGu e el H 8 B1% s 981 T o

[Option ID = 14652]



35)  Anubhav Portal A retiring / retired employees can share their write-ups on

Anubhav Portal. Amang the following categories, in which categories, they can
write?

H FATFGOHHE 304 T8 SHE e e 0% SRl #R Udd o | e
13 ﬁ%ﬂ&ﬂﬁﬁﬁmmﬁﬁ?

Simplification of procedures.
UichuT3{i &1 HRel s
Il. Development of personal traits while in service
YT e G odiaatd Uil &1 faerd |
. Learning from Failures.
SEHEde Y Hig
V. Government pracess re-engineering.
TS UlchaT B Ui

v. Constructive feedback or suggestion fo improve the line of work, he/she was
part of

T BRI &7 B 4508 99 & [oE WA Bleas 91 §e, o ag e
i

[Question ID = 11164][Question Description = Q35_APO_PC_NAIRAUG4]
1. Option |, Il &Il only
hgd g | 1 Ed Il
[Option ID = 14653]
2. Option I, IV &V only:
wad [qeed Il IVEd V.
[Option ID = 14654]

3. Allthe given Options.
wfifer e e

[Option ID = 14655]

Mone of the given options is correct.

g e Rl d B o ad R

[Option ID = 14656]

4.

Correct Answer :-
o Allthe given Options.
i feu T fadhed.

[Option ID = 14655]





